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=3i] E—o#
XA 32010 ST LR 9/1-9/15 ol &%
RRCAE) =84 M\i(iﬂﬁ) HNDOKA [ OKAMMY | 26.700 63%  £:27.700. £:28,200, H:26.100
(B%) MMYOKA| OKAHND | 26.700 63% | £:26,100, H:27.200
R (FE) B2 (IBE)| JAL _|JTA/RAC| HNDOKA | OKAISG | 27.300 65% | H:27.400, £:28,200, £:28,900. H:26,800
KB (B7E) | JAL JTA | HNDKIX | KIXISG 38,000 57% _ 7:37,400, H:37.80
| | FHiEHK [#E(GBH)|JTA/RAC| JAL | ISGOKA [ OKAHND 7,200 65%  +:26,800, H:28,10
KB () =% Bl | KBk () & /T CHHE) [ JAL JAL [ ITMHND [HNDMMB 7,900 4 H:27.800
JAL JAL ITMSPK | SPKMMB 7,700 4 £:29,200, £:30,900
ES- S JAL JAL MMBHND | HNDITM 8,800 3 A+ 8:28,100, A&:27,900
JAL JAL MMBSPK | SPKITM 8,100 3 7k K:28,300. H:30,700
KB (BTE) =% Rl | KR (RAFE) F [ JAL JAL | KIXHND [HNDMMB 4,200 69 £:24,600, £:25.900, H:24,800
JAL JAL KIXSPK | SPKMMB ,.900 66% %:28,000, 1:27,70
ES- S JAL JAL MMBHND | HNDKIX ,200 67% £:27,100, H:28.30
JAL JAL MMBSPK | SPKKIX ,600 1% KA B:22,800, £:23,500
KR (FFH =Rl | XBR (5 % JAL JAL | ITMHND [ HNDAKJ 500 63%
JBJITSE JAL JAL_| AKJHND | HNDITM 5,900 66% 5 +:25.400, £:27400. H:27,000
KBx (BS#8) =f8)Il [ KBk (BHFE) % JAL JAL | KIXHND [ HNDAKJ 7,100 65% _ H:25,100, A:25,900. +:28,300
JBJIISE JAL JAL | AKJHND | HNDKIX 4,500 68% 24,900, £:25300, H:26,300
KB (R =8I8% | KBk (FFY) % JAL JAL ITMHND | HNDKUH ,100 66% £:26,800, H:27,30
FES JAL JAL | KUHHND | HNDITM 600 62%  F £:27.900, K:27,700, #:29,300, H:28,300
KR (BAEE) =S8 | ABR (BI78) 36 JAL JAL _| KIXHND | HNDKUH 300 69% | H A:23,500, %:24,300, +:24,800, H:24,700
SR 5 JAL JAL | KUHHND | HNDKIX .000 66%  £:27.600. 1:26,100, H:28500
PG PN ACGE JAL JAL | ITMHND [HNDOBO ,300 60%  £:30,500
EIR JAL JAL | OBOHND | HNDITM 9,800 60% B +:26,300. :26,900, %:28,600. H:28,000
Kb (B8#8) =5 | KBk (BIFE) & JAL JAL | KIXHND |HNDOBO 5,900 66%  £:27,000, £:27,100, H:27.500
LS JAL JAL | OBOHND [ HNDKIX 7,200 64%  H:24,800, A:25,600, £:26,900, 1:26,200. H:28.200
KR (75D =&EE | KR FFH & JAL JAL | ITMHND [ HNDHKD 4,900 63%  %:26,000, £:25,500, H:26,200
BAESE JAL JAL | HKDHND | HNDITM 8,800 57% A1 H:28100. X27 900, %:28,600
KR (BAFE) =BafE | KRR (BAFE) % JAL JAL | KIXHND [HNDHKD | 23,700 64%  #:24,500, H:25,500
EE JAL JAL | HKDHND | HNDKIX 26,200 1% £:26.900. H:28,300
KR (A ==iR | XBR(FFH % JAL JAL | ITMHND [HNDMSJ| 24,700 1%
ZRE JAL JAL | MSJHND | HNDITM | 23,200 4% K:24,100, £:25,800
ENACEES) Rz (BA7) % JAL JAL | KIXHND | HNDMSJ| _ 20.300 68% | H:21,400
ZRE JAL JAL | MSJHND | HNDKIX 2,400 65% | £:24.100
AR (FF) =F21% | KR (FFH) % JAL JAL | ITMIZO [ 1ZOOKI 6,600 57%
[ETE3 JAL JAL | OKINZO [ 1ZOITM 7.000 6%  £:17,200, £:17.900
KR (FF) =7 B[ XR (B % JAL JAL | ITMKOJ [ KOJTNE 4,300 0% #:25,200, £:24.600, H:23.400
BTER | JAL JAL | TNEKOJ | KOJITM | 26.200 6% | H% H:28500. £:26,600
AR (FF) =88 |[KREFME )| JAL [JTA/RAC| ITMOKA |OKAMMY| 25,700 0 £:26,600, :27.900. H:25,100
R JTA/RAC| _JAL | MMYOKA| OKAITM | _ 25100
A (B =EE [XB(EER) | JTA__|JTA/RAC| KIXOKA [OKAMMY| 31,600 A :31,400. £:30.900, £:32,100, H:30,500
R E JTA/RAC| _JTA | MMYOKA| OKAKIX | _ 31.400 :31,600. £:30,600, +:30.700, H:31,200
KR (FF) =R xrgﬁ(@aﬁng JAL__|JTA/RAC| ITMOKA | OKAISG | 26.200 400, H:25.800
ER JTA/RAC| _JAL | ISGOKA | OKAITM | _ 25400 :24,400, £:23.700, H:25.900
Kk (BBF) =R xrﬁ(ﬂam%__ JTA__|JTA/RAC| KIXOKA | OKAISG | 32,200 K:32,000, £:31,600, $:32,800. H:31.500
% A JTA/RAC| _JTA | ISGOKA | OKAKIX | 31,900 55% - & £ H:31,700
BEE (PE) =Xm 3l | AHE (D)% AMGTE) | JAL JAL | NGOSPK | SPKMMB| 28,300 61% 231,700, £:31.400
ZmpIFE |AMGETE) | JAL JAL _| MMBSPK | SPKNGO 900 68% 23,100, A:23,500. %:25,000. £ H:23.300
AEE(PE) =2 h[REE R % OKAMMY .700 54% H:31,800., £:31,500, £ 1:32,000
= E OKANGO 200 55% | 5 A%:31,700. 7K:31,600, £:31,600, H:32.000
ZEE (PR =RE|2EE(TH R KA| OKAISG ,100 58% | H:32.300, % 1:32,500
GiEE |5 A | OKANGO .100 58% 5 £:32,600, /k:32,500, £:32,200, +:32.500, H:32,900
LR GTFR) =/Ma[ARGEHTR) % BE D [ HNDKMQ 800 59 A
INASE (RE)[ JAL JAL | KMQHND | HNDSPK 7.800 59 A 100
AR BT &) =M 8K AL (T i) % (EE) | JAL JAL _| SPKHND | HNDSHM | 29.700 61% @
GRS (RE)[ JAL JAL | SHMHND | HNDSPK | 30.400 61 A 1400, £:29,900, H:31,500
ALIR BT F %) =FRa L AR GRT &) % (HEE) | JAL JAL PKHND | HNDOKJ [ 29,600 62 2 50
FE LS CRED[ JAL JAL KJHND [ HNDSPK | 28,500 64 A A B:26.900, £:27,300, 1:28.900
HWIREFFR) =LB[AREFTR % CRE)|[ JAL JAL PKHND [ HNDHIJ 29,700 63 A 1:29.100, £:30.800. H:31,000
LB% (RE)[ JAL JAL | HIJHND | HNDSPK | 29.900 62% 5 H:27.800, 4:28,200, £:31,000
AR F TR = 0T LR G TR % (RE)[ JAL JAL PKHND [ HNDUBJ | 26.800 68% 28,600, H:32,000
WO FHFE (RE)[ JAL JAL BJHND | HNDSPK | 27.300 67 £:30,200, £:31,000, H:27.600
HREFT TR =HE[ARGTR % (EE) | JAL JAL PKHND | HNDIZO 500 59 ZE
HER CRED[ JAL JAL OH HNDSPK 500 59 ZE
HREFTFR) =ES[ALRG TR % (EE) | JAL JAL PKHND | HNDTKS .700 59 E
(RS (EE) | JAL JAL SHND | HNDSPI 30.300 1 E
LREFTFR) == ARGTR% (HEE) | JAL JAL PKHND | HNDTAI 33,500 7 E
ASE (RE)[ JAL JAL _| TAKHND | HNDSPI 30500 1 A:28,000, %:28.500. %:31.800. £:32,300, H:28.700
WREFTFR) == Mwﬁﬁ)% CRED[  JAL JAL PKHND | HNDKCZ 4,200 7 A £:30,500. K:30.800, £:32,100
A5 (RE)[ JAL JAL | KGZHND | HNDSPK 1,700 0 28 900, A H:29.700, £:31,000
ALIR (BT FiR) =t [ALIRGH i) % (HEE) | JAL JAL _| SPKHND | HNDMYJ 2,100 0% A #:33,000, H:35.600
[NITE:S CRE)[ JAL JAL 'YJHND | HNDSPK 4,100 58% A :32,100, £:32,900, 1:33,500
AREFTR =LAN[LBRFTR = (RE) [ JAL JAL | SPKHND | HNDKKJ | 35.200 59 E :34,900
EZR0E (RE) [ JAL JAL KJHND | HNDSP 400 F 29,000, £:29.500. % 31,800, & 32,000, H:30.700
HREFFR) =K5 [ALBREFTR % (EE) | JAL JAL _| SPKHND | HNDOIT 300 £:34,700, H:35,20f
nE (RE)[ JAL JAL _| OITHND | HNDSPI .000 k:31,400, %:34.300, £:34.700. H:31,400
HLIREFTFR) =RE[ALREFTR % CRE)|[ JAL JAL | SPKHND [HNDNGS | 32,500 A:31,800, &:31,300. £:34,300, £:32,900. H:36.300
RIGSE (RE)[ JAL JAL | NGSHND | HNDSPK 600 3 A A:31,000, %:34, 35,500, H:32.500
HIREFTFR) =X *Lwﬁﬁﬁ)% CRE)[  JAL JAL | SPKHND | HNDKMJ 300 62%  H:31,300. K:31.701 35,000, £:32,900, H:36.100
(RE)[ JAL JAL | KMJHND | HNDSPK 800 62% _ H:31.400, A:30.400. %:34,600, £:35.100, H:32.600
LREFTFR ==& *Lﬁ(%ﬁiﬁ)% CRE)|[  JAL JAL | SPKHND [ HNDKMI 30,900 64%  F:30,500, £:33,00 30,200, H:34.30(
(EE) | JAL JAL | KMIHND | HNDSPK | 30.200 65% | JK:30.600. £:33.100, £:35.100. H:31.00!
AREFTR) =ER *Lﬁ(%ﬁiﬁ)% (EE) | JAL JAL _| SPKHND | HNDKOJ| 35,500 60%  H A:32.100, £:33.900. £:32,700
ERBR CRE) [ JAL JAL | KOJHND | HNDSPK | 34.000 62% | 5:31.000. A:30,600, £:35500. H:33,300




FLIR G F ) = 8 CBRE) [ ALIR (T F ) 2 R (E) | UAL JAL | SPKHND | HNDOKA| 35,400 61% | /5:33500, A:33,700, £:36.200. 1:36,300, H:36.600
REREFFD [ JAL JAL PKITM | ITMOKA | 22,500 76%  1:25400, H:23.800
ZHE (PE) | JAL JTA_| SPKNGO [ NGOOKA| 35,700 62%  5:33.900, A:33,300, T H:34,300
& JAL JTA PKFUK | FUKOKA | 37.600 61% | H:37.700
SEE (TR R[R= (HE) [ AL JAL | OKAHND | HNDSPK | 34,400 62%  H 1:32.800, A:33,600. £:34,600, H:35.700
KRGO JAL JAL | OKAI ITMSPK | 22,500 76% | 5:22.100, £:23,100, H:24.700
RO (BAF) [ JT JAL _| OKAKIX | KIXSPK | 29.500 68% 28,300, £:28,400, H:29.000
[BEHERE | JTA JAL | OKANGO | NGOSPK| __30.200 68% _ /K:30,000, A:29,800, £:30,000. H:30,500
] JTA JAL | OKAFUK | FUKSPK | 37.600 61% |+ H:37.700
IR TR =REHEF TR X [FECHA) [ JAL JAL PKHND | HNDISG 38,100 67% :38.600. £:40,000. H:41,800
REE R CHED | JAL JAL GHND | HNDSPK | 39,600 65% :37.900., :38,000, £:39.500, £:41.100, H:41,500
HE(B#) | JTA JAL GNGO | NGOSPK| 38,100 6%  /:42,500, % 1:43,000, H:44.800
FLIR G FaR) == [HR G TR [ ASE R [ JAL JT PKNGO [NGOMMY| 40,000 3% X 5,000, H:44.500
1R =% 5 EEES R CRED) | JAL JAL UKHND [HNDMMB| 34,400 4% X 1:34,800, H:35.400
MHTR) | JAL JAL | FUKSPK | SPKMMB| __30.200 6% 30, :30.300
TwmplFE |RRCHE)| JAL JAL _|MMBHND| HNDFUK | 36.400 62% . 4,000, H:35,600
MHTR) | JAL JAL | MMBSPK | SPKFUK | 27.900 69% . 227,600, H:27.400
(RS BRI RCHE)|[ JAL JAL | FUKHND | HNDAKJ | 37,400 60% 600, &:36,400, £:37.200
B JAL JAL | AKJHND | HNDFU 29,800 68% . :31,600, H:33,600
1= =g JAL JAL | FUKHND [ HNDKUH| 32,600 65% .000. H:35.301
JAL JAL | KUHHND | HNDFU 36200 . $:36.900, £:33,100. H:35.800
BE=F5 JAL JAL | FUKHND [HNDOBO| 36,400 I .30
JAL JAL | OBOHND | HNDFUK | __36.500 800, 600, %:36.200. £:32,500, H:35.500
18R =t JAL JAL | FUKHND [ HNDHKD | 30,800 63 000, .100. H:36.100
JAL JAL | FUKI ITMHKD | 24.400 67% X 27,20
JAL JAL | HKDHND | HNDFUK | 33,500 60% X 4,200, £:33,300. H:35,000
JAL JAL | HKDI ITMFU| 26,200 65% 200, 7:25,100, £:26.700, £:24,900. H:26.500
BE=FH JAL JAL | FUKHND [ HNDAOJ| 23,000 72% 23
JAL JAL | FUKI ITMAOJ | 20.600 72% | 5:20200, £:26,300, £:22.200
JAL JAL | AOJHND | HNDFUK .000 72% %t H:23.800
JAL JAL | AOJI ITMFUK 200 68%  5:20.200, A:22,100, :25.500, F:22,300, H:24.300
BE= JAL JAL | FUKHND [ HNDMSJ .000 74 &
JAL JAL | MSJHND | HNDFUK 000 74
JAL JAL | MSJI ITMFUK 600 63 00, %:34.300, £:27.900. H:30.700
BRI =HE JAL JAL | FUKHND [ HNDAXT 000 59 0,90
JAL JAL | AXTHND | HNDFUK 800 57 800, %::34.600. £:29,700, H:29.900
JAL JAL | AXTI ITMFUK 900 6 00, £:25.200, £:21,600. H:23.200
&k =1LF JAL JAL | FUKHND [ HNDGAJ .900 4% .40
JAL JAL | FUKI ITMGAJ 400 6% 1000, £:24,000, H:27,500
JAL JAL | GAJHND | HNDFUK 000 59% 5 H:24,000, 7:25600. 1:26,800
JAL JAL | GAJI ITMFUK | 26.600 60%  5:23.600, A:25,500, %:31,000, F:26,700, H:28.300
BRI =/ JAL JAL | FUKHND [HNDKMQ| 25,200 65%  F:25.800. A:24,400, % H:27.200. £:24.800
JAL JAL | KMQHND | HNDFUK | 27.200 62%
BE=2% JTA _[JTA/RAC[ FUKOKA [ OKAMMY| 25,800 54% 1 H:26.200
A/RAC|_JTA | MMYOKA| OKAFUK | 25,600 54% A% £:25700. H:26,000
BE=HE JTA__|JTA/RAC| FUKOKA | OKAISG | 26.300 58% |+ H:26.700
A/RAC|_JTA | ISGOKA | OKAFUK | 26,200 58% :26,300, H:26.600
SR JAL JAL | MMBSPK | SPKSDJ | 23,900 61 24,500, % H:25,600
JAL JAL | SDJSPK | SPKMMB| 23,900 61%  2:24000, £:25,600
JAL JAL | MMBSPK| SPKKIJ 24,700 60 7K :24,900, £:25,100, £:25.300. H:25,500
EEEY] JAL JAL | KIJSPK | SPKMMB| _ 25.700 59% 225800, £:26,000, H:26.200
ESEEIENRA ESTLIES RCEE)[ JAL JAL _|[MMBHND[HNDKMQ| 25,200 68%  +:25800. H:26,500
INEASE CRE)|[  JAL JAL _|KMQHND [HNDMMB| 25,700 67%  £:26,100. £:27,000, H:26.200
i Al =FE Ll ESTUIES CRE)[ JAL JAL _[MMBHND [ HNDOKJ| 29,900 6%
[EIES CRE)[ JAL JAL | OKJHND [HNDMMB| 29,500 6%  H:29.400
ZHH =58 ESTRIES CRED[ JAL JAL _|MMBHND | HNDHIJ 29,600 7% :30,000
L% CRED[  JAL JAL | HIJHND [HNDMMB| 29,700 7% :30,100, H:29.60
MEHTR) | JAL JAL | HIJSPK | SPKMMB| 28,300 6% 128,800, £:28.501
Zimpl =HE ESTLIES RCEE)[ JAL JAL _|MMBHND][ HNDIZO .000 3% :32.800, H:33,90
HE CRE) [ JAL JAL | IZOHND [HNDMMB| _ 31.500 3% 33,100, £:34,500. H:31.700
i al =421l ESTLIES CRED[ JAL JAL | MMBHND [ HNDMYJ 400 4% A 1:31.400. H:33.200
FALLISE CRE)|[  JAL JAL | MYJHND [HNDMMB| 30,300 6%  F H:30,200, :30.700. £:31.400
Zimpl=h1E ESTLIES CRE)[ JAL JAL _|MMBHND[ HNDISG 40,900 7 +:42,800, B:43.901
iR CRE)[ JAL JAL | ISGHI HNDMMB[ 38,900 69 £:40,100, £:42,100. H:42.400
TEIT=/1ES NI (RE)[ JAL JAL | AKJHND [HNDKMQ| _ 23.500 69% | #:24,300, £:24,900, H:25.600
INEASE CRE)|[  JAL JAL | KMQHND [ HNDAKJ 28,200 63 :26.200. A:27,000, :29.400. H:28,400
BIN=Fafk Ak JENIE: CRE)[ JAL JAL | AKJHND [HNDSHM| 24,600 71 :25,900, H:27,60
EGER S CRE)[ JAL JAL | SHVMHND | HNDAKJ | 32,000 62 :33,500, H:34.40
TEI=RW JENIIE CRE)[ JAL JAL | AKJHND | HNDOKJ | 26.800 69 :27.700, H:27.10
G (RE)[ JAL JAL | OKJHND | HNDAKJ | 30,000 65% :28,000., 7:28,800. £:31.400
TBIN=HE IS (RE)[ JAL JAL | AKJHND | HNDIZO | 29,000 66% 728,800, £:29,100, £ H:30,000
HESR (RE)[ JAL JAL | IZOHND | HNDAKJ | 34,400 59%  H:32.400, A:33,200. %:35,600, £:36.400. H:34.200
TEI=#1l E (RE)[ JAL JAL | AKJHND | HNDMYJ| 29,500 67%  HAL:28.400 00, H:31.500
I3 (RE)[ JAL JAL | MYJHND | HNDAKJ | 33.200 62% _ [:31,200, A:32,000, £:33,800. H:31,800
EI=6aE I3 (RE)[ JAL JAL | AKJHND | HNDISG | 39.200 68% :39,500, £:41,900, H:41.100
HIESE (RE)[ JAL JAL | ISGHND | HNDAKJ | 40.500 67% 142,000, £:42,400, H:44.400
g =/ BIFRFE CRED[  JAL JAL | KUHHND [HNDKMQ| 25,000 67% £:25.700. H:26.
INEASE CRE)[ JAL JAL | KMQHND | HNDKUH | 23.900 68% :25,600, H:26.500
SEg =Rl HIEEFE CRE)[ JAL JAL | KUHHND [ HNDOKJ| 29,700 65% :30.400
[EIES CRE)|[  JAL JAL | OKJHND [ HNDKUH 27,700 67% :27.900, H:28,300
HR=155 FEE3 CRE)[ JAL JAL | KUHHND | HNDHIJ 29,400 66% :30.500, H:29,500
L% CRED[  JAL JAL | HIJHND [HNDKUH| 27,900 68% 129,500
FE=HE FEES CRE)[ JAL JAL | KUHHND | HNDIZO 31,800 62% :33.300, H:34,100
HER CRE)|[  JAL JAL | IZOHND [HNDKUH| 29,700 64% :32,500, £:31,100. H:32,300
g =1l HIEEFE CRE)[ JAL JAL | KUHHND | HNDMYJ| 32,200 63% A£:31,200. £:32,900, H:33,400
[NITE:S CRE)[ JAL JAL 'YJHND [ HNDKUH | 28,500 67%  £:30.100. H:29.70
fIk="h1i8 HIEEFE CRE)|[ JAL JAL | KUHHND [ HNDISG 37,100 69%  +:42,700. B:41.40
AiE% (RE)[ JAL JAL | ISGHND | HNDKUH| _ 38.400 68% | :40,000, £:38,600, H:42.300
WIR=/R HILFE CRE)|[  JAL JAL | OBOHND [HNDKMQ| 26,200 65% :23.800. A:24,600. £:25.200. £:25,800, H:26.400
INASE EE)|  JAL JAL _|KMQHND|HNDOBO| _ 27.400 63%  H:27.000, %:28,100, £:28,200, H:28,.800




HE=MW0 JAL JAL | OBOHND | HNDOKJ |  30.900 3% A :28,100. A:28,900, £:29,700, H:29.000
JAL JAL _| OKJHND | HNDOBO 200 3% A% 1:30,400. H:30.600
BHE=HE JAL JAL | OBOHND | HNDIZO .000 0% _ FH:30.200. £:31,000, £:32.600, £:30,900. H:33.800
JAL JAL _| IZOHND |HNDOBO 200 0% _ £::35,500, £:35,700, H:34.600
FLE=H10 JAL JAL | OBOHND [ HNDMYJ 400 62%  H £:29.600, £:30,400. £:32,200, H:33,100
JAL JAL YJHND [ HNDOBO .000 63% 33,100, £:32,60
FLE=RAE JAL JAL | OBOHND| HNDISG | 40.300 67% _ H:39.500, %:40,900, £:42,800. H:42,200
JAL JAL | ISGHND [HNDOBO| _ 40.300 67% _ A:40,500, %:40,900, £:42.200, H:43,300
AR =/MA JAL JAL | HKDHND [HNDKMQ| 25,200 62%  H:26,500
JAL JAL | KMQHND | HNDHKD | 24.100 63% | :25.800. £:25,200, H:26.900
R =l JAL JAL | HKDHND [ HNDOKJ| 28,800 62 H:28.400
JAL JAL | OKJHND | HNDHKD | 27.400 £:27,000, B:27.90
EEE=IRE JAL JAL [ HKDHND | HNDHIJ 29,600 9,800, H:29.,301
JAL JAL | HIJHND | HNDHKD | 27.600 £:29,000, £:26,900, H:28.300
EE=HE JAL JAL | HKDHND | HNDIZO | 29,000 :28,700., %:29.200, £:30,100, H:31,100
JAL JAL _| HKDITM | ITMIZO 24,700 6 24,900, H:25.201
JAL JAL | IZOHND | HNDHKD | 29.400 0% :32,000, £:32,700. H:30.800
JAL JAL | 1zOr ITMHKD | 25,900 4% :27.300, £:27.10
E JAL JAL | HKDHND | HNDMYJ | 31.500 0% :30,300, A £:30.400, £:31,100. H:32.600
JAL JAL | HKDI ITMMYJ | 24,100 65% | H:24.500
JAL JAL YJHND [ HNDHKD | 28.200 4% & 1:29,600, H:30.500
JAL JAL 1Y JI ITMHKD | 25300 3% £:26,500. :26.900
EEE=dt M JAL JAL | HKDHND [ HNDKKJ 28,600 6%
JAL JAL | KKJHND | HNDHKD | 28,600 6%
BHEE=X% JAL JAL | HKDHND [ HNDOIT 21,900 3% 1 H:22500
JAL JAL | HKDI ITMOIT 23,900 67% :25,200, H:27.800
JAL JAL | OITHND |HNDHKD | 21.900 73% £ H:22,500
JAL JAL | oIt ITMHKD | 25.100 65% 30,100, £:29,900
iR =R JAL JAL | HKDHND [HNDNGS | 22400 74% 1 H8:23.000
JAL JAL | HKDI ITMNGS | 27,000 66% :28,600, H:28.800
JAL JAL | NGSHND | HNDHKD | 22.400 74%
JAL JAL GSITM | ITMHKD | 28.200 65%
R =AEA JAL JAL | HKDHND [ HNDKMJ | 22,400 73% + H:23.000
JAL JAL | HKDI ITMKMJ | 24,300 68% :27.300, H:28,200
JAL JAL | KMJHND | HNDHKD | 22.400 73% £ H:23.000
JAL JAL | KMJI ITMHKD | 25,500 67% :28,000, £:30,000
EEE=E JAL JAL | HKDHND [ HNDKMI 22400 73% + H:23.000
JAL JAL | HKDI ITMKMI 28,400 63% :29,900, H:28.800
JAL JAL | KMIHND | HNDHKD | 22.400 73% £ H:23.000
JAL JAL | KMITM | ITMHKD | 29,000 62 31,700, £:30,200
EWE=ER JAL JAL | HKDHND [ HNDKOJ| 22400 74 + H:23.000
JAL JAL | HKDI ITMKOJ | 26,600 67 :28,500
JAL JAL | KOJHND | HNDHKD | 22.400 74 £ H:23.000
JAL JAL _| KOJI ITMHKD | 26,600 67 129,800, £:28,300
EE=H1E JAL JAL | HKDHND | HNDISG | 39.100 65% :39,600, £:42,000, H:41.400
JAL JAL | ISGHND | HNDHKD | 39.400 65% £:40.200. H:43.100
BEHR=/R JAL JAL | AOJHND [HNDKMQ| _ 14.800 7% £ H:15.500
JAL JAL | KMQHND | HNDAOJ | 15.300 76% £ H:16.500
EH=EREE JAL JAL | AOJHND [HNDSHM| 28,200 61% | £:29.000
JAL JAL | SHMHND | HNDAOJ | 29.500 60% |4 H:30,100
BEHxR=EL JAL JAL | AOJHND | HNDOKJ| 26,200 65%  %:26,800
JAL JAL | OKJHND | HNDAOJ| 25,700 65%
BEHR=ILE JAL JAL [ AOJHND | HNDHIJ 27.800 63% 726,300, £ H:26.100
JAL JAL | HIJHND | HNDAOJ|  26.500 65% | 4:27.200
EH=LOFH JAL JAL | AOJHND | HNDUBJ| 23,400 71% __ £:24,100. B:25.801
JAL JAL | UBJHND | HNDAOJ | 24.100 70% _ £:24,900, H:25.80
EHR=HE JAL JAL | AOJHND | HNDIZO 29,100 60% 7 H:27.400, £:29.500
JAL JAL | AOJT ITMIZO 21,700 69% | #:23700. £:22,100, H:23.000
JAL JAL | IZOHND | HNDAOJ| _ 29.400 60% | % H:30.100
JAL JAL | 10 ITMAOJ | 22,100 68% 21,700, %:23,700. H:22.600
EHR=6EE JAL JAL | AOJHND | HNDTKS | 20,300 72% 1.300
JAL JAL | TKSHND | HNDAOJ | 20.300 72% 1.300
BER=m0 JAL JAL | AOJHND | HNDTAK| 20,200 73% 0,500
JAL JAL | TAKHND | HNDAOJ | 20.200 73% 0,500
BEHx=m JAL JAL | AOJHND | HNDKGZ | 20,300 73% 21,300, £ H:24,100
JAL JAL | KCZHND | HNDAOJ | 20.300 73% :24,000
EHx=L JAL JAL | AOJHND [ HNDMYJ| 20,000 74% :20,500
JAL JAL | AOJI ITMMYJ | 21,100 68% 00, £:21,500, H:22.300
JAL JAL | MYJHND | HNDAOJ| 20,000 74% 20,500
JAL JAL | MYJI ITMAOJ 500 68% 0. %:22,900. £:21.900
FHE=dAMm JAL JAL | AOJHND | HNDKKJ 800 74% 600
JAL JAL _| KKJHND | HNDAOJ 800 74% 600
BER=KS JAL JAL | AOJHND | HNDOIT .700 73% 122,500
JAL JAL | AOJT ITMOIT 20,900 70% 000, £:21,300, H:25.600
JAL JAL _| OITHND | HNDAOJ 1,700 73 122,500
JAL JAL | oI ITMAOJ 1.300 69 00, £:26.500, £:24.900. H:22,600
EHR=R5 JAL JAL | AOJHND [HNDNGS| 23,200 73 :24,000
JAL JAL | AOJI ITMNGS .000 69 00, £:24,400, H:26.600
JAL JAL | NGSHND | HNDAOJ 200 73 :24,000
JAL JAL | NGSI ITMAOJ 400 68% 00, £:26.200, £:24.800
BEHR=EA JAL JAL | AOJHND [ HNDKMJ 1.800 74% 122,600
JAL JAL | AOJI ITMKMJ 3,300 69% 26,100, £:23,800. H:26,000
JAL JAL | KMJHND | HNDAOJ 1,800 74% £ H:22.600
JAL JAL | KMJITM | ITTMAOJ 1,700 71% :21,300, %:24.400, £:25,000, H:22.200
ER=EH JAL JAL | AOJHND | HNDKMI 1,800 74% %+ H:22,600
JAL JAL | AOJITM | ITMKMI 5,400 66%  #:28.800, 1:25,800, H:26.600
JAL JAL | KMIHND | HNDAOJ 1,800 74% %+ H:22600
JAL JAL | KMITM | ITMAOJ 400 66%  £:28,100, H:26,600
EHR=RRES JAL JAL | AOJHND [ HNDKOJ ,200 73% %+ H:24,000
JAL JAL | AOJITM | ITMKOJ 500 70% _ #:26.900, £:23,900, H:24.400
ERER [EECRH)| JAL JAL | KOJHND [ HNDAOJ ,200 73% %+ H:24,000
KBR(FF | JAL JAL | KOJITM | ITMAOJ 22,800 71% _ F:22,400, £:26,200, 1:23,300, H:23,800
EH=R1E EHRE |EECEH)| JAL JAL | AOJHND | HNDISG 37,200 66%  7:35,900, + H:39,100
RIERX |[EREREEH)| JAL JAL | ISGHND | HNDAOJ 37,200 66%  +:37,800. H:39,700




=iR=/m JA JAI D | Hi 800 77% | # £ H:15500
JAL JAL D[H 300 76% %t H:16.500
ZiR=FEW JAL JAL D[H 600 68%  /:26,100. £:26.900
JA| JAI D[H 200 68% 4 H:23.800
=ER=LE& JAL JAL D[ H .900 68%  :25.800, £:27.000, F:24.400
JAL JAL H 600 70% :22,900., %:25,000, H:24.200
ZR=ILOF& JA JA D[H 300 70% | #:24.200
JAL JAL D[H 700 70% _ £:24,200, H:25.100
SIR=HE JAL JAL D[H 26,900 63%  F:26,700, A:28,200, £:29,800, F:27.100, H:27.000
E JA JAI D[H 25,600 64%  :25.700. % H:26.700
7 JAL JAL T 26.100 63% 30, £:28.200. H:26.700
ER=%8 JAL JAL D[H 300 73% B
JAI JAI D[H 300 73
ZiR=@h JAL JAL D[H .200 7
JAL JAL D[H 200 7
ZiR=2f JAI JAI D[H 300 7
JAL JAL D[H 300 7
ZiR=#al JAL JAL D[H .000 75%
JAI JAI D[H 000 75% X
JAL JAL T 25,500 62% 00, £:28,000, H:26.100
JAL JAL H 800 76%
JA| JAI H 800 76%
JAL JAL H 700 75%
JAL JAL H 700 75% 0,500
JAI JAI T 25,300 64% 00, £:31,000, H:25.900
=R=R#K JAL JAL H 21,200 75% :22,000
JAL JAL H 21,200 75% 22,000
JAI JAI [ 25,500 67% 00, £:27.600, H:26.600
SR=fEX JAL JAL Hi 19,800 76% :20.600
JAL JAL H 19,800 76% £ H:20,600
JAI JAI T 28,100 63% :33,800, £:30,200. H:28.700
ZR=akh JAL JAL H 19,800 76% £ H:22.600
JAL JAL T 29,200 61% :36.400, +:30,800, H:32.400
JAI JAI H 19,800 76% £ H:22.600
JAL JAL [ [_30.100 60% 35,300, £:32,200. H:30.700
JAL JAL Hi 1,200 75% £ H:22,000
JA| JAI T 7,900 65% 36,100, £:29,100. H:31,000
JAL JAL D [ H 1,200 75% £ H:22,000
JAL JAL T 25,200 68% 31,800, £:27.800. H:26.200
=ZR=RE JA JAI D[ H 37.100 66% _ +:39.000
JAL JAL D [H 4,600 68% :37.100, £:36,500. H:39.000
FRE=/ME JAL JAL D [H | 17.200 70% £ H:18.300
JAI JAI D[H 7.100 70 £ H:17.500
HRE=EiLaE JAL JAL D[H 26,800 59
JAL JAL D[H 26,800 59
FRE=RL JA JAI D[H 26.300 61 26,800
JAL JAL D[H 23,700 65% 24,000
HE=L5 JAL JAL D[ H 27,400 60% :28.300
JA JAI H 100 66% 23,400, %:23,900
MRE=LOFH JAL JAL D[H 600 68%  £:25400
JAL JAL D[H 200 67% | %:24.900
ME=HE JAI JAI D[H 26,800 59%
JAL JAL i 22,600 65% | 4:24.800
JAL JAL D [H 26,800 59%
JA| JAI T 21,400 67% 3
HE=F5 JAL JAL D[H 20,200 70%
JAL JAL D[H 20,200 70%
HE=FH JAI JAI D[H 20,200 70%
JAL JAL D[H 20,200 70
HE=54 JAL JAL HND [ H 20,300 7
JA| JAI D[H 20,300 7
FRE=HIL JAL JAL D|H 20,400 7
JAL JAL T 20,800 66
JA| JAI H 20,400 1%
JAL JAL T 20,800 66%
E=TAM JAL JAL Hi 29,400 61% 31,000
JA| JAI H 26,600 65% 28,500
ME=X% JAL JAL H 28,000 62% :31,000, H:27.201
JAL JAL il 20,600 68% 123,700, H:24.501
JAI JAI HN 27,900 62% _ JK:28,300. £:29,00
JAL JAL Tl 21,800 66% 26,200, £:24,200, H:25.500
RE=FKE& JAL JAL HN 29,200 63% :27,600., :28,000, £:31,000, £ H:27.200
JAL JAL Tl 23,700 67%  £:27,200, H:25,500
JAL JAI H 28,400 64% | H AL H:27.900, £:29.000
JAL JAL T 20,800 71% _ £:23900, H:21.30
BE=RX JAL JAL H 30,000 60%  /5:28,000, A:28,800, %:31.800. F:29,600, H:27.600
JA| JAI T 22,200 68%  2:27000, H:24.90
JAL JAL H 27,100 64%  5:27,500, A:26,700, £:27.400
JAL JAL T 23,400 66%  2:26,300, H:25.10
HE=E JAI JAI Hi 27,600 63%  H + H:27.200, £:29,800
JAL JAL T 26.600 62% | £:30.300
JAL JAL H 27,100 64% 27,500, %:27.800
JAI JAI T 26,600 62% :29,200, H:29.500
ME=FER JAL JAL D [ H .700 75% 1 H:20.800
JAL JAL T 400 67% :28,000, H:24,700
JAI JAI D[ H .700 75% £ H:20.800
JAL JAL T 800 68% :27.300, H:28.400
ME=RE JAL JAL D[ H 35,100 66% 36,600
JA| JAI D [Hi 35,100 66%
TEB=Hl JAL JAL T 30,500 53%  F:30.300, A:25,200, £:25900
JAL JAL i 30500 53%  A.:25900, £:26,300
EB=K5 3 JA JA T 1.900 52% % H:32.201
E JAL JAL 1,900 52% .20
EBE=RE 3 JAL JAL 4,600 54% .700, £:33,.800
% JA| JAI 200 58% 900, £:33.800
EB=fEA HF JAL JAL 300 55% % H:33.401
EBE=28 T JAL JAL 400 54%
JA JA 30.200 62%  HKA£:26.400, £:31,000, H:32,700
BIFE JAL JAL 30,600 62%  £:32.400
EB=ER EBR JA JAL 34,100 55%  HA+:33600, £:34,600. H:33.900




WL =M N2 JAI JAI D |Hi 6,800 H:17.100, :17.400
MMaFE  [RECHE)| JAL JAL D[H 7.200 118,100, H:18,200
Witz =FaLl W% [RRCHEE)|[ JAL JAL D[H 600 1 H:19.200
L% [HEECEA)|] JA JAI D|H .200 X:18.600
W =ILE5 W% [RRCHEE)|[ JAL JAL D[ H 200
LB%¥ [HRE(CHE)| JAL JAL Hi 20400 H:20,200, A+ H:19,900
\Lf =L OFH N %  [RE(EE)| JA JA D[ Hi 18.400 418,800, £:18,700, H:18.900
OF&% [RECHE)| JAL JAL D[H 18,700 £:19,600. £:18,800. H:20,500
Wi =H%E W% [RECEE)|[ JAL JAL D[H 22,300 K £:22,100, £:22,500
AR (FEFD | JAI JAI IT] 28,400
HER [RRERGIHE)|[ JAL JAL D | HNI .100
W =5 \Ifp%  [RE(EE)| JAL JAL D[ H .000 £:20,600
EmeE%E |HRCH A JA D[H 600
=@ Lz Ed JAI JAI D[H 600
S EES JAL JAL D[H 20,900 . £:21.200
Wiz =1l 2 ES JAL JAL D[H 18,700
JAI JAI T 23,300
PATIES JAL JAL D[ H 20,000 ,400, H:21,800
JAL JAL T 300 H:26.800. £:23,700
WL =%X% 2% JA JAI H 000 21,600, %:22,800, £:23.200
JAL JAL T 100 £:29,300, H:30.10
K% JAL JAL Hi 800 F:23,200, 1:22,400. H:24.000
JAI JAI T 28,200 30, 9,900
Wi =Rk [IFZ3 JAL JAL H 22,000 2,800
JAL JAL T 30,000 :32.700, +:30,900, H:32.200
RIS JAI JAI H 25400 £:24,800, K:24,300, £:24,400
JAL JAL T 28,400 :30.400. % H:32,300, £:30.100
Wiz =& T2 JAL JAL H 23,600 F:22,800, 1:24,000. H:23.200
JA| JAI T 28,600 ® H:31,000. £:29,400
REARFE JAL JAL H 22,400 7K:22,800, A:22,000. £:23.200, H:23.600
JAL JAL T 28,600 $:30,500, +:30,300, H:31.000
W ==k T2 JAI JAI H 400 X:22.000
JAL JAL T 000
EEES JAL JAL H 600 £:22,400, £:22,000. H:23,600
JA| JAI T 000
W =ERE [IFZ3 JAL JAL Hi .100 H:23800. £:24,400, H:24.000
JAL JAL T 30800 £:32,700, 31,600, H:31.100
JAI JAI H 24,800 :23,600, A:23,100, £:24,000
JAL JAL T 29,700 £:32,300, +:31,900, H:32.700
WL =R1E JAL JAL D|H 32,500 £ H:34,400
JAI JAI D [Hi 32,500 £ B:34.400
le=HE JAL JAL T 26,800
JAL JAL T 26,800
LB =l JAI JAI T .000 :24.400, H:22,40
JAL JAL i 400 123,200, £:21.801
wE=x% JAL JAL 600 :26.000, H:25,701
JA| JAI 500 26,800, £:24,800. H:22.300
e =Fix JAL JAL 26,100 :28.900. +:26,900. H:26.700
JAL JAL 25,300 27,800 H:26.201
e =fx JA JAI 23,000 :27.900, H:26.10
JAL JAL 24,000 126,900, £:25.501
JAL JAL 27,400 31,200
JAI JAI 28,300 :30,100, H:28,700
JAL JAL 25,900 JKA B:25.500, £:28,900. 1:26.700
JAL JAL 28,900 A £:27.000. £:26.600, £:31.100, H:28.200
JAI JAI 4,300
JAL JAL 4,300 £:24,200
JAL JAL 500 7K:19.900. £:20,500, H:20.300
JA| JAI 600 H:20.500, 7 H:19,800, £:21.200
JAL JAL 500 K:21.800. %:24,300. H:23.600
JAL JAL 1400 H:20.300., 7:19.600. £:22.700, £:21,300, H:19.700
JA| JAI .100 7K:21.900, £:24,800, F:21.200. H:22,800
JAL JAL 4,200 23,100, A £:22,600, £:24,500, H:24.700
JAL JAL 1.900 K:22.200. %::26,200. H:24.000
JA| JAI 4,200 :23,100, £:22,400, £:25,300, £:23.400, H:22.800
JAL JAL 4,100 k:24.900, %:27.900, H:25.300
JAL JAL 7,200 H:26.100, A £:25,600. %:26,800
JA| JAI 4,800 A 7k B:24,400. K:24.700, %:27.200. £:25.100
JAL JAL 4,400 A:23,300, A +:22,800, £:24,900, H:26.100
AVEA=FELL JAL JAL 1,700 £:22,800
JA| JAI 20,900 421,800
INR=TRE JAL JAL 500 :22,600
JAL JAL Hi 200 422,200
MA=ILOFE JA JA D[ Hi .100 £:19,100, H:20,900
s JAL JAL D[H 100 418,600, £:18,700, H:19.700
IMA=HE g JAL JAL D[ H 800 I
HEF JA JA Hi 700 £:24,100. H:24.300
MME=FEE IMRFE JAL JAL D|H 20,400 £:22,200
mER JAL JAL D [H 20,700
INR=TEH IR JAI JAI D[H ,000 #:24,500, H:24,000
EFE JAL JAL D [H ,900 £:22,000, £:22.500
INR=TEEI IMRFE JAL JAL D[H 400 £:21,300, H:21,700
=R JAI JAI D [H .100 2,600
AMA=FAL INEASE JAL JAL D[H ,000 :21,800, £:23200, £:22,300. H:23.500
[N JAL JAL D [H 500 :22.900, H:22,80
=3 INEASE JAI JAI D| H ,800 :26,300, H :26,601
[ZAIES JAL JAL D [H 500 24,900, +:22,900, H:24.000
IMA=K5 NS JAL JAL D[ H 400 :26.100, H:24,80
RAE JA JAI H 600 25,100, H:24.701
=R IS JAL JAL D[ H 25,000 K:24,200. £:24,600, £:24.800
Rig% JAL JAL D[H 24,800 200, A £:23,700, £:25.100, H:25,700
IMA=FER MR JAI JAI D|H 24,200 H:22,200. A:23,000, £:25.100. £:23.200, H:24.800
FE3 3 JA JAL D[H 25,000 K:23.400. % H:25.900, £:23000




A= H 1,800 £:22,300, £:22,000. H:23.200
H 1.800 F:22.200. £:22,700, £:21,400, H:24,300
ME=FER H 7,500
H 8,500
IMR=EH E O 3,400
oi 4,200
MA=R1E H 1,900
4,300
1,500
33,900
MIl=2% 27,700 K:33,700, #:34,500
27,700 £:34,500, H:34.10
EL=RaE 28,300 K:34,300. £:35.400
oi 28,200 A %:28,900, £:35.300. H:34.90
BH=EE A F .700 100, B:24.801
B 5 A A FU .700 500, £:24,400, H:23.100
SRR (RER) =F & [ (RE) R[RZ A A H 500 100, B:34.00¢
X Al A T 900 700, H:25.701
EHE A A Hi .900 A H:30,200, £:33,100, +:33200
BS AL Al T 800 424,600, +:24,900, H:22.900
L€ ) PR (BT & [HR A Al D|H 28,300 £:31,000, H:32,201
=R% A Al D[H 26,100 K:27,700. £:31,000, £:29.800, H:27.300
SRR (IER) =RE [\ E[RZ A Al D|H 29,200 £:30,300
X AL A Tl 24,100 £:26,100, H:28,600
HER A Al D [ HI 33,700 + H:31,800. £:32,000, £:34,500
X AL A T 24,100 £:26,100, £:25,700
R (B =TEE B\ R AL A T 29,300 7K:35,000, £:35,000, £:30.700. H:38.400
T) Al Fi 38,400
EBR AL Al IT 33,800 H:32.400, K:27,300, 1:29.600, H:33,300
AL TA K[ Fi 38,400
SR (ER) =10 |48 (RE) A Al D [ Hi 26.200 £:26.400, H:27,600
AL AL T 30,500 £:32.200, H:35500
[IFZ3 AL AL D [H 28,500 H H:26.600. A:26.800, £:28,400
A AL AL i 30,500 £:32,900
SRERB) =& [HEGH) R T, AL FU 900 :38,900, £:33,100, H:33,700
AL AL Tl 800 25,300, H:25.401
e AL TA FU 000 :39,700, £:34,100, H:34,500
X AL AL T 100 126,500, £:25.701
SRR =/ [ GRER) R [Hm AL AL H 200 :28,100, H:29,00
INEASE = AL AL Hi 7.500 K H:26.600. £:27.800, £:27.700
SRR =54 [REGEE) R TA AL Fi 26.400
= EFE AL TA 26,400
SREE (B =Hl [ GRER) TA AL 24,600
FALLISE AL TA 24,600
R (PE)=BEXE|RR CRE) % AL AL 30,200 K:28,200., £:29.400
AL AL 30,700 £:31,600, H:30800
BERER AL AL 30.400 H:28,200. A:28,300, £:32,200. £:29,300, H:30.200
) AL AL 32,500
RECHE)=ERE|HRCRE) % A Al 29,600 K:28,500, £:30,800. £:30.200
B AL Al 31,400
ERBR AL Al 28,800 F:29.200. :27,600, £ H:31,600. £:29.600
& Al Al 28,500 A H:30,400
RECHE) =@zB|R"R CRE) % AL Al 30,600 K:29,500. £:31,800, £:31.,200, H:31,000
AL Al 500
Al A D 200 F:31,000. 7:30,600, +:32,100, H:33000
R (RE) =X RE AL A KE .700 K:32,300. £:33.201
F AL A D 100 H:31.900., 7:31,500. £:34.300, £:33,000, H:33.900
RRCAE) =5# A Al J| 38100 :36.700. %£:37,60
5% AL Al D 4,700 H/K:33.100. £ H:38,300, +:36.300
KR () =BERE[ KR (FF) % AL Al SJ 4,000 k7:23.600. #:25,300.  H:24.800
EEPNCES A Al 7.300 A £:25,900, A:25,500, £:29,100. H:26.700
AR (FFH) =B R & KR () % AL A X 7.000 A /KK H:26.600, :27.900, 1:27,400
AL Al X | 29,000 B:29.900
ERBR A Al M 28,700 A £:26.800. K:26.400, H:27.600
AL Al M | 29,000
KR (FF) =Bz B Xk (B % AL Al N[ 28,000 F/KA:27.600. £:28,900, 1:28.800
e A Al M 30,100 A £:28.200, £:27.800. H:29.000
AL Al M | 31500 +:31.900
KR () = ok B # | KB () 3¢ AL Al KE | 28900 A 7Kk H:28.500, £:29,800, £:29,300
oK RARSE A Al 31,000 A A £:29.100, £:31,400. H:29.900
R (FFH) =55 | KR (% AL Al J 33,300 A KA B:32.900, £:34.200, £:33,700
AL Al J 35300
A Al 35400 H £:33.500. A:33,100, H:34,300
BE=EXXE AL Al J 300 F:19,800, B:20,100
AL A K 500 :22,000, £:23,300
BHR=ERE A A X 300
AL Al 500
Al Al 500
BE=EZE A A 300
Al Al 25,000
Al Al 24,300
5 A Al 25,000
RECHE) =53E [ R"R CRE) % A N| 27500
Al 29,400 £ H:31.700
SMER 27,300
29,400 £ H:31.700
KR (1) =5 3E | KR (85 39,400
SHER 39,400
KB (BFE) =5 3RE | KBk (@) % 39,400
36,000 X:35.200
SMER 39,400
4,000 £ H:34.600
AHE(PH) =5E | 2GR (hEp) % 2,400
7,600 A% £ H:40.300
SMER 0.400 :40,200
7,600 A% £ H:40.300
L =5RE [EITES 29,100 7:32,300, £:32,800
SHMER 29,000 800, H:32.300
BE=5HE FEES 4,100 ,200
SHER 4,100 ,200
R (BB = 5@ 948 () 5 1.800 12,500
SMER 1,800 12500




R CRE) =AKB[ 3R CRE) %[44 (BF) | JAL |JTA/RAC| HNDOKA | OKAUEO | 26,000 59% 0. H:26.101
AKEFE [ FF) [mvutarac] JAL | UEOOKA | OKAHND 26,000 59% : 0, H:26.10
KR (FFH) =AKB | KBk (5 F[#4 GBT) [ JAL [JTA/RAC[ ITMOKA [ OKAUEO| 25,000 55% £:24,900, B:25.400
AKEFE [FEBEF) [mvoarac]  JAL | UEOOKA | OKAITM 25,000 55% +:24,900, H:25.400
KBx (BTE) = A KB | ABx (BI7E) [ F#8 (BRF) | JTA [JTA/RAC| KIXOKA [ OKAUEO 29,500 7 :29,400., F:30,20¢
AKEFE [ @F) [mouarac] JTA | UEOOKA | OKAKIX 29,500 7 £:29,40
BEE(PH) =ARB[BEE (08 %[ @B | JTA [JTA/RAC|NGOOKA| OKAUEO | 31,300 9 £:31.200, A:31,000, H:31,400
AKEFE [MF#BAF) [mavuarac] JTA | UEOOKA|OKANGO| 31,300 9 A £:31,200, 7X:31,000. H:31.400
BR=AXE B [P GBE) | JTA [JTA/RAC| FUKOKA [ OKAUEO| 25,100 7 £:25400, 1:25,200. H:25.500
AKEBFE [(F#(GBI) [avuarc] JTA | UEOOKA [ OKAFU 25,100 7 £:25,400, £:25,200, H:25,500
RRCRE) =Rk |R=RCHE) [ AR EF| JAL JAL | HNDITM [ ITMO 20,800 62 :21,400. £:21,20
E JAL JAL | HNDIZO | 1200 20,800 59%  #:21,300, £:21,60
JAL JAL | OKITM | ITMHND | 20.600 63% | H:20.800
JAL JAL | OKINIZO | 1ZOHND 1,000 59%  +:21,900
R (8 = JAL JAL _| OKAITM | ITMKIJ 4,700 68%  H:23600, AE:23.100, %:23,700. H:26.300
JAL JAL | KIJITM | ITMOKA 1,600 72% _ 7K:22.400, %:23,700. £:23,200, H:22,80
BRE=HEF TR |__BER JAL JAL | FUKHND | HNDSPK | 36.800 7% F:34,600. & H:34.100. £:36.600, £:35,900
AR (T % JAL JAL | SPKHND | HNDFUK | 39,500 4% A :33,300, £:37.400, £:34,900. H:37.600
BEHR=%H5 HHE JAL JAL | AOJSPK | SPKMMB| 20,300 1 £:21,400
B JAL JAL | MMBSPK | SPKAOJ | 20,600 0 :21,200, %:23,000
=25 PGS JAL JAL | AXTSPK [ SPKMMB| 21,700 1
ESEIE JAL JAL | MMBSPK | SPKAXT |__ 21,500 62 .700, £:23000, H:21,900
BEE(PER) =HIE [ B EE (i) % JAL JAL | NGOHND|[HNDOBO| 26,200 62 :27,200, H:27.800
HIRFE JAL JAL | OBOHND[HNDNGO| _ 25.400 64 :23,400., %:24.200. £:24,400
ZEE(FE) =18 [BEE(HH) JAL JAL | NGOHND | HNDAKJ | 27.400 61% _ H:25400, A:26,200, £:28,400
FEIES JAL JAL | AKJHND [HNDNGO| 20,600 71 122200, £:20,800. H:23.500
B =%E5 E JAL JAL | TAKHND [HNDMMB| _ 29.900 66 :30,900, +:32,000, H:29.800
ES JAL JAL _|MMBHND| HNDTAK | 30.400 65% :30,800. H:31,901
BE=%#35 F JAL JAL | TKSHND [HNDMMB| 28,100 68% 28,500, H:28,00
&; JAL JAL _|MMBHND| HNDTKS | 28,600 67%
KA =K% JAL JAL _| OITHND |HNDMMB 400 75%
JAL JAL _|MMBHND | HNDOIT 400 75%
R =% 53] JAL JAL | NGSHND [HNDMMB .900 76%
JAL JAL _| MMBHND | HNDNGS 900 76%
REA=%H5 JAL JAL | KMJHND [HNDMMB .900 75%
JAL JAL | MMBHND | HNDKMJ 900 75%
B =% 5] JAL JAL | KMIH HNDMMB .900 75%
JAL JAL | MMBHND | HNDKMI 900 75%
ERE=%&3 JAL JAL | KOJHND [HNDMMB .900 76%
JAL JAL | MMBHND | HNDKOJ 900 76% 5,000
ARG TR =BEAB AR FTR) % JAL JAL | SPKHND | HNDASJ | 40.300 59 140,800, £:40.700
EEPN-E JAL JAL | ASJHND | HNDSPK | 39,800 59 :39.900, £:39,000, 1:38.200, H:41,000
BEH=EEXE BHE JAL JAL | AOJHND | HNDASJ | 38,800 59
EEPN-ES JAL JAL | ASJHND [ HNDAOJ| 36,300 61 H:38,000. £:36,900, H:38.600
ME=FTXZXE ER JAL JAL | AXTHND [ HNDASJ 39,300 55% 440,200, £:36,800
EEPNCES JAL JAL | ASJHND | HNDAXT | 34,600 0 F:36,300, £:35,500
IME=BEXRE ANEASE JAL JAL | KMQHND [ HNDASJ 33,100 1 1:33.300
EEAEH JAL JAL | ASJHND [HNDKMQ| 30,600 4 §:32,300. £:30,800, H:32.500
ER=HI% SLFE JAL JAL | TAKHND | HNDKUH| 28,100 7 :30,300, £:28,600, H:29.500
FEES JAL JAL | KUHHND | HNDTAK| 30,200 4 :31.300, H:32,10
EE=1% [ JAL JAL | TKSHND | HNDKUH | 26.300 69 :27.900, H:27.60
FE3 JAL JAL | KUHHND [ HNDTKS | 28400 66! 9,800
Ko =1l ARH JAL JAL | OITH HNDKUH 400 76% 400
FE3 JAL JAL UHHND | HNDOIT 400 76% 400
R =8l RIS JAL JAL GSHND | HNDKUH .900 76% ,900
FE3 JAL JAL UHHND | HNDNGS 900 76% ,900
A=l REARFE JAL JAL JHND | HNDKUH .900 75% ,900
FES JAL JAL UHHND | HNDKMJ 900 75% ,900
BT B JAL JAL | KMIH| HNDKUH .900 75% ,900
FEE3 JAL JAL | KUHHND [ HNDKMI 900 75% ,900
ERS=HIE% ERER JAL JAL | KOJHND [ HNDKUH .900 76% ,900
FE3 JAL JAL | KUHHND [ HNDKOJ 900 76% ,900
BEE=%k LEB% JAL JAL | HIJHND [HNDOBO 1400 63% 500
HILE JAL JAL | OBOHND | HNDHIJ | 30,600 64% 7,800 :28,600. £:29.800. £:28,000, H:29,200
Bi=F5 BIFE JAL JAL | TAKHND [HNDOBO| 31,600 62%  %:33,300. 1:33,201
HLEE JAL JAL | OBOHND| HNDTAK | 31.400 63% £:28,600, £:29.400, £:30,600, H:31,800
BE=%k [ JAL JAL | TKSHND [HNDOBO| 29,800 64%  %:30,900. H:29.901
HLE JAL JAL | OBOHND | HNDTKS | 29,600 65% 800, A:27.600, £:29,100, H:27.100
RO =L ADE JAL JAL | OITHND [HNDOBO .000 76% ,000
RS JAL JAL | OBOHND | HNDOIT 000 76% 000
RIE=%E RIGSE JAL JAL | NGSHND [HNDOBO 500 76% 500
HILFE JAL JAL | OBOHND|HNDNGS| 22,500 76% 500
BA=FL RERE JAL JAL | KMJHND [HNDOBO 500 76% 500
IS JAL JAL | OBOHND [ HNDKMJ 500 76% 500
EEEETN B JAL JAL | KMIHND [HNDOBO 500 76% 500
IS JAL JAL | OBOHND | HNDKMI 500 76% 500
ERG=%L EREH JAL JAL | KOJHND [HNDOBO 500 76% 500
IS JAL JAL | OBOHND [ HNDKOJ 500 76% 500
TEI==H JEES JAL JAL | AKJHND | HNDTAK | 28.400 67% 129,700, H:30.801
BN JAL JAL | TAKHND [ HNDAKJ 32,000 62% :30,000. £:30,800. £:33.100. £:34,100. H:31,600
EIE =m0 EAER JAL JAL | HKDHND [ HNDTAK | 30400 60% :30.600, H:31,90
SR JAL JAL | TAKHND [ HNDHKD | 27,800 63% :29.300, £:27,900. H:30,300
EE=ES EREES JAL JAL | HKDHND | HNDTKS | 28,600 62% 29,100, H:28.20
e JAL JAL | TKSHND | HNDHKD | 26.500 65% 27,400, H:27.60
RO\ =2F [ER(RE) % JAL JAL | HNDHKD [ HKDOIR 23,500 58% :23.900. +:26,300. H:24.200
Bl 5% JAL JAL | OIRHKD | HKDHND | 23,900 58% . H:26.30
AR (FFD) =BR Bl 5 JAL JAL | OIRHKD | HKDITM 22,100 66% ,400
PR GRT) =8 [MREB X JT, JAL | OKAFUK | FUKTKS | 28,700 55% 800, H:29.100
£ 5] JAL JT) TKSFUK | FUKOKA | 28700 55% 800
BI=%5 % [Em(HA)] JAL JAL | AKJHND | HNDTKS | 25,700 70
% [®R(HA)| JAL JAL _| TKSHND | HNDAKJ 000 64 29,000, &:29,800, £:30.500. H:29,500
TBIN=X% HR (WA JAL JAL | AKJHND | HNDOIT 1400 77 £ H:22.400
AHFE [HECHE)| JAL JAL | OITHND | HNDAKJ 1400 77 1 H:22400
R (EXR) =RF [fR(EX%) %] B JAL JAL | OKDHKD | HKDOIR 600 53 :14,601
BRFE E JAL JAL | OIRHKD [HKDOKD 7,600 53 £:17,100, B:14.600
S8 =EafE FEE3 IE(EER) | JAL JAL UHOKD [ OKDHKD | 20,200 54
EAER WE(EER) | JAL JAL | HKDOKD [ OKDKUH| 20,200 54
FE==R FE3 IE(EER) | JAL JAL UHOKD | OKDMSJ 200 52
ZR% BECER) | JAL JAL SJOKD | OKDKUH 200 52
FIFR=EafE FRFE IE(EER) | JAL JAL | RISOKD [ OKDHKD 200 48%
EHAER IE(EER) | JAL JAL | HKDOKD | OKDRIS 200 48%
FIR =8 FRFE IE(EER) | JAL JAL | RISOKD [ OKDKUH 200 52%
FE3 IE(EER) | JAL JAL | KUHOKD | OKDRIS 200 52%
ZiR=FIR =IR% WR(EH) | JAL JAL [ MSJOKD [ OKDRIS 600 55% % +:25300. H:24.800




ERE=RI | EREX |[FZCHA)| JAL JAL | KOJHND | HNDAKJ ,900 77 +A 0
FEJI%E  [HECHE)|  JAL JAL _| AKJHND | HNDKOJ 900 77 0
RIG=1E)I Ei% [HE(CHE)| JAL JAL | NGSHND [ HNDAKJ .900 77 0
JBJIZE  [HECRE)|  JAL JAL _| AKJHND | HNDNGS 900 77 0
A= A% [HR(HE)| JAL JAL | KMJHND | HNDAKJ .900 77 0
B  [HECHE)|  JAL JAL _| AKJHND | HNDKMJ 900 77 0
B EEE [RR(CHE)] JAL JAL | KMIHND | HNDAKJ .900 77 0
JEJI%E [ CRE) | JAL JAL | AKJHND | HNDKMI 900 77 22,900
RRCAE)=XE [ER(PE) %] #&X JAL JAL | HNDKMJ [ KMJAXJ 800 65% :19,000, £:20,200. H:19,400
REFE S JAL JAL | AXJKMJ [ KMJHND .000 66%  :17.800. £:19.40
HRCRE | [ JAL JAL _| HNDFUK | FUKAXJ 200 61% 27,000, £:25,500, H:26.000
RE 1B JAL JAL | AXJFUK | FUKHND | 29,300 53% | H A:27.400, £:30.000. £:27,300. H:29.200
KRR =XE [AREF | X JAL JAL | ITMKMJ [ KMJAXJ 300 59 :17,300
REH JEES JAL JAL | AXJKMJ [ KMJITM .300 59 :17.400
AR () %[ 8E JAL JAL | ITMFI FUKAXJ 600 67 118,100
RE 1B JAL JAL _| AXJFUK | FUKITM 800 0 21,200, H:20.500
AR FTR =XEARFTIRE| fam JAL JAL | SPKFUK | FUKAXJ | 29,900 3%
REH &l JAL JAL | AXJFUK | FUKSPK | 29.900 3%
BEAB=/KRE| BEXER | B2E JAL JAL | ASJTKN | TKNOKE .900 0%
SKEESE | @BrE JAL JAL | OKETKN | TKNASJ .900 0%
BrE="RMBH) |_BEZBE | MKkREB [ JAL JAL | TKNOKE [ OKEOKA 600 58%
SPHEGIBER) | AKRER | JAL JAL | OKAOKE [ OKETKI 600 58%
RECHE)=BT5[HR CRE) %[ ) JAL JAL | HNDKOJ [ KOJTNE 30,100 53% A+ H:29.200, A:28.100, £:28,900
BYER B! JAL JAL | TNEKOJ [ KOJHND | 29,000 4% A% H:31.600. £:30,500
RECHE)=BAB[HZR CRE) %[ ) JAL JAL | HNDKOJ [ KOJKU 29,700 4% | A:27.700., £:28.900
BAGR B! JAL JAL | KUMKOJ|KOJHND | 28,900 6%  H < H:31.400, £:29,800
AR () =BAB[XR (B %[ E) JAL JAL | ITMKOJ [KOJKUM| 24,300 52%  HKAH:23.900, £1:25.200
EABR B! JAL JAL [ KUMKOJ | KOJITM 26.200 48%  H % H:28500. 1:26,600
BERE=4E R BB | BEXE | JAL JAL | OKAASJ| ASJKOJ| 28,100 51%
i 2B BRI ) JAL JAL | FUKKOJ [KOJKUM| 18,700 53%
EABR B! JAL JAL | KUMKOJ [ KOJFUK 22,700 43%
BE=1EF5 BRI B! JAL JAL | FUKKOJ [ KOJTNE 20,100 48% AL H:19.700
BYER BERE JAL JAL | TNEKOJ [ KOJFUK 2,700 41%
RE=1E 55 RCEE) [ JAL JAL | HIJHND [ HNDAKJ 2,600 62% A H:30.600, A:31.400. +:30,700
BIE  [ERCHE)| JAL JAL | AKJHND | HNDHIJ 7.600 68%  £:28.900. H:28,20
RIL=EF [NTIES & JAL JAL JFUK | FUKKMI 9,200 62%  +:20.500. B:19.50
S &k JAL JAL | KMIFUK | FUKMYJ 7,700 65%  £:18,600, £:19,500, H:19,000
HHRPE) =FBEAL| BEXEHR 556 JAL _|JAL/RAC| ASJRNJ | RNJOKA .000 62%
AR = AR¥ [4IEERK)] JAL JAL | OIROKD [ OKDHKD .000 58% 1 H:15.000
BAEE  [HLIR(E¥)| JAL JAL | HKDOKD | OKDOIR .000 58% 1 H:15.000
SH=BEXE 5% [ih#8 38 [JAL/RAC] JAL [ RNJOKA | OKAASJ 400 52%




SEFRRAILE - 2022/9/1
HESH =45 _ E—oH
X f23::E10) = T E EE 9/20-9/22 | yal w5
HRCPAR) =% [RECAE)#[ A 8%H)| JAL |JTA/RAC| HNDOKA|OKAMMY| 27,100 62%  7K:26,900, A:35,500
EoF |48 (FBF) [UTA/RAC]  JAL |MMYOKA| OKAHND 27,100 62% [7K:26,700, A:26,000
HRCAR)=FE |RRCABE) #4835 | JAL |JITA/RAC|HNDOKA| OKAISG 28,000 64%  /K:27,600, A:37,900
KB (BFE) | JAL JTA | HNDKIX | KIXISG 38,000 57%
fiEF  [/F# GR%)|JTA/RAC]  JAL [ ISGOKA [ OKAHND| 27,900 65% | /K:27,200, &:26,500
KB (FFH =% Bl | KBR (A #[RE CHE) | JAL JAL | ITMHND |HNDMMB| 27,900 64%  7:31,300
AIE@E TR JAL JAL | ITMSPK [SPKMMB| 27,700 64% | A:29,200
ZiERE |[EECAE)| JAL JAL _|MMBHND| HNDITM 28,000 64% | 7:31,800
IR TFR) [ JAL JAL _|MMBSPK]| SPKITM 28,100 63%  |7K:28,300, A&:26,200
KB (BPE) =% i Bl | KRR (B9 PE) [ RE CHHE) | JAL JAL | KIXHND |HNDMMB| 24,200 69% | 7:29,900
AIE@E TR JAL JAL | KIXSPK |SPKMMB| 25,900 66% | A:28,000
ZiERE |[EECAHE)| JAL JAL _|MMBHND| HNDKIX 26,100 67%  7:30,600
AIE@E TR JAL JAL | MMBSPK| SPKKIX 22,600 71% _7K:22,800, A:25,100
KB (FFH =811 fBJI%E  [HFECHAHE)| JAL JAL | AKJHND | HNDITM 25,400 67% [7K:25,600, A:28,500
X (BF) =1B)I| fEJIFE  [EECHAE)|[ JAL JAL [ AKJHND | HNDKIX 24,300 68%  |/K:24,800., A&:28,500
R (7)) =8IE% | KR (RFD | HRCHA) | JAL JAL | ITMHND | HNDKUH 26,100 66%  |7K:26,800, A:32,000
HIERFE |[HECHH)| JAL JAL | KUHHND | HNDITM 27,900 63% | A:31,700
A (BFE) =8Bk | KR (BFE) R CHA)|  JAL JAL | KIXHND | HNDKUH 23,500 69% [7K:23,600, A:29,300
HIERFE [HECHH)| JAL JAL | KUHHND | HNDKIX 26,000 66% | A:30,500
AR () =®/E | KR EEFD F[FRCEA) | JAL JAL [ ITMHND [HNDOBO| 30,300 60% | 7A:32,300
HEFE  [RECHE)| JAL JAL | OBOHND| HNDITM 27,900 63% | A:31,000
Ak (BfE) =5 | KR (BEFE) R CHA)|  JAL JAL | KIXHND [HNDOBO| 25,900 66% | 4:28,300
HIEF  [RECHE)| JAL JAL | OBOHND| HNDKIX 26,000 65% | A:29,800
AR (771 =B | KR (EFD F|[HRCEA) | JAL JAL | ITMHND | HNDHKD 25,100 62% | 7:29,000
BREEH |HECPHE)| JAL JAL | HKDHND | HNDITM 28,000 58% | A:29,600
KR (BTG =R | KMR (BEFE) | RRCHMA)| JAL JAL | KIXHND | HNDHKD| 23,900 64% 7K:23,700, AK:29,100
BRAEH [HECPHE)| JAL JAL | HKDHND | HNDKIX 26,100 61% | 7:28,400
KR (D) ==iR [ KERUPFFD R RFECHIHE) | JAL JAL | ITMHND | HNDMSJ 24,700 61% | A:25000
=R%¥ [HEFECRHA)| JAL JAL [ MSJUHND [ HNDITM 21,800 66%  |7K:23,200, A:25,400
KBR (BETE) ==iR | KB (BEE) S| RECHHE) | JAL JAL | KIXHND | HNDMSJ 20,300 68% | A:23,100
=R [HEFECRH)| JAL JAL [ MSJUHND | HNDKIX 19,900 69% |7K:22,400, A:24,200
KR (7)) =02k | KBR (R FD % £ JAL JAL | ITMIZO | 1ZOOKI 15,300 61% | A:15,500
[ETES HE JAL JAL OKIIZO | 1ZOITM 16,100 59% | 7:16,300
KR (FFH =FE|XREFFME| BES JAL JAL | ITMKOJ | KOJTNE 24,300 50%
EYEE | BR JAL JAL [ TNEKOJ | KOJITM 26,200 46%
KR (B =2 |[KRUFFD R AR | JAL |JTA/RAC| ITMOKA |OKAMMY| 26,100 59% JK:25,900, AK:27,300
Eo% [P GREH)|JTA/RAC]  JAL [MMYOKA[ OKAITM 22,400 65% | A:21,500
Kz (BTE) == | KB (B3TE) AR5 | JTA |JTA/RAC| KIXOKA |OKAMMY| 31,700 50% | 7K:32,400
Eo®  [hE(IBF) [JTA/RAC]  JTA |MMYOKA| OKAKIX 31,800 50%  [7K:31,400, A:30,300
K () =F1E | KRR R[4 A5 | JAL |ITA/RAC| ITMOKA | OKAISG 26,600 62% 7K:26,400, &:27,800
AiEH  [h4E(BF) [JTA/RAC|  JAL | ISGOKA | OKAITM 25,400 64%  [7K:25,300, A:24,400
Kix (BET8) =F1E | KBx (B7E) %[44 5| JTA |JITA/RAC| KIXOKA | OKAISG 32,600 54%  7K:33,100, A:32,400
AiEF  [48 (FBF) [UTA/RAC| JTA | ISGOKA | OKAKIX 31,900 55%  |7K:31,800, A:30,600
ZHE (P8 =k HR| 2 EE PE) R ALIREFFH)|  JAL JAL | NGOSPK|SPKMMB| 28300 61% | 7:30,200
ZimpH [HE@FHFE) | JAL JAL _|MMBSPK|SPKNGO| 22,900 68%  7K:23,100, A:29,300
ZHE(FE) =204 |5 E (P &[4 )| JITA |JTA/RAC|NGOOKA|OKAMMY| 32,100 54%  [7K:32,300, A&:31,600
EoF [P JB#FH) |UTA/RAC]  JTA [MMYOKA|OKANGO| 32,400 53% [7K:31,800, A:31,600
ZHE(PE) =RIE|LHE(FEH) & GRFHE)[ JTA [JTA/RAC|NGOOKA| OKAISG 32,800 57%  [7K:33,000, A&:32,200
AiEF  [948 (FBFH) |UTA/RAC| JTA [ ISGOKA [OKANGO| 32,600 57%  [7K:32,300, A:32,100
FLIR (T F i) =/ MR [#IR FF) R[FRCHE) | JAL JAL | SPKHND [HNDKMQ|[ 25,600 63% | A:27,800
HIRFFR) AR IR TS R[ER(PE) | JAL JAL | SPKHND [HNDSHM| 30,100 61% | 7A:32,800
ERCEESR [FRCHA)| JAL JAL [ SHMHND| HNDSPK| 30,100 61% | 7A:32,800
FLIR (B Fm) =ML AR TS R[ERRE) | JAL JAL | SPKHND | HNDOKJ 29,900 62% | 74:31,900
RS |[ERCHE)| JAL JAL | OKJUHND | HNDSPK 27,500 65% | A:32,800
IR TR =LES[HEEF TR R RRTCHE) | JAL JAL | SPKHND | HNDHIJ 29,400 63% | A:33,600
LE% [RECHHE)| JAL JAL | HIUHND | HNDSPK 28,300 64% | A:33,600
FIR T8 =LOFH[ IR T8 #|RRCHE) | JAL JAL | SPKHND | HNDUBJ| 27,100 68% | 4:33,800
WOFERS |BRCHE)|  JAL JAL | UBJHND | HNDSPK 27,600 67% | A:35,200
IR (FFm) =HEHAREGTFH)E[ERPE) | JAL JAL | SPKHND | HNDIZO 31,500 59%
HER |[ERCHHE)| JAL JAL | IZOHND | HNDSPK 31,300 59% | A:31,500
IR TE) =ES[HEEFTH R RRTCHE) | JAL JAL | SPKHND | HNDTKS 28,600 63% | A:32,700
wEH |[HECHH)| JAL JAL | TKSHND | HNDSPK| 27,500 65% | A:32,700
IR T =R [fUEG TS R R CHE) | JAL JAL | SPKHND | HNDTAK| 31,200 60% | A:33,500
% [RERCHE)| JAL JAL | TAKHND | HNDSPK 28,500 63% | A:33,500
IR TR =25 [fUEG TS R R CHE) | JAL JAL | SPKHND | HNDKGZ| 30,900 61% | 7A:34,700
BHF [RECHHE)| JAL JAL | KCZHND | HNDSPK 28,900 64% | A:34,700
FLIR (B Fm) =L AR TS R[ER(RE) | JAL JAL | SPKHND [ HNDMYJ| 31,400 61% | 7:36,700
WilF  [RERCHE)| JAL JAL | MYJHND | HNDSPK 31,300 61% | A:36,700
HLIR (FF ) =JL M AR (i F8) | R CAE) | JAL JAL [ SPKHND | HNDKKJ 33,000 62% | 7A:35,200
JdEhMFE |HECHH)| JAL JAL | KKJHND | HNDSPK 29,600 66% | A:35,200
IR FFm) =KD IR EFFH) E[ERRE) |  JAL JAL | SPKHND | HNDOIT 30,800 64% 7K:31,200, A:35,200
Ao [HECHHE)| JAL JAL | OITHND | HNDSPK 31,300 63%  [7K:31,700, A:35,200
IR (FFm) =RBHIREFTFH) E[ERBFE) | JAL JAL | SPKHND | HNDNGS| 31,200 65%  7K:30,800, A:35,000
RIGH [RECHHE)| JAL JAL | NGSHND | HNDSPK 32,500 64%  [7K:31,300, A:36,900
LR (FFm) =RBARFIRETFH) E[ERBRE) | JAL JAL | SPKHND | HNDKMJ| 31,400 64% 7K:31,200, A:35,300
BEA% [HECHHE)| JAL JAL | KMUHND | HNDSPK 31,300 64%  [7K:30,500, A:36,100
IR FFm) =B [IREFTFH) E[ERAE) | JAL JAL | SPKHND | HNDKMI 30,800 64%  7K:30,400, A:35,300
HIEH [RECHE)| JAL JAL | KMIHND | HNDSPK 30,900 64% | A:36,600
HIREFFR)=EREARFFH X ERCAE)| JAL JAL | SPKHND | HNDKOJ| 32,000 64%  |7K:29,000, A:35,000
BRE&R |[EECHH)| JAL JAL | KOJHND | HNDSPK 32,100 64%  [7K:30,500, A&:37,100




IR (HFR) =R BB [FLIE (3 F%) % R CHE) | JAL JAL | SPKHND | HNDOKA| 33,600 63%  |7:42,300
ABR(FFD | JAL JAL | SPKITM | ITMOKA 22,500 76% | A:25,800
ZHEE(RE) [ JAL JTA | SPKNGO[NGOOKA[ 35,500 62%  |/K:35,400, A&:38,000
FIE] JAL JTA [ SPKFUK | FUKOKA| 37,600 61% | 7K7<:38,000
iR (BRER) FE[RECHE) [ JAL JAL | OKAHND | HNDSPK 32,800 64% | A:37,700
ABR(FFD | JAL JAL | OKAITM | ITMSPK 22,200 76% | A:25,400
ABr (BEFE) [ JTA JAL | OKAKIX | KIXSPK 29,500 68% | A:28,200
Z2HEECRE)]  JTA JAL | OKANGO|NGOSPK| 30,200 68% |7K:30,000, A:32,700
&t JTA JAL | OKAFUK | FUKSPK 37,600 61% | 7:38,600
IR (FFm) =REHRETFS) E[ERAHE) | JAL JAL | SPKHND | HNDISG 38,700 66% | 4:39,300
RIEH [RECHHE)| JAL JAL | ISGHND | HNDSPK 37,900 67% | A:39,600
Z2HEERE)|  JTA JAL | ISGNGO [NGOSPK| 42,5500 62%  |7K:39,600, A:46,500
AR FFR) == [AIREF TR R 2ERChED|  JAL JTA | SPKNGO [NGOMMY| 43,600 60%  7K:40,800. A:45400
&R =% Rl wmE% [EEGH)| JAL JAL | FUKHND |HNDMMB| 34,400 64% | 7:39,600
AIE@E TR JAL JAL | FUKSPK | SPKMMB| 30,000 66% | A:31,300
ZiERFE |[EECAHE)| JAL JAL _|MMBHND| HNDFUK 33,200 65% | A:37,600
IR TFR) [ JAL JAL _|MMBSPK] SPKFUK 26,500 70% _ 7K:26,700, A:29,600
&R =1l wmE% |[FFECAH)| JAL JAL | FUKHND | HNDAKJ 36,300 61%  7:37,400
HBJIZE |HECHHE)| JAL JAL | AKUHND | HNDFUK 29,500 69%  [7K:29,600, A&:37,400
1= =8I wE% |[FFERCAH)| JAL JAL | FUKHND | HNDKUH| 32,600 65%  7K:33,300, A:36,900
HIERFE |[HECHH)| JAL JAL | KUHHND | HNDFUK 33,100 64% | A:36,900
tER=m%h wE% |[FFERCAH)| JAL JAL | FUKHND [HNDOBO| 36,300 61% | 74:36,500
HIEF  [RERCHE)| JAL JAL | OBOHND| HNDFUK 33,100 64% | A:36,500
tERE =EfE wmE% [ERECH)| JAL JAL | FUKHND | HNDHKD| 31,000 63%  7K:30,800, A:36,600
ABR(FEFD|  JAL JAL | FUKITM [ ITMHKD 24,400 67% | 7A:30,500
EEEH [EECPHE)| JAL JAL | HKDHND | HNDFUK 33,200 60% | 7:35,200
ABR(RFD|  JAL JAL [ HKDITM | ITMFUK 23,200 69% | A:27,000
ER=5% wmE% [EECH)| JAL JAL | FUKHND | HNDAOJ| 23,000 72%
ABRUFFD|  JAL JAL | FUKITM | ITMAOJ 20,200 72% | 7:30,000
EHRE [ERCHEE)| JAL JAL [ AOJHND | HNDFUK| 23,000 72%
ABRUFFD|  JAL JAL | AOJITM | ITMFUK 20,200 72% | 7A:32,300
wE==iR HRERCHE)| JAL JAL | FUKHND | HNDMSJ| 21,000 74%
HERECRAE)[ JAL JAL | MSJHND| HNDFUK]| 21,000 74%
RBR(FFD | JAL JAL | MSJITM | ITMFUK 24,600 67%  7:36,800
&Rt =T E B |[FECHE)| JAL JAL | FUKHND | HNDAXT| 30,900 59% | 7:32,600
ME%X [ERECH)| JAL JAL | AXTHND | HNDFUK 29,700 61% | 7:32,600
ABR(FEFD|  JAL JAL [ AXTITM [ ITMFUK 19,900 71% | 7:29,100
&R =L wmE% [ERERCHE)| JAL JAL | FUKHND | HNDGAJ 23,900 64% | 7:28,800
ABR(REFD|  JAL JAL | FUKITM [ ITMGAJ 22,400 66% | A:31,000
Wk |[EERCEE)| JAL JAL | GAJHND | HNDFUK 24,000 63% | 7:28,900
ABR(FEFD|  JAL JAL | GAJITM [ ITMFUK 23,600 65% | A:31,000
R =/ HRERCHE)| JAL JAL | FUKHND |HNDKMQ| 25,100 65%  7K:24,400, A:26,300
RECRA)| JAL JAL _|[KMQHND| HNDFUK| 27,200 62%
ER==%h P8 (BRZ) [ JTA [JTA/RAC| FUKOKA [OKAMMY| 26,200 53% | 7A:25,900
B (FBE) [UTA/RAC]  JTA [MMYOKA[ OKAFUK 26,000 53%  |7K:25,600, A&:25,900
tER=FH1E P48 (FBFR) | JTA  |UTA/RAC| FUKOKA | OKAISG 26,900 57%  [7K:26,800, A:26,400
i (FBF) [UTA/RAC]  JTA | ISGOKA [ OKAFUK 26,900 57%  |7K:26,100, A:26,200
Zim Bl =15 AREFETFR) | JAL JAL | HNASPK [SPKMMB| 25,100 56%
A =1l& AIREFR) | JAL JAL _|MMBSPK| SPKSDJ 23,400 62%  7K:23,600, A:25,600
IR TR JAL JAL | SDJSPK [SPKMMB| 23,500 61%  7K:23,200, A:24,200
iR =% AIE@E TR JAL JAL _[MMBSPK| SPKKIJ 24,700 60% |7K:24,900, &:25,100
IR TR JAL JAL | KIUSPK [SPKMMB| 25,700 59% | 7:25,100
SRS FRCHE)| JAL JAL |MMBHND|HNDKMQ|[ 25,100 68% | A:29,000
HRERCHE)| JAL JAL _|[KMQHND|HNDMMB| 25,700 67% | 4:29,800
25 Al = Ll FRCHE)| JAL JAL _[MMBHND] HNDOKJ 29,800 66% | A:32,700
HRERCHE)| JAL JAL [ OKJHND [HNDMMB| 29,500 66% | A:34,300
i =IL8 FRCHE)| JAL JAL _[MMBHND| HNDHIJ 29,500 67% | A:34,600
HRERCHE)| JAL JAL [ HIJHND [HNDMMB| 29,700 67% | 4:36,200
AIE@E TR JAL JAL | HIJSPK [SPKMMB|  25.200 69% | 7:30,000
iGR =HE HRERCHE)| JAL JAL _|MMBHND| HNDIZO 31,900 63% | 7:36,400
¥ |HECHHE)| JAL JAL | IZOHND [HNDMMB[ 31,500 63% | A:36,400
iR =l ZiERE |HRERCAEH)| JAL JAL _|MMBHND| HNDMYJ 31,300 65% | 7:40,000
WLF  [RECHE)| JAL JAL | MYJHND [HNDMMB[ 30,300 66% | A:41,200
iR =hiE ZiERFE |HRERCAHE)| JAL JAL _|MMBHND| HNDISG 40,800 67%  7A:42,500
FiEH [RECHHE)| JAL JAL | ISGHND [HNDMMB[ 38,900 69% | A:42,900
TBJIT=/2 fBJISE [HFECHAHE)| JAL JAL | AKJHND [HNDKMQ| 23,300 69% [7Kk:23,800, A:29,200
MAF [RECHE)| JAL JAL _|KMQHND | HNDAKJ 27,000 64% | A:30,400
B =Faft Bk fBJISE [HFECHAHE)| JAL JAL | AKJHND | HNDSHM 24,600 71% _ 7:36,100
ERCEESR [FRCHA)| JAL JAL | SHMHND] HNDAKJ 32,700 61% | A:37,700
TEJI=FE L fBJI%E [HFECHAHE)| JAL JAL | AKJHND | HNDOKJ 26,800 69% | 7:32,900
RS |[ERRCHE)| JAL JAL | OKJUHND | HNDAKJ 28,800 66% | A:35,900
TEJI=HE fBJISE  [HFECPAHE)| JAL JAL | AKJHND | HNDIZO 28,600 66%  [7K:29,100, A:36,400
HE FRCHE)| JAL JAL | IZOHND | HNDAKJ 33,200 61% | A:36,400
TEJI=#x10 fBJISE [HFECHAHE)| JAL JAL | AKJHND | HNDMYJ 28,400 68% | 7:40,200
WilF  [RECHE)| JAL JAL | MYJHND | HNDAKJ 32,000 64% | A:41,500
TEJI=F1E fBJI%E  [HFECHAHE)| JAL JAL | AKJHND | HNDISG 39,000 68%  [7K:39,500, A:38,800
FiEH [RECHE)| JAL JAL | ISGHND | HNDAKJ 41,200 66% | A:43,500
&=/ HIEEE [HFECAH)| JAL JAL | KUHHND |HNDKMQ| 25,000 67% | 4:28,900
MAF [RERCHE)| JAL JAL _|KMQHND | HNDKUH 23,900 68%  |7K:24,600, A&:30,500
HIE =1L HIER%E [HFECAH)| JAL JAL | KUHHND | HNDOKJ 29,700 65% | A:32,600
LS [ERCHE)| JAL JAL | OKJHND | HNDKUH 27,700 67%  [7K:28,400, A&:35,000




HIBR=1L5 HIEEFE |HECHE)| JAL JAL | KUHHND | HNDHIJ 29,400 66% | 7:34,500
LEE% [HFECHA)| JAL JAL | HIUHND | HNDKUH| 27,900 68%  7K:28,600, A:36,900
IR =HE HIEEFE |[WECHEH)| JAL JAL | KUHHND [ HNDIZO 31,800 62% | 7:36,400
HER |[HRCHE)| JAL JAL | IZOHND | HNDKUH 29,700 64%  [7K:30,400, A:36,400
HIEE=Hr10 HIEEHE |[HECHEH)| JAL JAL | KUHHND [ HNDMYJ| 31,200 64% | 7A:39,900
Wil  [FFECEAHE)| JAL JAL | MYJHND | HNDKUH 28,500 67%  [7K:29,200, A&:41,500
HE=FH1 HIERHE |[WFECHAHE)| JAL JAL | KUHHND [ HNDISG 37,100 69%  /K:37,800, &:41,500
AEX [HFECHHA)| JAL JAL | ISGHND | HNDKUH 38,400 68%  [7K:39,100, A:42,300
WL =M HhEFE O [EFCHA)| JAL JAL _|OBOHND[HNDKMQ[ 25,000 66% | A:28,200
AR [HRERCHE)| JAL JAL _|KMQHND|HNDOBO| 27,000 64%  7:30,100
L =FE L wIEF  [RERCHE)| JAL JAL _|OBOHND| HNDOKJ 29,700 65% | A:32,000
FELZ  |[EHERFCHHE)| JAL JAL | OKJHND |HNDOBO| 30,400 64% | 7:34,600
HL=HE HhFE O [EFRCHA)| JAL JAL _[OBOHND| HNDIZO 31,800 62% | 7:36,400
HEX |[HRCHH)| JAL JAL | IZOHND |HNDOBO| 33,200 60% | 7:36,400
s =Hl HIEF  [RECHE)| JAL JAL _|OBOHND| HNDMYJ 31,200 64% | A:39,200
Wil  [FFECEHE)| JAL JAL | MYJHND |HNDOBO| 32,000 63% | 7:41,500
wh=Hh1E HhFE [EFRCHA)| JAL JAL _|[OBOHND| HNDISG 40,400 66% | A:41,000
AiER  [HRERGIHE)| JAL JAL | ISGHND |HNDOBO| 40,300 67%  7:41,300
BHAE =/ BREEH |HECPHE)| JAL JAL | HKDHND |[HNDKMQ|[ 25,100 62% | A:26,800
MR [HRERCHIE)| JAL JAL _|[KMQHND|HNDHKD| 24,300 63% |7K:24,100, A:28,600
BEEE =Ll BREEH |HECPHE)| JAL JAL | HKDHND | HNDOKJ 28,700 62% | 7:30,600
FELF |[EHERFRCHHE)| JAL JAL | OKJHND | HNDHKD 27,900 63% | 7:31,600
HE=L5 BHEEF [WECHHE)| JAL JAL [ HKDHND | HNDHIJ 29,500 62% | 7A:32,400
LEE% [HFECHA)| JAL JAL [ HIJHND |HNDHKD| 28,100 63% | A:32,800
EfE=HE EEEH |[HECPHE)| JAL JAL | HKDHND | HNDIZO 28,900 61%  [7K:28,700, A&:35,300
ABR(FFD | JAL JAL | HKDITM | ITMIZO 23,800 67%  7:21,800
HER [ERCHHE)| JAL JAL | IZOHND | HNDHKD 29,900 60% | A:35,300
ABR(FFD | JAL JAL | 1ZOITM | ITMHKD 25,000 65% | 7:26,800
BREE=HALL BEEEH [EECHHE)| JAL JAL | HKDHND [ HNDMYJ| 30,300 61% | 7A:37,800
ABR(FFD | JAL JAL | HKDITM | ITMMYJ 24,100 65% | 7:21,900
WiILF  [RECHHE)| JAL JAL | MYJHND | HNDHKD 28,700 63% | A:39,300
ABR(FFD | JAL JAL | MYJITM | ITMHKD 25,300 63% | 7:26,900
EREE=db BRAEH |HmFCRHE)| JAL JAL | HKDHND | HNDKKJ 28,600 66%
JERINFE [RECHEH)| JAL JAL | KKJHND | HNDHKD| 28,600 66%
BEfE=K% HEEH |[EECRHE)| JAL JAL | HKDHND | HNDOIT 21,900 73%
ABR(FFD | JAL JAL | HKDITM | ITMOIT 23,900 67% | K:25800
X% [RECHHE)| JAL JAL | OITHND | HNDHKD 21,900 73%
ABR(FFD | JAL JAL | OITITM | ITMHKD 25,100 65% | 7K:30,500
HfE=RI& EEEH |[EECRHE)| JAL JAL | HKDHND|HNDNGS| 22,400 74%
ABR(FFD | JAL JAL | HKDITM | ITMNGS 27,000 66% | K:26,400
RIGH [RECIHE)| JAL JAL | NGSHND | HNDHKD 22,400 74%
ARBR(FFD | JAL JAL | NGSITM | ITMHKD 28,200 65% | 7K:30,200
BEE=HREA HEEH |[EECRHE)| JAL JAL | HKDHND | HNDKMJ| 22,400 73%
ARBR(FFD | JAL JAL | HKDITM | ITMKMJ 24,300 68% | K:25600
BEA% [HRECIH)| JAL JAL | KMJHND | HNDHKD| 22,400 73%
ARBR(FFD | JAL JAL | KMJITM | ITMHKD 25,500 67% | 7K:29,800
EfE== & HEEH |[EECRHE)| JAL JAL | HKDHND | HNDKMI 22,400 73%
ABRFFD|  JAL JAL | HKDITM | ITMKMI 28,400 63%
FEH [RECHHE)| JAL JAL | KMIHND [HNDHKD| 22,400 73%
RBR(FFD | JAL JAL | KMITM | ITMHKD 29,000 62% | K:32,100
HEE=ERS HEEH |[EZECRHE)| JAL JAL | HKDHND | HNDKOJ 22,400 74%
RBR(FFD | JAL JAL | HKDITM | ITMKOJ 26,600 67% | 7K:26,300
BRE&R |EECHH)| JAL JAL | KOJHND |HNDHKD| 22,400 74%
ABR(FFD | JAL JAL | KOJITM | ITMHKD 26,600 67%  7:31,300
HE=F1E BREEH |HECPHE)| JAL JAL | HKDHND | HNDISG 39,300 65%  [7K:39,100, A:39,400
AIEX [HFECHA)| JAL JAL | ISGHND | HNDHKD 39,600 65%  [7K:39,400, A&:42,100
BH=/ 5% |HECHHE)| JAL JAL | AOJHND [HNDKMQ| 14,800 77%
AR [HRERCHE)| JAL JAL _|KMQHND|HNDAOJ| 15,300 76%
BA—EiLEE B |RECHHE)| JAL JAL [ AOJHND [HNDSHM| 28,200 61% | 7:30,100
BEitEER [RFERCHE)| JAL JAL | SHMHND | HNDAOJ 29,500 60%  7:30,100
BH=RELL SH% |HECHHE)| JAL JAL [ AOJHND [ HNDOKJ 26,200 65% | A:30,100
FELZ |[EHERFCHHE)| JAL JAL | OKJHND | HNDAOJ 25,700 65% | 7:28,400
BH=LS Ba%E  |[RECHHE)| JAL JAL [ AOJHND | HNDHIJ 26,100 65% | A:31,000
LEE% [HFECHA)| JAL JAL | HIJHND [HNDAOJ| 26,500 65% | 7A:30,200
AEHR=LOFH BA%E |[RECHHE)| JAL JAL [ AOJHND | HNDUBJ 23,400 71% | 7A:32,300
WOFER% |RRCHE)|  JAL JAL | UBJHND | HNDAOJ 24,100 70% | 7:30,300
BA-HE BH¥% |[EECHHE)| JAL JAL [ AOJHND | HNDIZO 27,400 62% | A:30,100
ABR(FFD | JAL JAL | AOJITM | ITMIZO 20,800 70% | A:27,100
HER [ERCHHE)| JAL JAL | IZOHND | HNDAOJ 29,400 60% | A:30,100
ABR(FFD | JAL JAL | 1ZOITM | ITMAOJ 20,800 70% | 7k:28,000
BEA=ES A% |EFCAE)| JAL JAL [ AOJHND | HNDTKS 20,300 72%
mEX [HFECHHE)| JAL JAL | TKSHND | HNDAOJ| 20,300 72%
BEH=-aN A% |EFCAE)| JAL JAL [ AOJHND | HNDTAK| 20,200 73%
=% [FRERCEIHE)| JAL JAL | TAKHND | HNDAOJ 20,200 73%
BH=EH % |RFCHAE)| JAL JAL [ AOJHND | HNDKCZ] 20,300 73%
=M% [FRERCEIHE)| JAL JAL | KCZHND | HNDAOJ 20,300 73%
BEHR=RL A% |[EZECRHE)| JAL JAL [ AOJHND [ HNDMYJ] 20,000 74%
ABR(FFD | JAL JAL | AOJITM | ITMMYJ 21,100 68% | K:27,200
WilF  [RECHHE)| JAL JAL | MYJHND | HNDAOJ 20,000 74%
ABR(FFD | JAL JAL | MYJITM | ITMAOJ 21,100 68% | K:26,400
AH=dnm A% |EFCAE)| JAL JAL [ AOJHND | HNDKKJ 21,800 74%
R [RECHH)| JAL JAL | KKJHND | HNDAOJ| 21,800 74%




BHR=KS BHE% |[EZECEE)| JAL JAL | AOJHND | HNDOIT 21,700 73%
ARBR(FFD | JAL JAL | AOJITM | ITMOIT 20,900 70%  [K:31,100
X% [RECHHE)| JAL JAL | OITHND | HNDAOJ 21,700 73%
ABR(FFD | JAL JAL | OITITM | ITMAOJ 20,900 70% [K:31,700
BEH=-REB A% |[EZECRAHE)| JAL JAL | AOJHND[HNDNGS| 23,200 73%
ABR(FFD | JAL JAL | AOJITM | ITMNGS 24,000 69% |K:31,700
RIGH [RECHHE)| JAL JAL | NGSHND | HNDAOJ 23,200 73%
ABR(FFD | JAL JAL | NGSITM | ITMAOJ 24,000 69% |K:31,000
BH-EX A% |[EZECRAE)| JAL JAL [ AOJHND | HNDKMJ| 21,800 74%
ARBR(FFD | JAL JAL | AOJITM | ITMKMJ 24,000 68% 7K:23,300, A:30,900
AR [HRECIHE)| JAL JAL | KMJHND | HNDAOJ| 21,800 74%
KPR (D[ JAL JAL [ KMJITM | ITMAOJ 21,300 71% | 7A:31,800
EHR=E& EHFE [EECHEE)| JAL JAL [ AOJHND | HNDKMI 21,800 74%
ABR(FFD|  JAL JAL [ AOJITM | ITMKMI 25,400 66% | A:33,700
EEF [EECHHE)| JAL JAL | KMIHND | HNDAOJ| 21,800 74%
ABR(RFD|  JAL JAL [ KMIITM [ ITTMAOJ 25,400 66% | A:33,300
EH=ERS EHFE [EECHEHE)| JAL JAL [ AOJHND | HNDKOJ| 23,200 73%
ABR(RFD|  JAL JAL [ AOJITM [ ITMKOJ 23,500 70% | 7:30,800
BREH [RECHH)| JAL JAL | KOJHND | HNDAOJ| 23,200 73%
RBR (FFH | JAL JAL | KOJITM | ITMAOJ 22,400 71%  K:32,500
BEHR=HE EHFE  |EECEHE)| JAL JAL [ AOJHND [ HNDISG 35,900 67% | K:37,300
FiEH [RECHHE)| JAL JAL | ISGHND | HNDAOJ 37,200 66% | A:36,600
ZiR=/ 2 =R% [HEFECRHA)| JAL JAL | MSJUHND|HNDKMQ| 14,800 77%
MAF [RECHE)| JAL JAL _|KMQHND | HNDMSJ 15,300 76%
ZIR=RWL SR%E [ERERGHE)| JAL JAL | MSJHND | HNDOKJ 23,600 68% | 7:26,300
RS |[ERCHE)| JAL JAL | OKJUHND | HNDMSJ 23,200 68% | A:25,600
ZR=IL8 =R%¥ [HEFECRHA)| JAL JAL | MSJUHND | HNDHIJ 23,300 69% 7K:23,900, A:28,200
LE% [RECHHE)| JAL JAL | HIUHND | HNDMSJ 22,600 70% | A:26,200
ZiR=1uO=xE =R [HEFECRHA)| JAL JAL | MSJUHND | HNDUBJ 20,800 74% _ 7K:23,300, A:28,300
WOFERS |BRECHE)|  JAL JAL | UBJHND | HNDMSJ 23,700 70% | A:27,500
ZIR=HE R%E |HERCHH)| JAL JAL | MSJHND | HNDIZO 25,700 64%  [7K:26,700, A:30,100
HE HEECRAE)[ JAL JAL | 1ZOHND |HNDMSJ| 25300 65% | 7A:30,100
ABR(FFD | JAL JAL | 1ZOITM | ITMMSJ 25,200 64% | 7:30,000
ZR=%&S =R%¥ [HECHHE)| JAL JAL | MSJHND | HNDTKS 19,300 73%
mEX [HFCHA)| JAL JAL | TKSHND | HNDMSJ 19,300 73%
ZiR=a =R%¥ [HECHHE)| JAL JAL | MSJHND | HNDTAK 19,200 74%
=i RFECAE)|[ JAL JAL | TAKHND | HNDMSJ 19,200 74%
ZiR=a% =R%¥ [HECHHE)| JAL JAL | MSJHND | HNDKCZ 19,300 74%
BA% [HEFECHHE)| JAL JAL | KCZHND [ HNDMSJ| 19,300 74%
ZiR=#L =R%¥ [HECHHE)| JAL JAL | MSJHND | HNDMYJ 19,000 75%
Wil [EECHE)| JAL JAL | MYJHND | HNDMSJ 19,000 75%
ABR(RFD|  JAL JAL [ MYJITM [ ITMMSJ 25,500 62% | 7:30,100
ZIR=4t M HRERCHE)| JAL JAL | MSJUHND | HNDKKJ 19,800 76%
HERECRAE)[ JAL JAL | KKJHND | HNDMSJ 19,800 76%
ZIR=X% HRERCHE)| JAL JAL | MSJHND | HNDOIT 19,700 75%
HEECRAE)[ JAL JAL | OITHND | HNDMSJ 19,700 75%
ABR(FFD | JAL JAL | OITITM | ITMMSJ 25,300 64% | K:33,700
ZR=R&% FRCHE)| JAL JAL | MSJHND | HNDNGS 21,200 75%
HRERCHE)|[ JAL JAL | NGSHND|HNDMSJ| 21,200 75%
ABR(RFD|  JAL JAL [ NGSITM [ ITMMSJ 25,500 67% | 7:33,000
ZR=8 X HRERCHE)| JAL JAL [ MSJUHND|HNDKMJ| 19,800 76%
HEECRAE)[ JAL JAL [ KMJHND | HNDMSJ 19,800 76%
ABR(FFD | JAL JAL | KMJITM | ITMMSJ 28,600 62% 7K:28,100, A:32,700
ZiR=E% FRCHE)| JAL JAL | MSJHND | HNDKMI 19,800 76%
ABR(FFD | JAL JAL | MSJITM | ITMKMI 29,200 61% | 7K:36,400
HERECRAE)[ JAL JAL | KMIHND | HNDMSJ 19,800 76%
ABR(FFD | JAL JAL | KMITM | ITMMSJ 30,100 60% | 7K:35,300
ZIR=EBRS HRCHE)|[ JAL JAL | MSJHND | HNDKOJ 21,200 75%
ARBR(FFD | JAL JAL | MSJITM | ITMKOJ 27,900 65% | 7K:36,900
HERECRAE)[ JAL JAL | KOJHND [ HNDMSJ| 21,200 75%
ABR(FFD | JAL JAL | KOJITM | ITMMSJ 25,200 68% | 7:34,500
=R=A1 HERECRAE)[ JAL JAL [ MSJUHND [ HNDISG 34,600 68%  |/K:37,100, A:36,100
RFECAE)|[ JAL JAL [ ISGHND |HNDMSJ| 34,600 68% | 4:36,100
A=/ RECRE)| JAL JAL | AXTHND [HNDKMQ| 17,200 70%
HRERCHE)| JAL JAL _|[KMQHND| HNDAXT| 17,100 70%
MHE=FaE KEFE  [EHERCHE)| JAL JAL | AXTHND [HNDSHM[ 26,800 59%
FfCEESR [HECHA)| JAL JAL | SHMHND| HNDAXT| 26,800 59%
FE=RELL EFE  [RFECHE)| JAL JAL | AXTHND | HNDOKJ 26,300 61% | A:26,800
FELF |[EHERFCHHE)| JAL JAL | OKJHND | HNDAXT 23,700 65% | 7:26,800
MHE=L5 FEFE [HERCHH)| JAL JAL [ AXTHND | HNDHIJ 27,400 60% | A:28,500
LE% [HFECHA)| JAL JAL [ HIJHND | HNDAXT| 23,100 66% | A:28,500
ME=ILAFE MEH [HERCHH)| JAL JAL | AXTHND | HNDUBJ 23,600 68% | 74:29,900
WOFER% |RRCHE)|  JAL JAL [ UBJHND | HNDAXT| 24,200 67% | 7A:29,500
ME=HE B [EECHH)| JAL JAL | AXTHND | HNDIZO 26,800 59%
ARBR(FFD | JAL JAL | AXTITM | ITMIZO 21,700 66% | 7K:23,900
HE HRCHE)|[ JAL JAL | IZOHND | HNDAXT 26,800 59%
ABR (D] JAL JAL | IZOITM | ITMAXT 20,500 68% | K:24,600




MH=ES A |FFCAHE)| JAL JAL | AXTHND | HNDTKS 20,200 70%
mEX [HFECHHE)| JAL JAL | TKSHND | HNDAXT| 20,200 70%
MHE=EH MEH |[RFCHAHE)| JAL JAL | AXTHND | HNDTAK| 20,200 70%
=%  [FERERCEIHE)| JAL JAL | TAKHND | HNDAXT 20,200 70%
ME=5% MEH |[RFCHAHE)| JAL JAL | AXTHND | HNDKCZ] 20,300 71%
=M% [FEREREIHE)| JAL JAL | KCZHND | HNDAXT 20,300 71%
FE=L MEH [ERCHAH)| JAL JAL | AXTHND | HNDMYJ| 20,400 71%
ABR(FFD | JAL JAL | AXTITM | ITMMYJ 20,800 66% | K:24,000
WiLF  ["RECHHE)| JAL JAL | MYJHND | HNDAXT 20,400 71%
ABR(FFD | JAL JAL | MYJITM | ITMAXT 20,800 66% | 7:24,700
FE=dt M MEH [FERCHH)| JAL JAL | AXTHND | HNDKKJ 29,400 61% | 7:31,000
dEhmFE |HFECHAH)| JAL JAL | KKJHND | HNDAXT 26,600 65% | 7:31,000
ME=X7 MEHF [EZERCHAH)| JAL JAL | AXTHND | HNDOIT 28,000 62%  JK:27,600. A&:31,000
ABR(FFD | JAL JAL | AXTITM | ITMOIT 20,600 68%  7A:27,900
X% [RECHHE)| JAL JAL | OITHND | HNDAXT 27,900 62%  |7K:28,300, A&:30,600
ABR(FFD | JAL JAL | OITITM | ITMAXT 21,800 66%  7:30,500
ME=R&K MERE [EECEE)| JAL JAL | AXTHND [ HNDNGS| 28400 64%  |/K:27,200, A:31,000
KBR(FFH | JAL JAL | AXTITM | ITMNGS 23,700 67% | A:28,500
FiBER [EERGIHE)| JAL JAL | NGSHND| HNDAXT| 29,100 63%  7K:27,900, A:31,400
ABR(RFD|  JAL JAL | NGSITM [ ITMAXT 20,800 71% | A:27,600
HE=FEX ME%X [EREGH)| JAL JAL | AXTHND | HNDKMJ| 28,000 63%  7K:27,600, A:31,400
ABR(REFD|  JAL JAL [ AXTITM [ ITMKMJ 22,200 68% | A:27,700
BAK [ERCHA)| JAL JAL | KMJHND | HNDAXT| 27,900 63%  7K:27,100, A:31,400
ABR(RFD|  JAL JAL [ KMJITM [ ITMAXT 23,900 66% |/K:23,400, &:30,600
MH==& ME%X [EREGH)| JAL JAL | AXTHND | HNDKMI 28,400 62%  [7K:27,200, A:31,400
ABR(RFD|  JAL JAL [ AXTITM | ITMKMI 26,600 62% | 7A:30,500
ECE N ESACED] NS JAL | KMIHND | HNDAXT 27,500 64%  7:31,000
ABR(RFD|  JAL JAL | KMIITM [ ITMAXT 26,600 62% | A:32,100
MHE=FER ME%X [EREGH)| JAL JAL | AXTHND | HNDKOJ 19,700 75%
ABR(RFD|  JAL JAL [ AXTITM [ ITMKOJ 24,400 67% | 7A:29.200
BREH [RECHH)| JAL JAL | KOJHND | HNDAXT 19,700 75%
ABR(REFD|  JAL JAL [ KOJITM [ ITMAXT 23,800 68% | A:32,100
MHE=h1E A% [FFEREGH)| JAL JAL | AXTHND | HNDISG 35,100 66%  7:33,900
FiEH [RECHHE)| JAL JAL | ISGHND | HNDAXT 35,100 66% | A:34,900
EE=HZE AR [ XRUFFD|[ JAL JAL | HNAITM | ITMIZO 29,600 56% |7/K:25,600
TE&E=HL wEx [ RERUFFD| JAL JAL [ HNAITM [ ITMMYJ 25,200 61% | 7A:30,500
MLFE | KROFEFD| JAL JAL | MYJITM | ITMHNA 30,500 53%
EE=X% weEX [ KERUFFD| JAL JAL [ HNAITM | ITMOIT 26,400 61% | 7A:32,200
KoFE [ KERUFFD| JAL JAL | OITITM | ITMHNA 31,900 52% | 7:32,200
EE=RIA EEH [ ARUFFD| JAL JAL | HNAITM | ITMNGS 28,200 62% | A:34,600
% [ KEREFEFD| JAL JAL | NGSITM | ITMHNA 31,200 58% | 7:34,600
TEE=REX EEH [KRMEFEFD] JAL JAL [ HNAITM [ ITMKMJ 31,400 57% 7K:26,800, A&:33,400
AKX [XKERUEEF| JAL JAL | KMJITM | ITMHNA 33,400 54%
EE=EIk EEH  [KRUFFD|[ JAL JAL | HNAITM | ITMKMI 33,400 54%  7K:31,200
FlE] JAL JAL [ HNAFUK | FUKKMI 30,200 62% 7K:26,400, A:30,700
HEH [ KEROFFD| JAL JAL | KMITM | ITMHNA 33,400 54%
flE] JAL JAL | KMIFUK | FUKHNA| 30,600 62% | 7:30,200
EE=REES EEXE [ RERUFFD| JAL JAL | HNAITM | ITMKOJ 33,600 56%  7K:28,300, A&:34,600
BEREH |XIRUEFD| JAL JAL | KOJITM | ITMHNA 33,400 56% | 7K7K:34,600
IIEATNA W% |[RERCHHE)| JAL JAL | GAJUHND |HNDKMQ 16,800 65% | A:20,800
MR [HRERCHE)| JAL JAL _|KMQHND | HNDGAJ 17,200 64% | 7:20,800
L% =Rl W% |[RERCHHE)| JAL JAL | GAJUHND | HNDOKJ 18,600 68% | A:22,600
FELF  |[EHERFCHHE)| JAL JAL | OKJHND | HNDGAJ 18,600 68% | 7:23,800
WH=L5 W% |[RERCHHE)| JAL JAL | GAUHND | HNDHIJ 22,200 62% | A:25,200
LEE% [FRERGIHE)| JAL JAL | HIUHND | HNDGAJ 19,900 66% | A:24,200
W =1LAFER W% |EFERCHE)| JAL JAL [ GAJHND [ HNDUBJ 18,400 71% | A:22,900
WOFER% |RRCHE)|  JAL JAL | UBJHND | HNDGAJ 18,700 70% | :25,700
W =HE W% [RECHHE)| JAL JAL | GAJUHND | HNDIZO 22,100 61% | A:28,400
ABR(FFD | JAL JAL | GAJITM | ITMIZO 23,600 63% | JKAK:28,100
HE FRCHE)| JAL JAL | IZOHND | HNDGAJ 22,100 61% | A:28,400
ARBR(FFD | JAL JAL | 1ZOITM | ITMGAJ 28,100 55%  |7K:23,600, A:28,400
=85 WkeH  |ERCHE)| JAL JAL | GAJUHND | HNDTKS 19,000 67% | A:26,500
®EEH |HFECPAH)| JAL JAL | TKSHND | HNDGAJ 19,600 66% | A:27,000
iR == W% |EHERRCHE)| JAL JAL | GAJHND | HNDTAK 19,600 66% | 7:26,000
S% [RECHE)| JAL JAL | TAKHND | HNDGAJ 20,900 63% | A:26,000
e =1l Wk |[ERCGEE)| JAL JAL | GAJHND | HNDMYJ 18,700 69% | 7:26,800
ABR(REFD|  JAL JAL [ GAJITM [ ITTMMYJ 23,300 61% | 7A:26,800
Wil [EECHE)| JAL JAL | MYJHND | HNDGAJ 20,000 67%  7:26,800
ABR(FEFD|  JAL JAL [ MYJITM [ ITMGAJ 23,300 61% | 7A:26,800
k=X5 Wk |[ERCGEE)| JAL JAL | GAJHND | HNDOIT 22,800 65% [7K:21,600, A:25,600
ABR(RFD|  JAL JAL | GAJITM | ITMOIT 23,100 63% | 7A:30,100
AH% [EECEHA)| JAL JAL | OITHND | HNDGAJ 23,600 63%  [7K:22,400, A:26,800
ABR(FFD|  JAL JAL [ OITITM [ ITMGAJ 28,200 55%  7K:23,700., &:30,100
Wiz =R Wk |[ERCGEE)| JAL JAL | GAJHND | HNDNGS 23,200 66%  [7K:22,000, A:26,000
ABR(RFD|  JAL JAL [ GAJITM [ ITMNGS 26,200 63%  7K:30,000, &:32,700
FiBER [EERGIHE)| JAL JAL | NGSHND| HNDGAJ 24,300 64%  7K:23,300, A:27,600
ABR(RFD|  JAL JAL | NGSITM [ ITMGAJ 28,400 60%  |7K:26,200, A&:32,300




Wiz =REX FRCHE)| JAL JAL | GAUHND | HNDKMJ 22,800 65%  |7K:22,400, £:26,000
ABR(FFD | JAL JAL | GAJITM | ITMKMJ 24,700 64%  [7Kk:28,600, A:31,000
HRERCHE)| JAL JAL | KMJHND | HNDGAJ| 23200 65%  |7K:22,800, A:27,600
ABR(FFD | JAL JAL | KMJITM | ITMGAJ 28,600 58%  [7K:24,100, A:31,000
Wiz ==k FRCHE)| JAL JAL | GAJUHND | HNDKMI 23,200 65%  |7K:22,000, A:25,700
ABR(FFD | JAL JAL | GAJITM | ITMKMI 28,500 58% | JKAK:31,000
HRERCHE)|[ JAL JAL | KMIHND | HNDGAJ| 22,800 65% | /K:21,600, &:26,800
ABRFFD|  JAL JAL | KMITM | ITMGAJ 31,000 55%  7K:28,500
LE=ERS FRCHE)| JAL JAL | GAJUHND | HNDKOJ 22,100 68% | A:26,400
ABR(FFD | JAL JAL | GAJITM | ITMKOJ 26,900 63%  [7K:30,800, A:32,700
HRERCHE)|[ JAL JAL | KOJHND | HNDGAJ| 23,600 66% |/K:22,800, A:28,000
ABR(FFD | JAL JAL | KOJITM | ITMGAJ 29,700 59%  [7K:25,200, A:32,700
I =F1E HECRAE)[ JAL JAL | GAJHND [ HNDISG 32,500 65% | A:32,700
RFECAA)|[ JAL JAL [ ISGHND | HNDGAJ| 32,500 65% | A:34,300
lls=H=E ABRUFFH [ JAL JAL | SDJITM | ITMIZO 26,100 58%  JK:25,600, A:26,800
ABR(FFD | JAL JAL | 1ZOITM | ITMSDJ 26,000 58%  [7K:26,500, A:26,800
il s =#il ABRUFFH [ JAL JAL [ SDJITM [ ITMMYJ 22,000 63% | A:26,500
ABR(FFD | JAL JAL | MYJITM | ITMSDJ 21,400 64% | 7:23,200
il =X% ABRUFFH [ JAL JAL [ SDJITM | ITMOIT 22,600 63% | 7:30,100
ARBR(FFD | JAL JAL | OITITM | ITMSDJ 21,500 65% | 7:26,800
il =K ABRUFFH [  JAL JAL [ SDJITM [ ITMNGS 26,100 63% | A:31,000
AR (FFD|  JAL JAL | NGSITM | ITMSDJ 25,300 64% | 7:27,800
fils =X ABRUFFH [ JAL JAL [ SDJITM [ ITMKMJ 23,000 66% | A:30,600
AR (FFD | JAL JAL | KMJITM | ITMSDJ 24,500 63%  [7K:24,000, A:26,900
il =g ABRUFFH [ JAL JAL [ SDJITM | ITMKMI 27,400 59% | 7:32,700
ARBR(FFD | JAL JAL | KMITM | ITMSDJ 28,300 58%  7:30,100
e=kERS ABRUFFH [ JAL JAL | SDJITM | ITMKOJ 25,900 64%  JK:25,500, A&:32,100
AR (FFD | JAL JAL | KOJITM | ITMSDJ 26,600 63%  [7K:27,000, A:32,500
Fim=HE ABRUFFH [ JAL JAL KIJITM | ITMIZO 24,300 59%
ABR(FFD | JAL JAL | 1ZOITM | ITMKIJ 23,300 61%  [7K:23,800, A:24,300
Fim=H1l ABRUFFH [ JAL JAL KIJITM | ITMMYJ 19,500 66%  JK:19,900, A:23,200
AR (FFD | JAL JAL | MYJITM | ITMKIJ 20,500 64% [7K:19,800, A&:21,600
Fim=K7 ABRUFFH [ JAL JAL KIJITM | ITMOIT 21,500 64% | A:27,100
ABR(FFD|  JAL JAL | OITITM | ITMKIJ 20,300 66%  [7K:19,600, A:26,800
FR=R& AR (BEFH][ JAL JAL [ KIJITM [ ITMNGS 21,100 69%  /K:21,900, &:27,300
ARBR(FFD | JAL JAL | NGSITM | ITMKIJ 22,600 66% | 7:24,500
Fim=REA ABRUFFD [ JAL JAL KIJITM | ITMKMJ 21,900 66% | A:26,900
3 ABRUFFD|  JAL JAL | KMJITM | ITMKIJ 23,600 64%  [7K:22,400, A:26,100
FR=2& Fia% [ KERGUFFD][ JAL JAL | KIJITM | ITMKMI 24,100 63%  |/K:24,900, &:29,700
=R [ KRUFFD|[ JAL JAL | KMITM | ITMKIJ 25,600 60% | 7:28,400
FiR=ERS g | KRURFD| JAL JAL KIJITM | ITMKOJ 24,800 64%  JK:24,400, AK:28,400
BEREH |XKIRUEFD| JAL JAL | KOJITM | ITMKIJ 22,800 67%  A:27,600
AN =FE L VRFE [BRFECHE)| JAL JAL _|KMQHND | HNDOKJ 21,700 66% | A:22,400
FELZ |[EHERFCHHE)| JAL JAL | OKJUHND [HNDKMQ| 20,900 67%  7A:22,200
INR=IEE MK [EFECRA)| JAL JAL _|KMQHND| HNDHIJ 22,500 65% | A:24,200
LEE% [FEREREIHE)| JAL JAL | HIUHND |HNDKMQ| 21,200 67% | 7A:24,200
A= LOFER IMAF [EFECRA)| JAL JAL _|KMQHND] HNDUBJ 18,100 74% | A:23,800
WOFER% |RCHE)|  JAL JAL | UBJHND |HNDKMQ 18,100 74% _ A&:23,100
IMA=HE RAFE [BRFERCHE)| JAL JAL _|KMQHND| HNDIZO 23,800 62% | A:26,400
HEX |[HRCHH)| JAL JAL | IZOHND [HNDKMQ| 23,700 62% | 7:26,400
IMRA=1ES MK [EFECRA)| JAL JAL _|KMQHND| HNDTKS 20,400 68% | A:25,500
mER [HRERCIHE)| JAL JAL | TKSHND |HNDKMQ| 20,700 67% | A:25,500
IMR=FH RN HRERCHE)|[ JAL JAL _|KMQHND| HNDTAK| 23,000 64% | A:24,900
=% [FEREREIHE)| JAL JAL | TAKHND [HNDKMQ| 20,900 67% | A:24,900
IMR=F5 MAE  [FRERCHE)|[ JAL JAL _|KMQHND| HNDKCZ| 20,400 69% | A:27,300
=% |EECHE)| JAL JAL | KCZHND [HNDKMQ| 22,100 66% | A:27,300
IMR=HAL IVRFE [BRFERCHE)| JAL JAL _|KMQHND| HNDMYJ 21,800 67% | A:26,800
Wil [FFECEHE)| JAL JAL | MYJHND [HNDKMQ| 22,500 66%  7:26,800
INA=JE RN IMAF [RECHE)| JAL JAL _|KMQHND | HNDKKJ 24,800 66% | A:26,900
dEhmFE |HFECHH)| JAL JAL | KKJHND [HNDKMQ| 22,500 69% | A:25,600
IME=K5 MAK [EFECRA)| JAL JAL _|KMQHND] HNDOIT 22,600 68%  7K:23,000, A:25900
An%  [HEREREHE)| JAL JAL | OITHND [HNDKMQ| 23,000 68% [7K:22,600, A:25,400
Mr=RIG MAK [EFECRA)| JAL JAL _|KMQHND|HNDNGS| 24,200 68%  JK:23,400, A:25,000
R [HFECHA)| JAL JAL | NGSHND|HNDKMQ| 23,700 68%  7K:22,700, A:25,000
IMR=FER MK [EFECRA)| JAL JAL _|KMQHND|HNDKMJ| 22,600 69% JK:21,800, A:25,000
BEAR [HRERGIHE)| JAL JAL | KMJHND [HNDKMQ| 23,400 68%  [7K:23,000, A:25,400
INR=E I MAK [EFECRA)| JAL JAL _|KMQHND] HNDKMI 22,200 69% JK:21,000, A:24,700
R [FFERCIHE)| JAL JAL | KMIHND [HNDKMQ| 21,800 70% _ 7K:21,400, A:24,600
IM=RERE MAF [RECHE)| JAL JAL _|KMQHND| HNDKOJ 17,500 77%
BEREH [RWECHH)| JAL JAL | KOJHND |HNDKMQ| 18,500 75%
ME=ETH K [P GEE)|  JTA  [JTA/RAC[KMQOKA[OKAMMY| 33,600 53%  7K:28,300, A&:33,200
EoF [P 3% |UTA/RAC] JTA [MMYOKA|OKAKMQ| 33,900 53%  [7K:28,900, A:34,200
IMRA=F1E VAT [ERECHE)| JAL JAL _|KMQHND| HNDISG 31,900 68% | A:31,300
P#E(RE;) | JTA  [UTA/RAC[KMQOKA[ OKAISG 34,400 56%  |7K:29,100, A&:34,100
RIEH [RECHHE)| JAL JAL | ISGHND |HNDKMQ| 31,500 69% | A:31,300
%8 (BRE;) [JTA/RAC]  JTA [ ISGOKA [OKAKMQ| 34,400 56%  7K:28,600, A:33,800
== FLE [P GRE) | JTA |JTA/RAC| OKJOKA |OKAMMY| 34,500 46% 7K:27,900, AK:34,000
BEoF [ FB#FH) [UTA/RAC| JTA [MMYOKA| OKAOKJ 28,100 56% |7K:27,700, A:31,800
mL=rmia FEWLFE  [FEEEH)| JTA [JTA/RAC| OKJOKA| OKAISG 35,400 50%  |/K:28,600, A&:34,700
AiEF 48 (FBF) |UTA/RAC| JTA | ISGOKA | OKAOKJ 28,900 59%  [7K:28,200, A:32,300
BH=EE SEF 1ak JAL JAL | KCZFUK | FUKKMI 22,700 58% | A:25,300
B FelE] JAL JAL [ KMIFUK | FUKKCZ 22,700 58% | A:25,600




B =55 |MRGEHR R|[EECIA)| JAL JAL | OKAHND | HNDAOJ| 32500 63% | 7:33,400
ARBR(FFD | JAL JAL | OKAITM | ITMAOJ 22,900 74% | 7:30,600
H%E | KRUEEFD| JAL JAL | AOJITM | ITMOKA 22,800 74% | AK:29,100
s (BRER) #B(IRE) | HRCAE)|  JAL JAL | OKAHND | HNDMSJ 28,300 67%  7:30,500
(RS =RE [P GRR) R RECIHE) | JAL JAL | OKAHND| HNDAXT| 29,200 64% | A:32,500
AR (FFD | JAL JAL | OKAITM | ITMAXT 24,100 71% | 7:29,400
A | KERUEFEFD| JAL JAL | AXTITM | ITMOKA 24,100 71% | A:26,700
iR (RER) =1t PR GRE) F[KBRUFFD|  JAL JAL | OKAITM | ITMHNA 29,300 66%  7K:35,000, A:33,300
&t JTA JAL | OKAFUK| FUKHNA| 38400 57%
EEFK  [KEREEF| JAL JAL | HNAITM | ITMOKA 27,300 68% | K:34,400
12 fit] JAL JTA | HNAFUK | FUKOKA| 38400 57%
R GRER) =1L PR GRER) R [T CHA)|  JAL JAL [ OKAHND [ HNDGAJ 26,200 63% | 4:28,700
ABR(RFD|  JAL JAL | OKAITM [ ITMGAJ 30,500 63%  |7K:26,000, A:29,800
Wk |[EERCGEH)| JAL JAL | GAUHND | HNDOKA| 26,600 62%  7:30,100
ABR(RFD|  JAL JAL [ GAJITM [ ITMOKA 26,000 68%  |/K:30,500, A:28,400
R =& MR R &R JTA JAL | OKAFUK | FUKSDJ 32,900 62% | 74:38,900
ABR(RFD|  JAL JAL | OKAITM | ITMSDJ 23,800 70% | A:25,700
&Es 1= JAL JTA | SDJFUK | FUKOKA 34,000 61%  [7K:34,400, A:39,700
ABR(FEFD|  JAL JAL [ SDJITM [ ITMOKA 24,100 70% | A:27,600
s (BRER) =/ |hEE GIRER) | R CHA) | JAL JAL | OKAHND|HNDKMQ| 27,200 65% | A:27,400
HEGEES) =aH PEGER R =M JTA JAL | OKAFUK | FUKKCZ 26,400 58%
EAIF 1= JAL JTA | KCZFUK | FUKOKA 26,400 58%
PGS =L PEGEER R =M JTA JAL | OKAFUK | FUKMYJ 24,600 59%
[NITE:S 1= JAL JTA | MYJFUK | FUKOKA 24,600 59%
HRCPB) =EXXB|ER(PH | ERS JAL JAL | HNDKOJ | KOJASJ 27,300 64%  |7K:25,400, A&:29,000
ABR(FFD|  JAL JAL | HNDITM | ITMASJ 30,800 57%  7:32,900
BEEXEH | BES JAL JAL | ASUKOJ | KOJHND 28,500 63%  JK:27,400. K:31,600
KBR(FFD | JAL JAL | ASJITM | ITMHND 32,600 55% | 7:32,800
RRCHE)=ERAB|RRPE)E| BES JAL JAL | HNDKOJ | KOJKKX 28,500 63% | A:31,600
BERE | JAL JAL | HNDASJ | ASUKKX 28,500 59% | 7:41,600
ERER BRS JAL JAL | KKXKOJ | KOJHND 30,000 62%  |7K:28,400, A&:30,900
BERE | JAL JAL | KKXASJ | ASJHND 28,500 59% | 7:40,500
RRCHE) =EZE|RRPE)E| BES JAL JAL | HNDKOJ | KOJTKN 29,500 64% | A:32,600
BERE | JAL JAL | HNDASJ | ASJTKN 31,000 58% | 7:41,700
BeER BER JAL JAL | TKNKOJ | KOJHND 31,300 61%  7K:30,200, A:32,600
HRCRE) =#XxBHERCAH)%| ERE JAL JAL | HNDKOJ | KOJOKE 30,400 64%  [7K:29,900, A:33,100
HKBEFE | BRS JAL JAL | OKEKOJ | KOJHND 32,200 62%  JK:31,100, A:33,500
RRCHB)=5#% [RECPHR) | ERES JAL JAL | HNDKOJ | KOJRNJ 34,800 60% _ 7K:30,000, A:33,600
5w BRS JAL JAL | RNJKOJ | KOJHND 34,700 60%  [7K:29,200, A&:34,500
KRR =EEXB|XIRFEFDH| ERE JAL JAL | ITMKOJ | KOJASJ 24,000 61%  [7K:23,600, A:25,300
EEXEH | BES JAL JAL | ASUKOJ | KOJITM 25,000 59% JK:25,400, A:29,400
KR (D =ERE|XR(EMFE| _ERES JAL JAL | ITMKOJ | KOJKKX 27,000 57% _ 7K:26,600, A:27,900
BERE [ JAL JAL | ITMASJ | ASJUKKX 29,100 48%
EREH ER JAL JAL | KKXKOJ | KOJITM 26,400 58%  7K:26,800, A:29,900
BERE [ JAL JAL | KKXASJ | ASJITM 29,100 48%
KR (RFH =& XREFE | EBRE JAL JAL | ITMKOJ | KOJTKN 28,000 58% 7K:27,600, A:28,900
BeER BERS JAL JAL | TKNKOJ | KOJITM 27,800 58%  7K:28,200, A:31,300
EEAS | AL JAL | TKNASJ | ASJITM 31,600 48%
KR () =4k BRE| KR (RFD %| EBRS JAL JAL | ITMKOJ | KOJOKE 28,900 58%  |7K:28,500, A:29,800
AUKBREFE | EER JAL JAL | OKEKOJ| KOJITM 28,700 59% 7K:29,100, A:32,600
KR () =5 | KIR(BFH | _EBEES JAL JAL | ITMKOJ | KOJRNJ 33,300 53%  7K:29,000, A:30,300
EEAS | AL JAL | ITMASJ | ASURNJ 35,400 49%
ERS JAL JAL [ RNJKOJ | KOJITM 33,100 54% 7K:29,600, &:31,600
ER=8%XS5 ER JAL JAL | FUKKOJ | KOJASJ 19,300 62%
BRS JAL JAL | ASUKOJ | KOJFUK 21,500 58% | A:23,300
ER=ER/5 BER JAL JAL | FUKKOJ | KOJKKX 23,300 56%
BERE [ JAL JAL | FUKASJ | ASUKKX 22,500 56%
EEAS | AL JAL | KKXASJ | ASUFUK 22,500 56%
ER=1Ez5 BRE JAL JAL | FUKKOJ | KOJTKN 24,300 57%
EEXS | AL JAL | FUKASJ | ASJTKN 25,000 55%
BRS JAL JAL | TKNKOJ | KOJFUK 24,300 57%
EEXS | JAL JAL | TKNASJ | ASUFUK 25,000 55%
RECHE)=5HE|RRECAA) #[ P GREHR) | JAL RAC _[HNDOKA[OKAOGN| 35200 59% | 7:40,300
Fig JAL RAC | HNDISG | ISGOGN 29,400 66% | 4:28,100
EHEFR |H#EGREH)| RAC JAL | OGNOKA| OKAHND 30,500 65% | A:30,600
= RAC JAL | OGNISG [ ISGHND 29,400 66% | 4:28,100
KR (FFH =5 30E | X8R (R FH [ (GRER) | JAL RAC [ ITMOKA [OKAOGN| 34,200 56% | A:35,900
S5MEH | EEGREHR)| RAC JAL | OGNOKA| OKAITM 34,200 56% | 7:35,900
KR (B7E) =530 E | KRR (BE7E) S48 GRER) | JTA RAC [ KIXOKA [OKAOGN| 39,400 50%
Fig JTA RAC | KIXISG | ISGOGN 39,400 46%
EHEFR |H#EGREH)| RAC JTA | OGNOKA| OKAKIX 39,400 50% | 7:38,900
FiE RAC JTA | OGNISG | ISGKIX 39,400 46% | A:38,900
ZHE (PR =5RE|2EE ) R[FE@FHH)| JIJTA RAC__|NGOOKA|OKAOGN| 40,200 52% |7/K:40,400
FiE JTA RAC | NGOISG | ISGOGN 40,300 49% _7K:39,500
EHEFR |H#EGREH)| RAC JTA | OGNOKA|OKANGO|[ 40,400 52%  |7K:40,300, A:40,200
FiE RAC JTA [ OGNISG [ ISGNGO 40,300 49% _7K:39,500
[FEITEEEE:ES] RS B GRE) | JTA RAC [ OKJOKA [OKAOGN| 39,400 50%  |7K:36,200
S5MEH [ hEEGREH)| RAC JTA | OGNOKA| OKAOKJ 39,400 50% _ 7K:36,200
&t =5 E BRI [PEGRE)|  JTA RAC | FUKOKA [OKAOGN| 34,300 51%  JK:34,600, A&:34,500
S5MER | EEGREH)| RAC JTA | OGNOKA| OKAFUK 34,100 51%
B (B =EME[ PR GF|HEX| FHIE [JTA/RAC| RAC | OKAISG | ISGOGN 11,800 72%  7K:11,500, A&:11,200
EXHEES AiE RAC _|JTA/RAC| OGNISG | ISGOKA 12,500 70% _ 7K:11,800, A:11,700




RRECHE) =AXE|[RECHH) #| 44 (B | JAL |JTA/RAC| HNDOKA | OKAUEO 25,900 59% | 7:38,300
AKEF |48 AR [avvrarac] JAL  [UEOOKA| OKAHND| 25,900 59% | 7:25,400
KR (FFH = A KB | X8R (R FH [ p#E (BB2R) | JAL |JTA/RAC| ITMOKA | OKAUEO 24,900 55% | A:26,700
AKES | h#E(GRE) [svurarac]  JAL | UEOOKA| OKAITM 24,900 55% | 7:24,300
KR (BEFE) = AKX 5| KPR (B97E) 5|48 RF) [ JTA [JTA/RAC| KIXOKA | OKAUEO 30,500 45% 7K:31,400, K:31,100
AKEFE |8 [savvtarac] JTA  |UEOOKA| OKAKIX 29,400 47% | A:28,500
ZHE(PR) =AXB[2EE R FEFH)| JTA [ITA/RAC/NGOOKA| OKAUEO| 30,900 49% _7K:31,300, &:31,000
AKEF |48 AR [avvrarac] JTA |UEOOKA|OKANGO| 31,200 49% |7k A:31,000
BR=AXS e [P GR%EH) [ JTA [JTA/RAC| FUKOKA [OKAUEO| 25,000 47% |7k A:25,300
AKES [P48(ARF) [avorarac] JTA |UEOOKA| OKAFUK| 24,900 47% _ |7k:25,000, A:25,400
RERECPA) =2 |RRECPHE) %[ XRAEFFD| JAL JAL | HNDITM | ITMOKI 20,800 62% | A:21,600
HE JAL JAL [ HNDIZO | 1ZOOKI 20,300 60% | 7A:23,700
AER RFD] JAL JAL | OKIITM [ ITMHND 20,600 63% | A:22,500
HE JAL JAL [ OKIIZO | IZOHND 21,000 59% | 7:26,500
iR GRE) =38 | ABRUFFH [ JAL JAL | OKAITM | ITMKIJ 23,100 70% | 7:24,100
ABR(FFD | JAL JAL KIJITM | ITMOKA 21,600 72%  [7K:22,400, A:25,900
2R = LR (BT %) FRCHE)| JAL JAL | FUKHND | HNDSPK 34,300 60% | A:39,800
IR F ) F|RFCAE)|  JAL JAL | SPKHND | HNDFUK| 33,100 62% | A:37,400
BEH=XEA BHE%E  |AREFETH)| JAL JAL | AOJSPK|SPKMMB| 19,700 62% | A:21,900
ZimpH [HE@FHFE) | JAL JAL _|MMBSPK| SPKAOJ| 20,600 60% |7K:20,800, A:23,000
B =25 FEFE  |AEEFTH)| JAL JAL | AXTSPK [ SPKMMB| 21,700 61%  [7K:21,600, A&:23,000
ZimpH [HE@FHFE) | JAL JAL _|MMBSPK| SPKAXT| 21,500 62% 7K:21,600, A:23,000
ZHE(PE) =L |2 EE (P E[FRCHAE) | JAL JAL _|NGOHND|HNDOBO| 27,000 61% | A:29,300
HRE O |[ERERCHRHE)| JAL JAL _|OBOHND|HNDNGO| 25,000 64% | 7A:27,000
ZHE(PE) =B |2 EE(E)H[FRCHE)| JAL JAL _|NGOHND | HNDAKJ 27,000 62% | A:31,800
fBJISE  [HFECPAHE)| JAL JAL | AKJHND |HNDNGO]| 21,400 70% | 7k:28,000
B =25l % [EFRCHA)| JAL JAL | TAKHND [HNDMMB| 29,900 66% | 4:39,300
ZERE |HRERCAHE)| JAL JAL _|MMBHND| HNDTAK 30,300 65% | 7A:37,500
wmE=%3 wmEH |[HECHEH)| JAL JAL | TKSHND [HNDMMB| 28,100 68% | 7:38,200
ZERFE |HRERCHAEH)| JAL JAL _|MMBHND| HNDTKS 28,500 67%  7:37,700
Ry =%iEHl AoF [EFERCHHE)| JAL JAL | OITHND [HNDMMB| 23,400 75%
Zimpl% |RECHHE)| JAL JAL _|MMBHND| HNDOIT 23,400 75%
RIG=2%&31 F5E% [FRERCHE)| JAL JAL | NGSHND[HNDMMB[ 23,900 76%
Zimpl% |RECHE)| JAL JAL _|MMBHND| HNDNGS 23,900 76%
REAR =253 BEA% [HECHE)| JAL JAL | KMJHND [HNDMMB[ 23,900 75%
Zimpl% |RECHHE)| JAL JAL _|MMBHND| HNDKMJ 23,900 75%
EEEES ] HEH [EERCHE)|[ JAL JAL | KMIHND [HNDMMB[ 23,900 75%
Zimpl% |RECHE)| JAL JAL _|MMBHND| HNDKMI 23,900 75%
BRE=%iH53 BEREH |HFTCHAHE)| JAL JAL | KOJHND [HNDMMB[ 23,900 76%
Zimpl% |RECHHE)| JAL JAL _|MMBHND| HNDKOJ 23,900 76%
IR FFR) =BEAB IR FHTH) [ /R CHE)|[ JAL JAL | SPKHND | HNDASJ| 38,200 61% | 7A:50,300
BEREH [HRFRCHHA)| JAL JAL [ ASUHND | HNDSPK| 38,200 61% | 7A:53,200
BHR=BEXRE B |[RECHHE)| JAL JAL [ AOJHND [ HNDASJ 36,300 61% | 7:48,200
BEREH [HRFRCHHA)| JAL JAL [ ASUHND [ HNDAOJ| 36,300 61% | 7A:48,800
MEA=8XXE MEH [HERCHH)| JAL JAL [ AXTHND [ HNDASJ 36,800 58% | A:42,300
BEREH [HRFRCHHA)| JAL JAL [ ASUHND | HNDAXT| 34,600 60% | 7A:48,000
INA=BEKXRES MAE  [FRERCHE)|[ JAL JAL _|KMQHND| HNDASJ 30,600 64% | A:42,100
BEREH [HRFRCHHA)| JAL JAL | ASUHND |HNDKMQ| 30,600 64% | A:41,600
S =385 SFE  [FFERCHE)| JAL JAL | TAKHND | HNDKUH 28,100 67%  |7K:28,800, A:40,000
B [HFECPAH)| JAL JAL | KUHHND | HNDTAK| 30,200 64% | 7A:37,300
EE=3I% wEH |HECHH)| JAL JAL | TKSHND | HNDKUH 26,300 69%  [7K:27,000, A&:37,600
HIERE [HFECPAH)| JAL JAL | KUHHND | HNDTKS 28,400 66% | A:37,600
Ko =4 Ao% [FERERCHAE)|[ JAL JAL | OITHND [HNDKUH[ 22,400 76%
HIEEFE [RWECHH)| JAL JAL | KUHHND | HNDOIT 22,400 76%
KRG =5 FG% [FERERCHE)| JAL JAL | NGSHND|HNDKUH| 22,900 76%
HIEEFE [WECHH)| JAL JAL | KUHHND | HNDNGS| 22,900 76%
REAR=1k% BEA% [HECHE)| JAL JAL | KMJHND [ HNDKUH[ 22,900 75%
HIEEFE [RWECHH)| JAL JAL | KUHHND | HNDKMJ| 22,900 75%
=i =HE% HEH [EERCHE)|[ JAL JAL | KMIHND [HNDKUH[ 22,900 75%
HIEEFE [RWECHH)| JAL JAL | KUHHND | HNDKMI 22,900 75%
BRS=3I% BEREH |HFTCHAHE)| JAL JAL | KOJHND |HNDKUH| 22,900 76%
HIEEFE [RWECHH)| JAL JAL | KUHHND | HNDKOJ 22,900 76%
LE=% LE% [RECHHE)| JAL JAL | HIUHND [HNDOBO| 31,400 63% | A:36,500
HWEE |[ERERCHRHE)| JAL JAL _[OBOHND| HNDHIJ 29,400 66% | A:33,800
BR=%5 =% [EFRCHA)| JAL JAL | TAKHND [HNDOBO| 31,600 62% | 7:39,600
HEE |[ERERCHHE)| JAL JAL _[OBOHND| HNDTAK| 30,200 64% | 74:36,600
BE=%h EEH |[RHECHHE)| JAL JAL | TKSHND [HNDOBO| 29,800 64% | 7A:36,600
HWRE O |[ERERCHHE)| JAL JAL _|OBOHND| HNDTKS| 28,400 66% | A:36,900
Ko=%k Ao% [ERERCHEE)|[ JAL JAL | OITHND [HNDOBO[ 22,000 76%
HhHE |[EFRCAA)] JAL JAL | OBOHND]| HNDOIT 22,000 76%
RIE="FI5 FE% [FERERCHE)|[ JAL JAL | NGSHND[HNDOBO| 22,500 76%
HhE |[EFRCAA)] JAL JAL _|OBOHND|HNDNGS| 22,500 76%
BAR=%5 BEAH [HRERCHE)| JAL JAL | KMJHND [HNDOBO[ 22,500 76%
HhE |[EFRCEAA)] JAL JAL _|OBOHND|HNDKMJ| 22,500 76%
BiF="%5 HEH [ERERCHE)| JAL JAL | KMIHND [HNDOBO| 22,500 76%
HhE |[ERCEAAE)] JAL JAL | OBOHND| HNDKMI 22,500 76%
BRE&E=% BEREH |HZTCHAHE)| JAL JAL | KOJHND [HNDOBO| 22,500 76%
HhE |[EFRCAA)] JAL JAL | OBOHND| HNDKOJ 22,500 76%
BN == fBJIZE [RFECHAE)| JAL JAL | AKJHND | HNDTAK| 28400 67% | 7:38,000
BM% [ERCEE)] JAL JAL | TAKHND | HNDAKJ| 30,800 64% | A:41,600
EfE=m BREEH |HECPHE)| JAL JAL | HKDHND | HNDTAK 30,300 60% | A:35,200
=% [FREREIHE)| JAL JAL | TAKHND | HNDHKD 28,000 63%  [7K:27,800, A:37,200
HE=E5 BHEEF R (CHHE)| JAL JAL [ HKDHND [ HNDTKS 28,500 62% | A:35,500
mEF [ERGH)| JAL JAL | TKSHND | HNDHKD| 26,700 64%  7K:26,500, A:37,400




RRERCPH)=2F [RECHH)%| & JAL JAL | HNDHKD | HKDOIR 23,700 58% 7K:23,500, A:28,900
HRHF BREE JAL JAL | OIRHKD |HKDHND| 23,800 58% | 7A:25,600
AR (R FH) =B HERFE EREE JAL JAL | OIRHKD | HKDITM 22,100 66% | A:21,200
R =8 MR R EH JTA JAL | OKAFUK | FUKTKS 28,700 55% | 7:29,300
EEH 1@ JAL JTA | TKSFUK | FUKOKA| 28,700 55%  7K:29,100, A&:29,300
BIN=ES fBJI%E  [HFECPAHE)| JAL JAL | AKJHND | HNDTKS 25,500 70% _ 7K:26,000, A:37,900
wEH |[RHECHHEH)| JAL JAL | TKSHND | HNDAKJ 29,800 65% | A:38,800
TEJI=XK5 fBJISE [HFECHAHE)| JAL JAL | AKJHND | HNDOIT 21,400 77%
A% [HECHHE)| JAL JAL | OITHND | HNDAKJ 21,400 77%
IR (B3 =RFR AR (E¥) F| EfE JAL JAL | OKDHKD| HKDOIR 17,600 53%
B BHEE JAL JAL | OIRHKD | HKDOKD 17,600 53%
HI3E =EREE HIERH LR (EER)| JAL JAL | KUHOKD| OKDHKD| 20,200 54%
B LiR (EEBE) [ JAL JAL | HKDOKD | OKDKUH 20,200 54%
FR =g Fll R F LiR (E¥E) | JAL JAL | RISOKD | OKDHKD 22,200 52% | K:23,400
B LR (EEBE) [ JAL JAL | HKDOKD | OKDRIS 24,200 48%
F R =4#IB% FEES LiR (E¥E) | JAL JAL [ KUHOKD| OKDRIS 23,600 53% | A:24,200
BR&=1JI BEREH |HFTCHAHE)| JAL JAL | KOJHND | HNDAKJ 21,900 77%
fBJISE  [HFECHAHE)| JAL JAL | AKJHND | HNDKOJ 21,900 77%
RIG=18JIl FE% [FERERCHE)| JAL JAL | NGSHND| HNDAKJ 21,900 77%
fBJISE [HFECPAHE)| JAL JAL | AKJHND | HNDNGS 21,900 77%
REAR=1BJI| BEA% [HECHE)| JAL JAL | KMJHND | HNDAKJ 21,900 77%
fBJIE  [HFECHAHE)| JAL JAL | AKJHND | HNDKMJ 21,900 77%
EICESE HEH [ERERCHE)| JAL JAL | KMIHND | HNDAKJ 21,900 77%
fBJISE [HFECPAH)| JAL JAL | AKJHND | HNDKMI 21,900 77%
RR(PH) =XE [REPH)%| EX JAL JAL | HNDKMJ | KMJAXJ 19,000 66%  JK:18,600, A:21,000
KXEH BEX JAL JAL [ AXJKMJ [KMJUHND| 19,400 65% sk:18,600, &:21,000
RRCPE) | &k JAL JAL [ HNDFUK | FUKAXJ 24,200 61% | A:27,800
KXEH FlE] JAL JAL [ AXJFUK | FUKHND | 27,300 56% | 4:28,700
KR (R =XE [ KERFFDH| #EX JAL JAL [ ITMKMJ | KMJAXJ 17,000 57%  JKZ:16,300
KXEH BEX JAL JAL [ AXJKMJ | KMJITM 16,800 58% 7K 7:16,300
ARUFFDF| 18R JAL JAL | ITMFUK | FUKAXJ 14,600 67% | A:22,300
XEH FElE] JAL JAL | AXJFUK | FUKITM 17,800 60% | 74:23,800
IR GHHFR) =XREFEFTRR| EE JAL JAL | SPKFUK | FUKAXJ 29,900 63% | A:30,300
KXEH  iE) JAL JAL | AXJFUK | FUKSPK | 29,900 63% | 74:30,900
BEREB=HKRE| EXXEH | EzS JAL JAL | ASUTKN | TKNOKE 11,900 60%
MKBREFE | ELS JAL JAL | OKETKN | TKNASJ 11,900 60%
E2E=HEHR) | BExER | HKBE | JAL JAL | TKNOKE [ OKEOKA 15,600 58%
B (RE) FK| AKBEER | JAL JAL | OKAOKE | OKETKN 15,600 58%
RRCHE) =BFE(REPHR)E| BES JAL JAL | HNDKOJ | KOJTNE 30,100 53% | A:28,100
ErTEX | BRE JAL JAL | TNEKOJ | KOJHND 29,000 54%
RRCHE)=EBAB|REPH)E| BES JAL JAL | HNDKOJ | KOJKUM 29,700 54% | A:27,700
BAEE | BES JAL JAL _|[KUMKOJ|KOJHND| 28,900 56%
KR (FFH =BAB|XRUFFE| BES JAL JAL | ITMKOJ | KOJKUM 24,300 52%  JKZK:23,900
BABH BRE JAL JAL | KUMKOJ| KOJITM 26,200 48%
BE=EBAS FEEES BERS JAL JAL | FUKKOJ | KOJKUM 21,700 46%
BABH BRE JAL JAL | KUMKOJ| KOJFUK 22,700 43%
RE=1EF5 [ ES BERE JAL JAL | FUKKOJ | KOJTNE 23,100 40% | A:22,700
BETEX BR JAL JAL | TNEKOJ | KOJFUK 22,700 41%
LE=1BII LEE% [ERCHAA)| JAL JAL [ HIJHND [ HNDAKJ 31,400 64% | 7A:39,000
fBJIEE [HFECPAHE)| JAL JAL | AKJHND | HNDHIJ 27,600 68% | 7:35,200
wil =g [AIIE:S 1ak JAL JAL | MYJFUK | FUKKMI 19,500 61% | 7:20,600
EIEH & JAL JAL [ KMIFUK | FUKMYJ 17,700 65% | A:21,100
BB =EEXE| BEXEH il JAL _[JAL/RAC| ASURNJ | RNJOKA| 20,700 50%
R =& BHR%E [AREZK|] JAL JAL | OIROKD | OKDHKD 18,000 58%
EREEH [HLIR(EE)| JAL JAL | HKDOKD | OKDOIR 18,000 58%
B=EEXES 5% 8 (I8F) [JAL/RAC] JAL | RNJOKA | OKAASJ 22,400 52%




SE BRI 2022/9/1
BERM X E—4
XFE #id - TR S 9/26-9/30 | yaln "%
RHRCHE) =27 [HEECRE) [ F# G| JAL [JTA/RAC| HNDOKA|OKAMMY 6,700 63%
Bo% | 4@G0%8) [JTA/RAC|  JAL _|MMYOKA| OKAHND 6,700 63
RRECPHE)=RE |RR(PB) R[PEFRHE)| JAL |ITA/RAC| HNDOKA | OKAISG 7,300 65
KBz (A7) | JAL JTA [ HNDKIX | KIXISG 8,000 57
GiEH @ BH) [JTA/RAC|  JAL | ISGOKA | OKAHND 7,200 65!
KB () =%t B | ROk (R FH) S8 RE CRE) | JAL JAL [ ITMHND [HNDMMB 8,200 4 K:27,800, £:28,100
ALIE TR | JAL JAL [ ITMSPK [SPKMMB 7,700 4
TimBlR [RRERCHAE)| JAL JAL _[MMBHND]| HNDITM 8,100 4 AR#:27,700
ALIE TR | JAL JAL _[MMBSPK| SPKITM 8,100 3%  |4:28,300
KBx (BAF8) =%t B | KPR (REE) 56| BE CRIE) | JAL JAL | KIXHND [HNDMMB 4,200 69% | A#:24,100
ALIE TR | JAL JAL | KIXSPK [SPKMMB ,900 66%
TimplR [RRERCHAA)| JAL JAL _[MMBHND]| HNDKIX ,200 67% | AK#£:25800
ALIE TR | JAL JAL _|[MMBSPK]| SPKKIX ,600 71%  |%:22,800
Kb (BFH =) | KR () %[ RECRE) | JAL JAL | ITMHND | HNDAKJ 500 3%
JBINFE |HECRE)| JAL JAL | AKJHND [ HNDITM 5,400 7%
Kb (BEEE) =8)Il | KPR (B97E) %R CRIE) | JAL JAL | KIXHND | HNDAKJ 5,100 7%
JBINFE |HECRE)| JAL JAL | AKJHND | HNDKIX 4,200 68%
KB (A =88 | KB () F|RECHHE) | JAL JAL | ITMHND | HNDKUH 6,400 65 7}:26,100
HIEE% |[RRCHE)|[ JAL JAL | KUHHND | HNDITM 7,600 64
KBy (BETE) =#I% | ABx (BAF8) F|RR CHHEH) | JAL JAL | KIXHND | HNDKUH 3,500 69 A£:23,200
HIERFE [RRCPE)|[ JAL JAL | KUHHND | HNDKIX 5,700 66
KB (A =I5 | KB (D) F|RRCHE) | JAL JAL | ITMHND [HNDOBO 1,000 9% |/K:30,300, %:30,900
HWHEFE |RECRE)| JAL JAL _|OBOHND| HNDITM 7,100 4%
KBy (BTE) =75 | AR (B3F8) F|RE CHHE) | JAL JAL | KIXHND [HNDOBO 5,900 6%
HEE [REERCHHE)| JAL JAL _|OBOHND| HNDKIX 5,600 6% | A%:25,300
Kb (BFH) =ifE | KR (FFD R[RECRA) | JAL JAL | ITMHND | HNDHKD 5,000 2% | A%:24,900
BEEER |RECRHE)| JAL JAL | HKDHND | HNDITM 8,100 58% | A%:27,700
KR (BET5) =88 | KB (B978) S| RE(CPA)| JAL JAL | KIXHND [HNDHKD| 23,800 64% | AR%:23,700
BEEER |[RECRHA)| JAL JAL | HKDHND | HNDKIX 6,200 1% | A%:25.800
KB (D) F|RRCHHE) | JAL JAL [ ITMHND [HNDMSJ 5,400 0% | 7K:24,700, %:25,300
R¥E |HZECHHE)| JAL JAL | MSJHND | HNDITM 1,800 6% 423,200
KB (B978) | RR (FIH) [ JAL JAL | KIXHND [ HNDMSJ 0,300 68%
ZR%E |[EmCRE)| JAL JAL [ MSJHND [ HNDKIX 9,900 69% | %:22,400
KB (R FH =Rk | KBR () % JAL JAL | ITMIZO | 1ZOOKI 5,800 59 A%:15,300
[E0ES JAL JAL | OKIIZO | 1ZOITM 6,100 59
KB () =18F B | KRk (FFH) % JAL JAL [ ITMKOJ [ KOJTNE 4,300 50% | %:25,200
EFER JAL JAL | TNEKOJ [ KOJITM 6,200 46! A :28,500
KR (B =% | KR (EF % JAL _[JTA/RAC| ITMOKA | OKAMMY 5,700 60
EEEd JTA/RAC| JAL |MMYOKA| OKAITM 000 6
PNACEIE JTA_[JTA/RAC| KIXOKA |OKAMMY ,300 5 7K:31,400, £:30,900
EhE JTA/RAC| JTA |[MMYOKA[ OKAKIX 400 £:30,600
K (BFH =FR1E | KR (FFH % JAL _[JTA/RAC| ITMOKA | OKAISG ,200 3
RiEHE JTA/RAC| JAL | ISGOKA | OKAITM ,300 4% | 5:25,400, %:24,400
Kbk (BE#8) =R1E | Kk (B9FE) % JTA _[JTA/RAC| KIXOKA | OKAISG ,900 55 7K:32,000, £:31,600
AiE% |48 () [JTA/RAC| JTA | ISGOKA | OKAKIX ,900 55 7}:31,800, %:31,500
ZEE(PH) =%H5 [2HE (3 R [ARFHFR | JAL JAL [ NGOSPK|SPKMMB ,300 61
ESFEA JAL JAL _|MMBSPK| SPKNGO ,900 68 £:23,100
AEE(FH) ==& &HE (P %[ JTA _|JTA/RAC|NGOOKA|OKAMMY ,700 54% | AR#£:31,500
EEEd JTA/RAC| JTA |MMYOKA|OKANGO ,200 55% | H:32,000, 7K:31,600, A:31,500, £:31,800
AEE(FH) =HE24E G FEFH) | JTA [JTA/RACINGOOKA| OKAISG ,100 58% | H:32,300
AiEFE [P GRE) [JTA/RAC] JTA [ ISGOKA [OKANGO ,100 8% | H:32,500, 7K:32,400, A:32,000, £:32,300
MIRFTR) =M ARFTHR|RFHHE)| JAL JAL | SPKHND [HNDKMQ ,300 3%
MMaF  |EFECEE)|  JAL JAL _|KMQHND| HNDSPK ,300
LR (87 F 5%) = A2 B R ALIE (i Fam) % | SR CRIE) | JAL JAL | SPKHND [HNDSHM ,700
FfCEER [RR(CPA)| JAL JAL | SHMHND | HNDSPK 800
MIRFTR) =BIL[AEFETHR|RFTEH)| JAL JAL | SPKHND | HNDOKJ 600
RS [RRCHHE)|[ JAL JAL | OKJHND | HNDSPK ,900 6
LIRFTR) =LS[AEFTHR|RFTHH)| JAL JAL | SPKHND | HNDHIJ 00 3%
LE8% |[RECRHE)| JAL JAL | HIJHND | HNDSPK 7,800 65%
IR (1 F5) = LOF& [ AR G Fm) % | SRR CRE) [ JAL JAL | SPKHND [ HNDUBJ 6,800 68%
WAFARFE [RR(FHE)|[  JAL JAL | UBJHND | HNDSPK 7,300 67
IRFTR) =—HELRFTHR|RFTPH)| JAL JAL | SPKHND | HNDIZO ,400 59
HER |[RRERCAHE)| JAL JAL | IZOHND | HNDSPK ,300 59
IRFTR) =ESAEFETHR|RFTPH)| JAL JAL | SPKHND | HNDTKS ,300 64
mE% |RRCHE)| JAL JAL | TKSHND | HNDSPK 7,500 65
IRFTR) =R [ARFETHR|RFTHH)| JAL JAL | SPKHND | HNDTAK 0,900 0
=% |[RRCHE)| JAL JAL | TAKHND | HNDSPK 8,000 4
IRFTR) =0 [AREFTHR|RFTHH)| JAL JAL | SPKHND | HNDKCZ 0,500 2
=A% |RRCHE)|[ JAL JAL | KCZHND | HNDSPK ,900 4
MIRFTR) =RIL[AEFTHR|RFTEHE)| JAL JAL | SPKHND [ HNDMYJ ,000 A%£:31,100
AL [RERCHE)| JAL JAL | MYJHND | HNDSPK ,100 A%:31,300
FLIE FF %) =JL A [ALIR i F ) % [ SR (HE) | JAL JAL | SPKHND | HNDKKJ ,700
dEAME [RRPH)|[ JAL JAL | KKJHND | HNDSPK 000 6
IRFTR) =KD [ARFTHR|RFEH)| JAL JAL | SPKHND | HNDOIT ,500 4 :30,900
A% |EECHH)| JAL JAL | OITHND [ HNDSPK ,000 4 7K:30,600, £:31,400
LIRFTR) =RB[AREFTHR|RFTEH)| JAL JAL | SPKHND [HNDNGS ,000 65 7K:30,600, £:30,500
RIBE |[RRCHAA)| JAL JAL | NGSHND | HNDSPK ,200 4 A%:31,000
MIRFTR) =BAAREFETHR|RFTEH)| JAL JAL | SPKHND [ HNDKMJ ,000 4 7K:30,500, £:30,900
AR |HEZCHHE)| JAL JAL | KMJHND [ HNDSPK ,000 4 A%:30,200
IRFTR) =SB [LEFTHR|RFTEH)| JAL JAL | SPKHND | HNDKMI 0,500 65 A%:30,100
=R |EZECEE)| JAL JAL | KMIHND [ HNDSPK 0,600 65 7K:30,200
IR FR) =ERS[ARGHTR [ CHE) | JAL JAL | SPKHND [ HNDKOJ 1,700 64% | A:30,900, %:29,000
ERBH |[HZECRHE)| JAL JAL [ KOJHND [ HNDSPK 1,800 64 K:31,000, £:30,200




LR (BT A =50 (BRED [ ALIR (BT Fa%) R AL CRIE) | JAL JAL | SPKHND | HNDOKA| 33,500 63%
KR (EFD | JAL JAL | SPKITM [ ITMOKA | 225500 76%
ZEE (P& | JAL JTA | SPKNGO|NGOOKA| 33,400 64% | A%:33300
& JAL JTA | SPKFUK | FUKOKA| 37,600 61%
PR (IR F R CHE) | JAL JAL | OKAHND|HNDSPK[ 32800 64%
KBR(BFD[  JAL JAL | OKAITM [ ITMSPK 21,700 77%
KB (BAF) [ JTA JAL | OKAKIX | KIXSPK 29,500 68% | %:28,300
ZEE(PE)|  JTA JAL | OKANGO|NGOSPK| 29,600 68% | A %:30,200, 7K:30,000, A:29,800
2 JTA JAL | OKAFUK| FUKSPK| 37,600 61%
ALIR BT =B 1E AR F TR ¥ S CRE) [ JAL JAL [ SPKHND [ HNDISG 38,100 67%
RERX [ERCEH)| JAL JAL | ISGHND [HNDSPK[ 37,900 67%
ZEE (P& JTA JAL | ISGNGO [NGOSPK| 38,100 66%
FIEFTR) ==a [AEFTRR[LEE(PEH] JAL JTA [SPKNGO[NGOMMY[ 40,000 63%
& =2 Bl wmEFE [ERERCRE[ JAL JAL | FUKHND [HNDMMB[ 34,400 64%
ARETFR [ JAL JAL | FUKSPK [SPKMMB| 30,200 66%
ZiEpFE |[RRCEA)| JAL JAL _|MMBHND| HNDFUK [ 33,500 65%
TR JAL JAL _|MMBSPK| SPKFUK | 26,500 70%
t2RE =)l [ERES = JAL JAL | FUKHND | HNDAKJ 35,600 62%
JEES JAL JAL | AKJHND [ HNDFUK| 29,800 68%
12 =g [ERES JAL JAL | FUKHND [HNDKUH[ 32,600 65%
P JAL JAL | KUHHND | HNDFUK| 33,000 65%
B ="%5 [ERES JAL JAL | FUKHND [HNDOBO| 36,400 61% | A%:36.500
HILFE JAL JAL | OBOHND| HNDFUK]| 32,5500 65%
12 =R FEEES JAL JAL | FUKHND [HNDHKD| 30,900 63%
JAL JAL | FUKITM [ ITMHKD | 24,400 67%
HER JAL JAL | HKDHND | HNDFUK| 33,500 60% | A%:33,100
JAL JAL | HKDITM | ITMFUK 23,200 69%
EE=F& FEEES JAL JAL | FUKHND [HNDAOJ| 23,000 72%
JAL JAL | FUKITM [ ITMAOJ 20,200 72%
B33 JAL JAL | AOJHND [ HNDFUK| 23,000 72%
JAL JAL | AOJITM | ITMFUK 20,200 72%
& ==R [EEES JAL JAL | FUKHND [HNDMSJ[ 21,000 74%
=R% JAL JAL | MSJHND [ HNDFUK| 21,000 74%
JAL JAL | MSJITM [ ITMFUK 25,200 66% | A%:24,600
& = HE [HEES JAL JAL | FUKHND [ HNDAXT| 31,300 59% | AK#£:31.200
MER JAL JAL | AXTHND [ HNDFUK| 29,900 60%
JAL JAL | AXTITM | ITMFUK 19,900 71%
&= L% FEEES JAL JAL | FUKHND [ HNDGAJ| 23,900 64% | A%:24,000
JAL JAL | FUKITM [ ITMGAJ 23,600 65% | A%:22400
INZ 3 JAL JAL | GAJHND [ HNDFUK| 24,000 63%
JAL JAL | GAJITM | ITMFUK 25,000 62% | A%:23600
R =/ 1@ 5 JAL JAL | FUKHND [HNDKMQ| 25,200 65% | AK#:24.400
R JAL JAL _|KMQHND| HNDFUK| 27,200 62%
BE=2d [ERES JTA [JTA/RAC| FUKOKA [OKAMMY| 25,600 54%
=o % |8 (BE) [JTA/RAC] JTA [MMYOKA[ OKAFUK| 25,500 54% | 5:25400. 7K:25,600, A£:25700
B =HiE EE%E [ PEGRE)| JTA [JTA/RAC| FUKOKA [ OKAISG 26,100 58%
AiEF |98 (BBF) [JTA/RAC| JTA | ISGOKA | OKAFUK| 25,900 58% | A:26,000, %:26,200
ZihR =15 JAL JAL | HNASPK[SPKMMB[ 24,500 57% | A%:25100
Bl =Il& JAL JAL _|MMBSPK]| SPKSDJ| 23,900 61% | A:23,400, £:23600
JAL JAL | SDJSPK [SPKMMB| 23,900 61% | A:23,500, £:23,200
A =95 JAL JAL _|MMBSPK]| SPKKIJ 24,700 60% |%:24,900
JAL JAL | KIJSPK [SPKMMB| 25,700 59%
ESS RN JAL JAL _|MMBHND|HNDKMQ| 25,200 68% | A
[ JAL JAL _|KMQHND|[HNDMMB| 25,700 67% A
2 Bl =Rl L [ JAL JAL _|[MMBHND| HNDOKJ| 29,900 66% | A
[ JAL JAL | OKJHND [HNDMMB[ 29,500 66% | A
ESHIENC ) JAL JAL _|MMBHND| HNDHIJ 29,600 67% A&
RCHED [ JAL JAL | HIUHND [HNDMMB[ 29,700 67% | A
LR Fa) | JAL JAL | HIUSPK [SPKMMB| 28,300 66% | A
Zimp=HE [ JAL JAL _|MMBHND] HNDIZO 32,000 63% | A
[ JAL JAL | IZOHND [HNDMMB[ 31,500 63% | A
iR =l [ JAL JAL _|[MMBHND|HNDMYJ| 31,300 65% | A
[ JAL JAL | MYJHND [HNDMMB| 30,100 67% | A
ZinBl=R1E [ JAL JAL _|[MMBHND| HNDISG | 40,900 67% | A
[ JAL JAL | ISGHND [HNDMMB| 38,900 69%
[EVIENA [ JAL JAL | AKJHND [HNDKMQ[ 23,200 69%
[ JAL JAL _|KMQHND| HNDAKJ| 26,200 65%
Bl =i EE ) JAL JAL | AKJHND [HNDSHM[ 24,600 71%
[ JAL JAL | SHMHND| HNDAKJ| 32,000 62%
B =Tl [ JAL JAL | AKJHND [ HNDOKJ| 26,800 69%
[ JAL JAL | OKJHND [ HNDAKJ| 28,000 67%
BI=HE [ JAL JAL | AKJHND | HNDIZO 28,700 66% | A%:28500
[ JAL JAL | IZOHND [ HNDAKJ| 32,400 62%
JBJI=#10 [ JAL JAL | AKJHND [HNDMYJ| 28,300 68% | A%:28400
[ JAL JAL | MYJHND [ HNDAKJ| 31,000 65% | A%:31,200
BI=hE )| JAL JAL | AKJHND [ HNDISG 38,900 68%
[ JAL JAL | ISGHND | HNDAKJ| 40,500 67%
FIER =/ iy )| JAL JAL | KUHHND [HNDKMQ| 24,700 67%
[ JAL JAL _|KMQHND| HNDKUH| 23,900 68%
3% =FEl ) JAL JAL | KUHHND [ HNDOKJ[ 29,400 65%
[ JAL JAL | OKJHND [ HNDKUH| 27,700 67%
SIR=L58 [ JAL JAL | KUHHND | HNDHIJ 29,100 66%
[ JAL JAL | HIJHND [HNDKUH| 27,900 68%
SR =HE ) JAL JAL | KUHHND [ HNDIZO 31,500 62%
[ JAL JAL | IZOHND [HNDKUH| 29,700 64%
fIER =410 ) JAL JAL [ KUHHND[HNDMYJ| 30,800 65% | AK#£:30,900
[ JAL JAL | MYJHND [ HNDKUH| 28,300 68% | A%:28500
S =" )| JAL JAL | KUHHND [ HNDISG 37,100 69%
[ JAL JAL | ISGHND | HNDKUH| 38,400 68%




HBIL=/H HILFE )| JAL JAL _|OBOHND|HNDKMQ| 24,600 67% | AK%:24,300
RN [ JAL JAL _|KMQHND|[HNDOBO| 27,000 64%
HIL=FEW HILF )| JAL JAL _|OBOHND|HNDOKJ[ 28,900 66%
e LI 56 [ JAL JAL | OKJHND [HNDOBO| 29,600 65%
HL=HE HILF )| JAL JAL _|[OBOHND] HNDIZO 31,000 63%
HE: [ JAL JAL | IZOHND [HNDOBO| 33,200 60%
HIL=H0 L¥ [ JAL JAL _|OBOHND|HNDMYJ| 30,300 65%
I3 [ JAL JAL | MYJHND [HNDOBO| 31,800 63%
HE=RE | TEH )| JAL JAL _[OBOHND| HNDISG 40,300 67%
RIEH [ JAL JAL | ISGHND [HNDOBO| 39,500 67%
BRAR =/ A ERARF [ JAL JAL | HKDHND [HNDKMQ[ 25,200 62%
INAFE [ JAL JAL _|KMQHND| HNDHKD | 24,200 63%
BAE =FeEl L [ JAL JAL | HKDHND [ HNDOKJ[ 28,800 62%
] LI 56 [ JAL JAL | OKJHND [ HNDHKD | 27,400 64%
HEE=1L5 BRAE S [ JAL JAL | HKDHND | HNDHIJ 29,600 61% | A%:29,200
L5% [ JAL JAL | HIJHND [HNDHKD[ 27,600 64%
BHiE=HE BT [ JAL JAL | HKDHND | HNDIZO 29,100 61% | AK#£:28.700
[ JAL JAL | HKDITM | ITMIZO 23,800 67%
HEX [ JAL JAL | IZOHND [ HNDHKD| 29,400 60%
[ JAL JAL | 1ZOITM [ ITMHKD | 25,000 65%
BfE=HA0 BT )| JAL JAL | HKDHND | HNDMYJ| 30,300 61% | AK#£:30,000
[ JAL JAL | HKDITM [ ITMMYJ 24,100 65%
TS [ JAL JAL [ MYJHND [ HNDHKD | 28,000 64% | A%:28,200
[ JAL JAL | MYJITM [ ITMHKD | 25,300 63%
B =LA M BRAE S ) JAL JAL | HKDHND [ HNDKKJ 28,600 66%
EIZNES ) JAL JAL | KKJHND [HNDHKD[ 28,600 66%
BHiE=K% BT ) JAL JAL | HKDHND [ HNDOIT 21,900 73%
[ JAL JAL | HKDITM | ITMOIT 23,900 67%
K55 [ JAL JAL | OITHND [HNDHKD| 21,900 73%
[ JAL JAL | OITITM [ ITMHKD | 25,100 65%
HEE=RIG BT [ JAL JAL | HKDHND [HNDNGS| 22,400 74%
[ JAL JAL | HKDITM [ ITMNGS | 27,000 66%
RIEF ) JAL JAL | NGSHND|HNDHKD[ 22400 74%
[ JAL JAL | NGSITM | ITMHKD | 28,200 65%
EHEE=REA BT [ JAL JAL | HKDHND [HNDKMJ| 22,400 73%
[ JAL JAL | HKDITM [ ITMKMJ 24,300 68%
REAF [ JAL JAL _|[KMJHND|[HNDHKD| 22,400 73%
[ JAL JAL | KMJITM [ ITMHKD | 25,500 67%
WE=25 BT [ JAL JAL [ HKDHND | HNDKMI | 22,400 73%
[ JAL JAL | HKDITM | ITMKMI 28,400 63%
= [ JAL JAL | KMIHND [HNDHKD| 22,400 73%
[ JAL JAL | KMITM [ ITMHKD | 29,000 62%
HEE=ERS ) JAL JAL | HKDHND [ HNDKOJ[ 22,400 74%
[ JAL JAL | HKDITM | ITMKOJ 26,600 67%
[ JAL JAL | KOJHND [ HNDHKD | 22,400 74%
[ JAL JAL | KOJITM | ITMHKD | 26,600 67%
WE=FR1E [ JAL JAL | HKDHND | HNDISG 39,300 65% | A%:39,100
[ JAL JAL | ISGHND [ HNDHKD| 39,500 65% | A%:39.400
EH=/R [ JAL JAL | AOJHND [HNDKMQ| 14,800 77%
[ JAL JAL _|KMQHND|HNDAOJ| 15,300 76%
EH=—miEE [ JAL JAL [ AOJHND [HNDSHM| 28,300 61%
[ JAL JAL | SHMHND|HNDAOJ| 29,800 59%
FH=FL [ JAL JAL [ AOJHND [HNDOKJ| 26,300 65%
[ JAL JAL | OKJHND [ HNDAOJ| 26,000 65%
EH=L5 ) JAL JAL | AOJHND | HNDHIJ 27,900 63% | AK#£:26.100
[ JAL JAL | HIUHND [HNDAOJ| 26,800 64%
EHR=LOFH [ JAL JAL | AOJHND [ HNDUBJ| 23,500 71%
[ JAL JAL | UBJHND [ HNDAOJ| 24,400 69% | A%:24,900
EH=—HE [ JAL JAL [ AOJHND [ HNDIZO 29,200 60% | A%:27.400
[ JAL JAL | AOJITM | ITMIZO 20,800 70%
[ JAL JAL | IZOHND [HNDAOJ| 29,700 59% |A%:30,000
[ JAL JAL | 1ZOITM [ ITMAOJ 20,800 70%
EH=15 ) JAL JAL _|[AOJHND [ HNDTKS| 20,300 72%
[ JAL JAL | TKSHND [HNDAOJ| 20,300 72%
EH=m ) JAL JAL [ AOJHND [ HNDTAK[ 20,200 73%
[ JAL JAL | TAKHND [ HNDAOJ| 20,200 73%
EHR=mH [ JAL JAL [ AOJHND [HNDKGZ| 20,300 73%
[ JAL JAL | KGZHND [ HNDAOJ| 20,300 73%
FHR=HL [ JAL JAL [ AOJHND [HNDMYJ| 20,000 74%
[ JAL JAL | AOJITM [ ITMMYJ 21,100 68%
[ JAL JAL | MYJHND [ HNDAOJ| 20,000 74%
[ JAL JAL | MYJITM [ ITTMAOJ 21,100 68%
FH=AEAM [ JAL JAL [ AOJHND [ HNDKKJ| 21,800 74%
[ JAL JAL | KKJHND [HNDAOJ| 21,800 74%
EH=KH [ JAL JAL _[AOJHND[ HNDOIT [ 21,700 73%
[ JAL JAL | AOJITM | ITMOIT 20,900 70%
[ JAL JAL | OITHND [HNDAOJ| 21,700 73%
[ JAL JAL | OITITM [ ITMAOJ 20,900 70%
EH=RIK ) JAL JAL | AOJHND [HNDNGS[ 23,200 73%
[ JAL JAL | AOJITM [ ITMNGS | 24,000 69%
[ JAL JAL | NGSHND|HNDAOJ| 23,200 73%
[ JAL JAL | NGSITM | ITMAOJ 24,000 69%
EH=EX ) JAL JAL | AOJHND [HNDKMJ[ 21,800 74%
[ JAL JAL | AOJITM [ ITMKMJ 23,300 69%
[ JAL JAL | KMJHND [ HNDAOJ| 21,800 74%
)| JAL JAL [ KMJITM [ ITMAOJ 21,300 71%
EH=2I5 ) JAL JAL [ AOJHND | HNDKMI 21,800 74%
[ JAL JAL | AOJITM | ITMKMI 25,400 66%
[ JAL JAL | KMIHND [HNDAOJ| 21,800 74%
[ JAL JAL | KMITM | ITMAOJ 25,400 66%




EHR=-ERE EHRFE |EECRE)| JAL JAL | AOJHND | HNDKOJ| 23,200 73%
AR JAL JAL [ AQJITM [ ITMKOJ 23,500 70%
RRECRE) [ JAL JAL | KOJHND [ HNDAOJ| 23,200 73%
)| JAL JAL [ KOJITM [ ITMAOJ 22,400 71%
)| JAL JAL [ AOJHND | HNDISG 37,300 66% | K#£:35900
[ JAL JAL | ISGHND [HNDAOJ| 37,500 66%
[ JAL JAL | MSJHND [HNDKMQ| 14,800 77%
[ JAL JAL _|KMQHND|HNDMSJ| 15,300 76%
[ JAL JAL | MSJHND [ HNDOKJ| 23,600 68%
[ JAL JAL | OKJHND [ HNDMSJ| 23,200 68%
[ JAL JAL | MSJHND | HNDHIJ 23,300 69%
[ JAL JAL | HIJHND [HNDMSJ| 22,900 69%
[ JAL JAL | MSJHND [HNDUBJ| 20,800 74%
[ JAL JAL | UBJHND [HNDMSJ| 23,700 70%
[ JAL JAL | MSJHND | HNDIZO 25,700 64%
[ JAL JAL | IZOHND [HNDMSJ| 25,600 64%
[ JAL JAL | 1ZOITM [ ITMMSJ 25,800 63%
[ JAL JAL | MSJHND [ HNDTKS| 19,300 73%
[ JAL JAL | TKSHND [HNDMSJ| 19,300 73%
[ JAL JAL | MSJHND [ HNDTAK| 19,200 74%
[ JAL JAL | TAKHND [HNDMSJ| 19,200 74%
[ JAL JAL | MSJHND [ HNDKCZ| 19,300 74%
[ JAL JAL | KGZHND [ HNDMSJ| 19,300 74%
[ JAL JAL | MSJHND [HNDMYJ| 19,000 75%
[ JAL JAL [ MYJHND [ HNDMSJ| 19,000 75%
[ JAL JAL | MYJITM [ ITMMSJ 26,100 61% |A%:25500
ZiR=4tAM ) JAL JAL | MSJHND [ HNDKKJ 19,800 76%
[ JAL JAL | KKJHND [HNDMSJ| 19,800 76%
ZR=X% [ JAL JAL | MSJHND | HNDOIT | 19,700 75%
[ JAL JAL | OITHND [HNDMSJ| 19,700 75%
[ JAL JAL | OITITM [ ITMMSJ 25,900 63% | A%:25300
=R=RI& [ JAL JAL | MSJHND [HNDNGS| 21,200 75%
[ JAL JAL | NGSHND|HNDMSJ| 21,200 75%
[ JAL JAL | NGSITM [ ITMMSJ 26,100 67% | A%:25500
=R=8EX [ JAL JAL | MSJHND [ HNDKMJ| 19,800 76%
[ JAL JAL | KMJHND [ HNDMSJ| 19,800 76%
[ JAL JAL | KMJITM [ ITMMSJ 28,700 62% | A%:28,100
SR=2& [ JAL JAL | MSJHND | HNDKMI| 19,800 76%
[ JAL JAL | MSJITM | ITMKMI 29,800 61% | A%:29,200
[ JAL JAL | KMIHND [HNDMSJ| 19,800 76%
[ JAL JAL | KMITM [ ITMMSJ 30,700 59% | A%:30,100
=R=ERE [ JAL JAL | MSJHND [ HNDKOJ| 21,200 75%
[ JAL JAL | MSJITM [ ITMKOJ 28,500 64% | AK%£:27.900
[ JAL JAL | KOJHND [ HNDMSJ| 21,200 75%
[ JAL JAL | KOJITM [ ITMMSJ 25,800 68% | A%:25200
ZR=%RE [ JAL JAL | MSJHND [ HNDISG 34,600 68% |%:37,100
[ JAL JAL | ISGHND [HNDMSJ| 34,600 68%
FE=/ R B)| JAL JAL | AXTHND [HNDKMQ[ 17,200 70%
B[ JAL JAL _|KMQHND| HNDAXT| 17,100 70%
MHE=miEE B[ JAL JAL | AXTHND [HNDSHM[ 26,800 50%
B)| JAL JAL | SHMHND|HNDAXT| 26,800 59%
FE=REL B)| JAL JAL | AXTHND [ HNDOKJ| 26,300 61%
B)| JAL JAL | OKJHND [ HNDAXT| 24,000 64%
ME=LE8 [ JAL JAL | AXTHND | HNDHIJ 27,800 59%
B)| JAL JAL | HIUHND [HNDAXT| 23,700 65% | A%:23400
ME=LAOFIH B)| JAL JAL | AXTHND [ HNDUBJ| 24,000 67%
B)| JAL JAL | UBJHND [ HNDAXT| 24,500 66%
HE=HE B)| JAL JAL | AXTHND | HNDIZO 26,800 59%
[ JAL JAL | AXTITM [ ITMIZO 21,700 66%
B[ JAL JAL | IZOHND [ HNDAXT| 26,800 59%
| JAL JAL [ 1zOITM [ ITMAXT 20,500 68%
ME=EE FEF B)| JAL JAL [ AXTHND [ HNDTKS| 20,200 70%
EER B)| JAL JAL | TKSHND [ HNDAXT| 20,200 70%
HE=F =R B)| JAL JAL [ AXTHND [ HNDTAK| 20,200 70%
SR B)| JAL JAL | TAKHND [ HNDAXT| 20,200 70%
ME=5 Nk B)| JAL JAL | AXTHND [ HNDKCZ| 20,300 71%
S A% B)| JAL JAL | KGZHND [ HNDAXT| 20,300 71%
FE=#10 X A 56 HE)| JAL JAL | AXTHND [HNDMYJ| 20,400 71%
BR(FFD|  JAL JAL | AXTITM [ ITMMYJ 20,800 66%
WL  [ERERCRE[ JAL JAL | MYJHND [ HNDAXT[ 20,400 71%
AR (FFH|  JAL JAL [ MYJITM [ ITMAXT 20,800 66%
FE =4t AM FEF FECPA)|[ JAL JAL | AXTHND | HNDKKJ 29,400 61%
EI® N E TCHE)|  JAL JAL | KKJHND [ HNDAXT[ 26,900 64%
MEA=X% MEFX [ERCRA)| JAL JAL | AXTHND | HNDOIT 28,400 62% | 7:27,200, £:27,600
KR (FFD| JAL JAL [ AXTITM [ ITMOIT 20,600 68%
A% [ERCEE)] JAL JAL | OITHND [ HNDAXT| 28,200 62% | A:27,800, %:28,600
AERFFD[  JAL JAL | OITITM [ ITMAXT 21,800 66%
ME=RIE MEFX [ERCHA)| JAL JAL | AXTHND [HNDNGS[ 28,800 63% | A:27,200, %:27,600
KER (P | JAL JAL [ AXTITM [ ITMNGS | 23,700 67%
RiB% |EZECEH)| JAL JAL | NGSHND [ HNDAXT 9,400 62% | AK%:28,200
ABR(FD|  JAL JAL | NGSITM [ ITMAXT 0,800 71%
HHE=REX MEX [RERCRHA)| JAL JAL | AXTHND | HNDKMJ 400 % | AR#£:28000
ABR(FD | JAL JAL | AXTITM [ ITMKMJ ,200 8%
BAR |EZERCEH)| JAL JAL | KMJHND [ HNDAXT ,200 3% AR£:27.400
ABR(FFD | JAL JAL [ KMJITM [ ITMAXT ,400 o
ME==& MEX [RERCRA)| JAL JAL | AXTHND | HNDKMI ,700 | A:27,200, £:27,600
ABR ()| JAL JAL | AXTITM [ ITMKMI ,600 o
TR |EERCEH)| JAL JAL | KMIHND [ HNDAXT 7,800 3% | 7K:27.400
ABR (D[ JAL JAL | KMITM [ ITMAXT 6,600 2%




ME=ERS MEFX |[ERCRA)| JAL JAL | AXTHND | HNDKOJ 19,700 75%
BRFFD|  JAL JAL | AXTITM [ ITMKOJ 24,400 67%
BRBR |[RE(CRHE)| JAL JAL | KOJHND [ HNDAXT[ 19,700 75%
BR(FFD|  JAL JAL [ KOJITM [ ITMAXT | 23,800 68%
ME=hE MEFE |[ERCPAA)| JAL JAL [ AXTHND | HNDISG 35,100 66%
7 [ JAL JAL | ISGHND [ HNDAXT| 35,100 66%
EE=HE D[ JAL JAL | HNAITM [ ITMIZO 26,900 60% | A:29,600, %:25,600
feE=H1l [ JAL JAL [ HNAITM [ ITMMYJ 26,600 50% | A#:25200
D] JAL JAL | MYJITM [ ITMHNA | 27,200 58% | A%:30,500
EE=K5 [ JAL JAL | HNAITM | ITMOIT 32,200 52% |4 6,400
D] JAL JAL | OITITM [ ITMHNA [ 32,200 52% | A%:31,900
EE=RIK [ JAL JAL | HNAITM [ ITMNGS 34,600 54% | A%:28200
D[ JAL JAL | NGSITM | ITMHNA | 27,200 64% | A%:31,200
TEE=REX D] JAL JAL [ HNAITM [ ITMKMJ 33,400 54% | A:31,400, %:26,800
H] JAL JAL | KMJITM | ITMHNA | 33,400 54%
A== )| JAL JAL | HNAITM | ITMKMI 33,400 54% |%:31,200
JAL JAL | HNAFUK | FUKKMI 33,400 58% | A:30,200, %:26,400
JAL JAL | KMITM [ ITMHNA | 33,400 54%
JAL JAL | KMIFUK | FUKHNA| 33,400 58% | A%:30,600
EE=ERS )| JAL JAL [ HNAITM [ ITMKOJ 29,600 61% | 7A:33,600. %:28,300
[ JAL JAL | KOJITM | ITMHNA | 34,600 55% | A:33,400
Wi =/ [ JAL JAL | GAJHND [HNDKMQ| 16,800 65%
[ JAL JAL _|[KMQHND|HNDGAJ] 17,200 64%
\Lifg =T Ll [ JAL JAL | GAJHND [HNDOKJ| 18,600 68%
[ JAL JAL | OKJHND [ HNDGAJ| 18,600 68%
Wk=IE8 ) JAL JAL | GAJHND | HNDHIJ 22,200 62%
[ JAL JAL | HIUHND [HNDGAJ| 20,200 65% | A%:19.900
Lz =1LOF B [ JAL JAL | GAJHND [ HNDUBJ| 18,400 71%
[ JAL JAL | UBJHND [ HNDGAJ| 18,700 70%
I =HZE [ JAL JAL | GAJHND [ HNDIZO 22,300 60% | A%:22,100
[ JAL JAL | GAJITM | ITMIZO 25,000 60% | A:23,600, £:28,100
[ JAL JAL | IZOHND [HNDGAJ| 22,100 61%
[ JAL JAL | 1zOITM [ ITMGAJ 25,000 60% | A:28,100, %:23,600
Wk =#8 ) JAL JAL | GAJHND[HNDTKS| 19,000 67%
)| JAL JAL [ TKSHND [ HNDGAJ[ 19,600 6%
Wi =2 )| JAL JAL | GAJHND [ HNDTAK| 19,600 6%
) JAL JAL | TAKHND [ HNDGAJ| 20,900 3%
Wiz =#x1l ) JAL JAL | GAJHND [ HNDMYJ 9,400 8% | K#£:18,700
)| JAL JAL | GAJITM [ ITTMMYJ 4,500 59% [ A#£:23.300
) JAL JAL | MYJHND [ HNDGAJ 0,000 67%
)| JAL JAL | MYJITM [ ITMGAJ 4,500 9% | A#:23,300
Wk =X% ) JAL JAL | GAJHND [ HNDOIT 2,800 5% | A%:21,600
)| JAL JAL | GAJITM [ ITMOIT 4,300 2% | A#:23,100
) JAL JAL | OITHND [ HNDGAJ 3,600 3% | A#:22,400
)| JAL JAL | OITITM [ ITMGAJ 5,100 0% |
Wi =R )| JAL JAL | GAJHND | HNDNGS 3,200 6% A
)| JAL JAL | GAJITM [ ITMNGS 7,400 1% Ak
) JAL JAL | NGSHND [ HNDGAJ 4,800 4% A
)| JAL JAL | NGSITM [ ITMGAJ 7,400 1% Ak
WLifs=8ER )| JAL JAL [ GAJHND [ HNDKMJ ,800 5% A&
)| JAL JAL | GAJITM [ ITMKMJ ,100 2% A
) JAL JAL | KMJHND [ HNDGAJ ,200 5% |
)| JAL JAL [ KMJITM [ ITTMGAJ ,500 3% A
W =5 ) JAL JAL | GAJHND | HNDKMI ,100 5% A
) JAL JAL | GAJITM [ ITMKMI ,900 56% | A
) JAL JAL | KMIHND [ HNDGAJ ,800 65% | A#:21,
)| JAL JAL | KMITM [ ITMGAJ ,900 6% | A:31,000, %:28,500
W =ERS ) JAL JAL | GAJHND [ HNDKOJ ,800 5% | A#:22,100
) JAL JAL | GAJITM [ ITMKOJ ,300 1% | 7k:26,900, %:30,800
ERB% |HECRHE)| JAL JAL | KOJHND | HNDGAJ 4,400 4% | AK%:22,800
KB (FEFD| JAL JAL | KOJITM [ ITMGAJ ,600 3% | A:29,700, %:25200
W ="h18 W% [RECHA)| JAL JAL | GAJHND | HNDISG ,500 5%
AIEXE [EERCHH)| JAL JAL [ ISGHND [ HNDGAJ ,500 5%
e =H=E Ees [XERMEED| JAL JAL | SDJITM | ITMIZO 600 58% | 7K:26,100
HER [ABRMGEEFD| JAL JAL | 1ZOITM | ITMSDJ 800 7%
s =1l a% [XERMERD| JAL JAL | SDJITM | ITMMYJ ,000 3%
WIL%E [ KERUEED|[ JAL JAL [ MYJITM [ ITMSDJ 1,400 4%
e =X5 as [XERMERD| JAL JAL | SDJITM | ITMOIT ,600 3%
A% |KREEFD| JAL JAL | OITITM | ITMSDJ 500 5%
e =K as [XERMERD| JAL JAL | SDJITM [ ITMNGS ,100 3%
RIBE | KREEFD| JAL JAL | NGSITM | ITMSDJ 5,300 4%
& =KA as [XERMERD| JAL JAL | SDJITM | ITMKMJ 3,000 6%
AR | XR@EEFD| JAL JAL | KMJITM | ITMSDJ 4,000 4%
e == as [XERMERD| JAL JAL | SDJITM | ITMKMI 7,400 59%
=R | KREEFD|  JAL JAL | KMITM | ITMSDJ 8,300 8%
i&E=gR as [XERMERD| JAL JAL | SDJITM | ITMKOJ 5,500 4% | :25,900
BERBH |[XBRUEMD| JAL JAL | KOJITM | ITMSDJ 7,000 2% | 7X:26,600




FR=HE JAL JAL | KITM | ITMIZO 24,300 59%
JAL JAL | 1ZOITM | ITMKLJ 24,300 59%
FR=HIL JAL JAL | KIJITM [ ITMMYJ 19,900 65% | A:19,500, %:19,700
JAL JAL | MYJITM | ITMKLJ 21,500 62% | A:20,500, £:19,800
FR=K% JAL JAL | KIJITM | ITMOIT 21,800 63% | A=:21,500
JAL JAL | OITITM | ITMKLJ 21,300 64% | A:20,300, %:19,600
Fa=RIE JAL JAL | KIJITM [ITMNGS | 22,500 67% |A:21,100, £:21,900
JAL JAL | NGSITM | ITMKLJ 23,100 66% | A=:22,500
FR=FEA JAL JAL | KIJITM | ITMKMJ 22,200 66% | A=:21,900
JAL JAL | KMJITM | ITMKLJ 24,100 63% | A:23,100, £:22,400
Fa=a JAL JAL | KIJITM | ITMKMI 25,500 61% | A:24,100, £:24,900
JAL JAL | KMITM | ITMKLJ 26,100 60% | A%:25500
FR=RRE JAL JAL | KIJITM | ITMKOJ 24,700 64% | A:24,800, %:24,400
JAL JAL | KOJITM | ITMKLJ 23,300 66% | A=:22,700
M =FE JAL JAL _|[KMQHND|HNDOKJ| 21,700 66%
JAL JAL | OKJHND [HNDKMQ| 20,900 67%
INA=Th5 JAL JAL _|KMQHND]| HNDHIJ 22,500 65%
JAL JAL | HIUHND [HNDKMQ[ 21,200 67%
INA=ILUOFER JAL JAL _|KMQHND|HNDUBJ| 18,100 74%
* JAL JAL | UBJHND [HNDKMQ| 18,100 74%
IMA=HE JAL JAL _|KMQHND] HNDIZO 23,800 62%
JAL JAL | IZOHND [HNDKMQ| 23,700 62%
IMNA=TE5 JAL JAL _|KMQHND|HNDTKS| 20,400 68%
JAL JAL | TKSHND [HNDKMQ| 20,700 67%
IMNE=EH JAL JAL _|[KMQHND| HNDTAK| 23,000 64%
JAL JAL | TAKHND [HNDKMQ| 20,900 67%
M= JAL JAL _|KMQHND|HNDKGZ| 20,400 69%
JAL JAL | KGZHND [HNDKMQ| 22,100 66%
INA=FAIL JAL JAL _|KMQHND|HNDMYJ| 21,700 67% [A£:21,800
JAL JAL | MYJHND [HNDKMQ| 22,300 66% | A%:22,500
ERASEN JAL JAL _|KMQHND| HNDKKJ 24,800 66%
JAL JAL | KKJHND [HNDKMQ| 22,500 69%
IMNBE=K5 JAL JAL _|[KMQHND| HNDOIT [ 22,600 68% | £:23,000
JAL JAL | OITHND [HNDKMQ[ 23,000 68% | A:21,800. 3
INE=EIB JAL JAL _|KMQHND|HNDNGS| 24,200 68% | A:23,800,
JAL JAL | NGSHND|[HNDKMQ| 24,200 68% | A:23,300, -
IMNB=RER JAL JAL _|KMQHND[HNDKMJ[ 22,600 69% | A%:21,800
JAL JAL | KMJHND [HNDKMQ[ 23,400 68% | A:22,200, £:23,000
INA= B IR JAL JAL _|KMQHND| HNDKMI | 22,200 69% | A=:21,000
JAL JAL | KMIHND [HNDKMQ| 21,800 70% | A:21,000. %:21,200
IMA=ERE JAL JAL _|KMQHND| HNDKOJ| 17,500 77%
JAL JAL | KOJHND [HNDKMQ| 18,500 75%
MA=EH JTA_|JTA/RAC|KMQOKA[OKAMMY| 28,100 61% [A£:32,600
P48 (BRF) [UTA/RAC]  JTA [MMYOKA|OKAKMQ| 28,600 60% | AK#£:32600
IMA=F1E FRCRE | JAL JAL _[KMQHND| HNDISG 31,900 68%
P (F | JTA [JTA/RAC[KMQOKA| OKAISG 29,000 63% | AK#£:32600
R CRE [ JAL JAL | ISGHND [HNDKMQ| 31,500 69%
P48 (BRF) [UTA/RAC]  JTA | ISGOKA [OKAKMQ| 28,600 64% | AR#£:32600
=8 P (BF | JTA [JTA/RAC| OKJOKA|OKAMMY| 27,700 57% | 7A:32,400, %:32,900
P48 (BB [JTA/RAC] JTA [MMYOKA[ OKAOKJ[ 27,700 57%
=51 P48 (RE) | JTA [JTA/RAG| OKJOKA | OKAISG 28,300 60% | A:32,400, %:32.900
SP#8 (BB [JTA/RAC]  JTA [ ISGOKA [ OKAOKJ[ 28,200 60%
BH=25 &k JAL JAL [ KCZFUK | FUKKMI 22,700 58%
& JAL JAL | KMIFUK | FUKKGZ | 22,700 58%
SRR (RER) =FH& MR @B R R CHE)|  JAL JAL | OKAHND[HNDAOJ[ 32,800 63%
x| [ JAL JAL | OKAITM [ ITMAOJ 22,900 74%
EHR [ JAL JAL [ AOJHND [HNDOKA| 32,000 63% | A%:30,200
B [ JAL JAL | AOJITM [ ITMOKA | 22,800 74%
SRR (RER) ==iR [h# B8 & ) JAL JAL | OKAHND[HNDMSJ[ 28,300 67%
=R%E [ JAL JAL | MSJHND [HNDOKA| 23,600 73%  |%:26,100
SEE(RER) =FNE | hHE (B 315 )| JAL JAL | OKAHND| HNDAXT[ 29,200 64%
[ JAL JAL | OKAITM | ITMAXT 24,100 71%
FUEFE ) JAL JAL | AXTHND [HNDOKA[ 32,200 60%
x| [ JAL JAL | AXTITM [ ITMOKA | 24,100 71%
SRER(RER) =TEE | (| R ) JAL JAL | OKAITM [ ITMHNA 30,700 64% | A:29,300, %:35,000
JTA JAL | OKAFUK| FUKHNA| 38,400 57%
TEEF JAL JAL [ HNAITM [ ITMOKA 28,700 66% | AK£:27.300
JAL JTA | HNAFUK | FUKOKA| 38,400 57%
SPER(RER) =1L | (B8 J[RR JAL JAL | OKAHND|HNDGAJ[ 26,200 63%
x| JAL JAL | OKAITM | ITMGAJ 27,400 66% | A:30,500, %:26,000
%3 JAL JAL | GAJHND [ HNDOKA| 26,600 62%
JAL JAL | GAJITM [ ITMOKA | 27,400 66% | A:26,000, :30,500
SER(RER) =1LE |3 JTA JAL | OKAFUK | FUKSDJ 33,100 62% | AK#£:32,900
JAL JAL | OKAITM | ITMSDJ 23,800 70%
& JAL JTA | SDJFUK | FUKOKA| 34,000 61%
JAL JAL | SDJITM [ ITMOKA | 24,100 70%
EE(RER) =/ JAL JAL | OKAHND [HNDKMQ[ 27,200 65%
JAL JAL _|KMQHND|HNDOKA| 26,600 66%
SRR (B =B JTA JAL | OKAFUK | FUKKCZ 26,400 58%
JAL JTA | KCZFUK | FUKOKA| 26,400 58%
ER(RER) =4l JTA JAL | OKAFUK | FUKMYJ 24,600 50%
JAL JTA | MYJFUK | FUKOKA| 24,600 59%




RRCAB)=BZAXB[RRCAAX] ERE JAL JAL | HNDKOJ| KOJASJ| 29,800 61% | A:27,500, £:25,400
R (FF|  JAL JAL [ HNDITM [ ITMASJ 30,700 58%
BEARER | BREE JAL JAL | ASJKOJ[KOJHND| 29,000 62% | A%:27,400
KBR(FFD[  JAL JAL | ASJITM [ ITMHND | 32,300 55% | A%:32,500
HR(HA) =BERB[(FR(HE)E| ERE JAL JAL | HNDKOJ | KOJKKX 30,200 61% | A%::28500
BEAE | JAL JAL | HNDASJ[ ASJKKX | 28,500 59%
ERER BRE JAL JAL [ KKXKOJ|KOJHND| 30,000 62% | 7A:27,200, %:28,400
BEAE | JAL JAL | KKXASJ [ ASUHND | 30,400 56% | A%:28,500
RR(OPA) =B8|"RCHEE| ERE JAL JAL | HNDKOJ| KOJTKN 31,200 62% | A%::29,500
BEAE | JAL JAL | HNDASJ[ ASJTKN| 31,000 58%
BrER BR JAL JAL | TKNKOJ[KOJHND| 31,800 61% | A%:30,200
R (FE) =4k RHB[ERCAE) | BER JAL JAL | HNDKOJ|KOJOKE| 33,200 61% |A:31,100, £:29,900
K BERSHE | BR JAL JAL | OKEKOJ|KOJHND| 32,700 61% | A=:31,100
HR(AE)=5# [RR(RE) | ER JAL JAL | HNDKOJ[ KOJRNJ| 33,700 61% | A:31,600, £:30,000
55 BR JAL JAL | RNJKOJ[KOJHND| 32,400 62% | A:30,000, £:29,200
KR (M =E=XE[XR(FD | ER JAL JAL [ ITMKOJ [ KOJASJ| 24,000 61% 23,600
BEAER | BRE JAL JAL [ ASJUKOJ [ KOJITM 25,900 58% | 7A:25,500
KR () =BR8 8| KIR(FF % _EBRE JAL JAL | ITMKOJ | KOJKKX 26,600 58% | A:27,000
BEAE | JAL JAL | ITMASJ [ ASJKKX | 29,000 49%
ERER BRrRE JAL JAL [ KKXKOJ [ KOJITM 26,800 57% | 7}:26,400
BEAE | JAL JAL | KKXASJ | ASJITM 29,000 49%
KR () =@2zB | KIREFR F| BERE JAL JAL | ITMKOJ [ KOJTKN 27,600 58% | 7<:28,000
weBR ERE JAL JAL | TKNKOJ | KOJITM 28,200 57% |A:27,800
BEAE | JAL JAL | TKNASJ [ ASJITM 31,500 48%
KR (5 =k RE | KR (B E| BER JAL JAL | ITMKOJ [KOJOKE| 28,500 59% | A:28,900
PKRERSE | BR JAL JAL [ OKEKOJ | KOJITM 29,100 58% | 7:28,700
KR (RFH =55 | KRB E|_EBR JAL JAL | ITMKOJ [ KOJRNJ 29,000 50% | 7:29,400
BEAE | JAL JAL | ITMASJ [ ASJRNJ| 35,300 49%
5h% R JAL JAL | RNJKOJ [ KOJITM 29,600 58% | A:29,200
BE=BEXS [ERES BR JAL JAL | FUKKOJ [ KOJASJY 19,800 61% | AK#£:19.300
BEEAER | BRE JAL JAL | ASUKOJ [ KOJFUK 21,500 58%
ER=ERE5 FEEES BER JAL JAL | FUKKOJ [ KOJKKX| 23,300 56%
BEAE | JAL JAL | FUKASJ | ASJKKX | 22,500 56%
ERBR | ®EXB | JAL JAL | KKXASJ [ ASUFUK [ 22,500 56%
BE=fEz5 FEEES BERE JAL JAL | FUKKOJ [ KOJTKN| 24,300 57%
BEAE | JAL JAL | FUKASJ [ ASJTKN| 25,000 55%
meBR BERE JAL JAL | TKNKOJ [ KOJFUK 24,300 57%
HEEXE | JAL JAL | TKNASJ [ ASJFUK 25,000 55%
R CRE) =5E|RR CHB) & GRH) | JAL RAC [HNDOKA|OKAOGN| 27,400 68%
Al JAL RAC | HNDISG [ ISGOGN | 29,400 66%
EXREFE [H#EGRE)| RAC JAL _|OGNOKA|OKAHND[ 27,300 68%
AiE RAC JAL | OGNISG [ ISGHND | 29,400 66%
KR (+51) =5 3RE [ KBR (R F1) 048 (BR8) | JAL RAC | ITMOKA [OKAOGN| 39,400 50%
SMES [ FR)| RAC JAL _|OGNOKA| OKAITM [ 39,400 50%
KR (BF) =5 30E | KR (BEE) S ORE) | JTA RAC | KIXOKA [OKAOGN| 39,400 50%
Al JTA RAC | KIXISG |ISGOGN| 39,400 46%
EXREFE [HHEGRE)| RAC JTA [OGNOKA[ OKAKIX 39,400 50%
Al RAC JTA | OGNISG | ISGKIX 39,400 46%
£HE(FE) =50E |25E(FH AR TR [ JTA RAC |NGOOKA|OKAOGN| 40,400 52% | A:40,000, %:40,300
Al JTA RAC | NGOISG [ ISGOGN | 38,200 52%
=R M%(%BE) RAC JTA [OGNOKA[OKANGO[ 40,400 52%
RAC JTA | OGNISG | ISGNGO | 38,100 52%
fEl Ll =5 3R E e LI 56 JTA RAC | OKJOKA|OKAOGN]| 28,400 64%
EREFE [ RAC JTA_|OGNOKA| OKAOKJ| 28,300 64%
EE=5RE wEXE [HMEEH| JTA RAC | FUKOKA|OKAOGN| 34,100 51%
SHES [4#GR8;)| RAC JTA [OGNOKA[ OKAFUK| 34,100 51%
SRAR (RE) =5 ME [P FRF | FiE [JTA/RAC] RAC [ OKAISG [ ISGOGN 11,800 72%
EXEFE | A\ RAC _|JTA/RAC| OGNISG | ISGOKA | 11,800 72%
RROHE) =AXB[HRCHE) [P EH)| JAL [JTA/RAC|HNDOKA|OKAUEO| 25900 59%
AXEFE [(P#EGRER) [avarc] JAL [UEOOKA|OKAHND| 25,900 59%
KB () = A KB [ KR FRFD S h#8 B | JAL [JTA/RAC[ ITMOKA [ OKAUEO[ 24,900 55%
AXEFE [P GBE) [wvaro] JAL [UEOOKA| OKAITM 24,900 55%
KBx (BA78) = A KB | KMk (BEFE) 5[ h#8 (R | JTA [JTA/RAC[ KIXOKA [OKAUEO[ 29,400 47%
AXEFE [P GBE) [avareo] JTA [UEOOKA| OKAKIX 29,400 47%
BEE(PH) =AKE[LEE(FH B | JTA [JTA/RACINGOOKA| OKAUEO| 31,200 49% | A:30,700, %:31,000
AXEFE [(P#EGRE) [avarc] JTA [UEOOKA|[OKANGO| 31,200 49% | A:30,700 ,000
BRE=ARE B [ FRME)| JTA |JTA/RAC| FUKOKA[OKAUEO| 24,800 48% | A:24,900 ,000
|5 %8 (FR%) [oaurameo] JTA | UEOOKA| OKAFUK| 24,800 48% | A:24,900 ,000
FIR CHH) =kRi% KB&(BHE}) JAL JAL | HNDITM | ITMOKI 20,800 62%
JAL JAL | HNDIZO | 1ZOOKI 20,800 59% |A%:20,300
xu&(ﬁw JAL JAL | OKITM [ITMHND [ 20,200 63% | A%:20,600
JAL JAL | OKIIZO [ IZOHND | 21,000 59%
R GRE) =FR [+ KIS&(BHE!) JAL JAL | OKAITM | ITMKLJ 23,600 70% | A%:23000
: KERFFD| JAL JAL | KIJITM [ ITMOKA | 23,000 71% | A:21,600. %:22,400
EE=ARGTFR [ \E%E [FERERCHE)| JAL JAL [ FUKHND [HNDSPK| 34,100 61% | A%::34,000
ARFTR R[RERCHE)|  JAL JAL | SPKHND [ HNDFUK| 32,900 62%
EH=2mal EHE |[AREFTH| JAL JAL | AOJSPK|SPKMMB| 20,300 61% |A%:19.700
ZomAlFE [HEEFETFR| JAL JAL _|MMBSPK| SPKAOJ| 20,600 60% |%:20,800
BE=%E5 FEFE [HR@ETFH| JAL JAL | AXTSPK [SPKMMB[ 21,600 62%
25 Al 5 @FE | JAL JAL _|MMBSPK| SPKAXT | 21,400 62% |%:21,600
ZHE(PE) =F/E R (P X[ FR CRE) [ JAL JAL _|NGOHND[HNDOBO| 26,200 62%
HILF RCHE)| JAL JAL | OBOHND|HNDNGO| 23,400 66%
Z2HE (P =I5B R[RFCHE)| JAL JAL _[NGOHND[ HNDAKJ 25,400 64%
JENIES RCHE)[ JAL JAL | AKJHND [HNDNGO| 20,600 71%




B =23l )| JAL JAL | TAKHND |[HNDMMB| 29,900 66% |4
[ JAL JAL _|[MMBHND| HNDTAK| 30,400 65% |4
BE =23l ) JAL JAL | TKSHND [HNDMMB[ 28,100 68% |4
[ JAL JAL _|[MMBHND| HNDTKS| 28,600 67% | A%£:28,200
Ky =3l ) JAL JAL | OITHND [HNDMMB[ 23,400 75%
[ JAL JAL _[MMBHND| HNDOIT | 23,400 75%
I =231 ) JAL JAL | NGSHND[HNDMMB[ 23,900 76%
[ JAL JAL _|MMBHND|HNDNGS| 23,900 76%
RER=2iH3l [ JAL JAL [ KMJHND [HNDMMB] 23,900 75%
[ JAL JAL _|[MMBHND| HNDKMJ| 23,900 75%
BHEEES T [ JAL JAL | KMIHND [HNDMMB] 23,900 75%
[ JAL JAL _[MMBHND| HNDKMI | 23,900 75%
BRE=%#5 ) JAL JAL | KOJHND [HNDMMB[ 23,900 76%
[ JAL JAL _|[MMBHND|HNDKOJ| 23,900 76%
ARFTR) —BEAS [ JAL JAL | SPKHND | HNDASJ| 37,800 62%
[ JAL JAL | ASUHND [ HNDSPK]| 39,900 59% | A%:38,200
EHR=BEXE [ JAL JAL [ AOJHND [ HNDASJ| 36,400 61%
[ JAL JAL | ASUHND [HNDAOJ| 38,300 59% | A%:36,900
ME=BEXXE ) JAL JAL | AXTHND [ HNDASJ 37,200 57%
[ JAL JAL | ASUHND [ HNDAXT| 36,300 58% | A%:34,600
INA=BEXE ) JAL JAL _|KMQHND| HNDASJ 30,600 64%
[ JAL JAL | ASUHND [HNDKMQ| 32,300 62% [A#£:30,600
B =1l [ JAL JAL | TAKHND [HNDKUH| 28,100 67%
[ JAL JAL | KUHHND [ HNDTAK| 29,900 65%
mE =% [ JAL JAL | TKSHND [HNDKUH| 26,300 69%
[ JAL JAL | KUHHND | HNDTKS| 28,100 67%
X5 =1l ) JAL JAL | OITHND [HNDKUH[ 22400 76%
[ JAL JAL | KUHHND | HNDOIT | 22,400 76%
R =3 [ JAL JAL | NGSHND|HNDKUH| 22,900 76%
[ JAL JAL | KUHHND [ HNDNGS| 22,900 76%
RER=1% [ JAL JAL _|[KMJHND[HNDKUH| 22,900 75%
[ JAL JAL | KUHHND [ HNDKMJ| 22,900 75%
BE=3% [ JAL JAL | KMIHND [ HNDKUH| 22,900 75%
[ JAL JAL | KUHHND | HNDKMI| 22,900 75%
BRE=HI% [ JAL JAL | KOJHND [HNDKUH| 22,900 76%
[ JAL JAL | KUHHND | HNDKOJ| 22,900 76%
PNEEEIN [ JAL JAL | HIUHND [HNDOBO| 31,400 63%
[ JAL JAL | OBOHND]| HNDHIJ 28,600 67%
BR=%k [ JAL JAL | TAKHND [HNDOBO| 31,600 62%
[ JAL JAL | OBOHND| HNDTAK| 29,400 65%
BE=%L5 [ JAL JAL | TKSHND [HNDOBO| 29,800 64%
[ JAL JAL | OBOHND| HNDTKS| 27,600 67%
KXo =%k ) JAL JAL | OITHND [HNDOBO| 22,000 76%
[ JAL JAL | OBOHND| HNDOIT | 22,000 76%
RIBE="%E [ JAL JAL | NGSHND[HNDOBO| 22,500 76%
[ JAL JAL | OBOHND|HNDNGS| 22,5500 76%
REAR=%L [ JAL JAL _|[KMJHND[HNDOBO| 22,500 76%
[ JAL JAL | OBOHND|HNDKMJ| 22,500 76%
SHEEEN [ JAL JAL | KMIHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND| HNDKMI| 22,500 76%
BRE=%L ) JAL JAL | KOJHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND|HNDKOJ| 22,5500 76%
TEN=&# [ JAL JAL | AKJHND [ HNDTAK| 28,400 67%
[ JAL JAL | TAKHND [ HNDAKJ| 30,000 65%
WE=TH0 [ JAL JAL | HKDHND | HNDTAK| 30,400 60% | K
[ JAL JAL | TAKHND [ HNDHKD| 27,900 63% | A
HEE=125 [ JAL JAL _|[HKDHND|HNDTKS| 28,600 62% |k
=) [ JAL JAL | TKSHND [ HNDHKD| 26,600 65% | A2:26,500
EACEDEE A EVACEE JAL JAL | HNDHKD [ HKDOIR 23,500 58%
HRFE JAL JAL | OIRHKD [HKDHND| 23,900 58% | A%:23,500
KB (FFH =BR BRF JAL JAL | OIRHKD [ HKDITM 22,100 66%
REERER) =E8 [ GR) E JTA JAL | OKAFUK | FUKTKS 28,700 55%
EE% JAL JTA | TKSFUK | FUKOKA| 28,700 55%
BI=1E5 JENES JAL JAL | AKJHND [ HNDTKS| 25,400 70%
BER JAL JAL | TKSHND [ HNDAKJ| 29,000 66%
BII=X5 JENIES JAL JAL | AKJHND [ HNDOIT | 21,400 77%
K55 JAL JAL | OITHND [ HNDAKJ| 21,400 77%
IR (EX) =B8R [4LIR(EE) F JAL JAL | OKDHKD [ HKDOIR 17,600 53%
EX3 JAL JAL | OIRHKD [HKDOKD| 17,600 53%
e =EE FlEES JAL JAL | KUHOKD [ OKDHKD| 20,200 54%
BHEER JAL JAL | HKDOKD | OKDKUH| 20,200 54%
flEE==R P JAL JAL | KUHOKD [ OKDMSJ| 21,900 56% | A%:24,200
ZR%E JAL JAL | MSJOKD | OKDKUH| 24,200 52%
FR =K FIR 3 JAL JAL | RISOKD | OKDHKD| 24,200 48%
HEER JAL JAL | HKDOKD | OKDRIS | 20,500 56% | A%:24,200
AR =1 FIRFE JAL JAL | RISOKD | OKDKUH| 24,200 52%
P JAL JAL | KUHOKD | OKDRIS | 20,500 59% | A%:23,600
ZR=FR =R%E JAL JAL | MSJOKD| OKDRIS | 23,600 55%
BERE=EI ERER JAL JAL | KOJHND [ HNDAKJ| 21,900 77%
FBIIZE JAL JAL | AKJHND [ HNDKOJ| 21,900 77%
EE=1BI IG5 JAL JAL | NGSHND| HNDAKJ| 21,900 77%
JENIES JAL JAL | AKJHND [HNDNGS| 21,900 77%
A= BEAZE JAL JAL | KMJHND [ HNDAKJ 21,900 77%
JENIES JAL JAL | AKJHND [HNDKMJ| 21,900 77%
R EHEES JAL JAL | KMIHND [ HNDAKJ| 21,900 77%
JENIES JAL JAL | AKJHND | HNDKMI| 21,900 77%




HROHE)=XE [RRERCRE) | REX JAL JAL | HNDKMJ | KMJAXJ 19,000 66% | A#:18,600
REH S JAL JAL | AXJKMJ[KMJHND| 19,400 65% | A:19,000, %:18,600
HRCEEE| #/E JAL JAL | HNDFUK | FUKAXJ 24,200 61% |4
REH [ JAL JAL [ AXJFUK [ FUKHND | 27,400 56% |4
KR (B =XE [KRFDHE| EX JAL JAL | ITMKMJ [ KMJAXJ| 16,300 59%
KEH S JAL JAL | AXJKMJ [ KMJITM 16,300 59%
AR (B | B[ JAL JAL | ITMFUK | FUKAXJ 14,600 67%
REH =l JAL JAL [ AXJFUK | FUKITM 17,800 60%
AL G F %) =R E [HLIR T iR) % Hel JAL JAL | SPKFUK | FUKAXJ 29,900 63%
REF Hxl JAL JAL [ AXJFUK | FUKSPK| 29,900 63%
BEXB=/1KRA| BEEXEH | BzE JAL JAL | ASJTKN | TKNOKE 11,900 60%
PKRESE | BB JAL JAL | OKETKN [ TKNASJ 11,900 60%
BrE=/EAH) | BeBR | KRE [ JAL JAL | TKNOKE [ OKEOKA[ 15,600 58%
SR (R | FKBER | JAL JAL | OKAOKE | OKETKN| 15,600 58%
RRCPHE) =B (RECHE)%| BRE JAL JAL | HNDKOJ| KOJTNE 30,100 53% |H:29,200, &:28,100, £:28,900
BEYER BR JAL JAL | TNEKOJ[KOJHND| 29,000 54% | H#:31.600
RRCPHE) =EAB(RE(HE)%| BRE JAL JAL [ HNDKOJ[KOJKUM| 29,700 54% | A:27,700, %:28,900
BAB% BR JAL JAL _|[KUMKOJ|KOJHND| 28,900 56% | H%:31,400
KR () =BAB [ KR(F) %] BRE JAL JAL [ ITMKOJ [KOJKUM| 24,300 52% | B k7K:23,900, £:25,200
BABR BR JAL JAL _[KUMKOJ| KOJITM 26,200 48% |5 %:28,500
SRR (BB F| BEXE | JAL JAL | OKAASJ[ ASJKOJ| 28,100 51%
[ERES BR JAL JAL | FUKKOJ [KOJKUM|[ 18,700 53%
BABR BR JAL JAL | KUMKOJ| KOJFUK 22,700 43%
ER=BFE& [EHRES BR JAL JAL | FUKKOJ | KOJTNE| 20,100 48% | A:19,700
BEYER BERE JAL JAL | TNEKOJ [ KOJFUK 22,700 41%
RE=HJI L5 [ERCHHE)| JAL JAL | HIJHND [ HNDAKJ 30,600 65%
JBINFE [RECRE)| JAL JAL | AKJHND | HNDHIJ 27,600 68%
I =25 [AITE] Il JAL JAL | MYJFUK | FUKKMI 18,700 63% | A%:19,200
I 5 B JAL JAL | KMIFUK [ FUKMYJ| 17,700 65%
) =BEAS| BEAEHR 5 JAL _|JAL/RAC| ASJRNJ [ RNJOKA| 16,000 62%
B =R AR |[HREXK| JAL JAL | OIROKD [ OKDHKD[ 18,000 58%
BEfEH  [HIR(EXR)| JAL JAL _|HKDOKD | OKDOIR 18,000 58%
EHi=8EXE 5% |48 L8 [JAL/RAC] JAL |RNJOKA|OKAASJ| 22,400 52%




SRS E 2022/9/1
E—o#
B #2i® = . 10/1-10/7 | gyl %
RRCHE) =2t SR#E(IBFR) | JAL [JTA/RAC| HNDOKA|OKAMMY| 26,600 63%  H:26,300, 7K:26,700. £:35,500, £:27,800, H:25,600
S (FR%) [JTA/RAC|JAL | MMYOKA[ OKAHND| 26,600 63% _ H:26,300, 7K:26.700, £:26,100, £:25,600, H:27.200
RR(HE) =%\ SP#E(IBF) | JAL |JTA/RAC| HNDOKA | OKAISG 27.200 65%  H:26.900. 7K:27,300. £:37,900, +£:28,400, H:26.400
ABR (BAF) | JAL JTA | HNDKIX | KIXISG 38,000 57%  A:37,400, H:37,100
EIE% |74 (B%) [JTA/RAC| JAL | ISGOKA [OKAHND| _ 27.100 66%  H:26.800. 7K:27.200. £:26,600. 1:26.400. H:27.700
KR (A =% @31 | KBk (5 F[R= (HE) [ JAL JAL | ITMHND |[HNDMMB| 27300 65%  H:26,100, K:27.400, %:32,200, £:26,400, H:26,000
E JAL JAL _| ITMSPK | SPKMMB| _ 27.700 64%  £:29,600, 1:30.100, H:23.201
ESEESS JAL JAL__|MMBHND[ HNDITM | 27,200 65% :26,700, :27,000, £:32,100. £:25,300, H:26.900
E JAL JAL _|MMBSPK| SPKITM | 27.800 64% _ JK:28,300.
PNACEEESFI PN ACEEIES JAL JAL | KIXHND [HNDMMB[ 23,700 70% :29,900.
E JAL JAL _| KIXSPK | SPKMMB| 25,900 66%  :28,000.
ESEEESS JAL JAL _[MMBHND| HNDKIX 25,300 68% :24,800,
JAL JAL _|MMBSPK| SPKKIX | 22,300 7% 7K:22,800. . H:23,000
RBR () =1He)il JENIE: JAL JAL [ AKJHND | HNDITM 23,400 69%  7K:23,900, H:26,100
AR (BAF8) =8 )1l JEVIE JAL JAL [ AKJHND | HNDKIX 22,600 70%  $:28,500,
KB (A =8I [ KBk (B % JAL JAL [ ITMHND | HNDKUH| 25,400 66% :32,600
F JAL JAL | KUHHND | HNDITM | 25,400 66%  H:25,300. . £:24,800, H:24.400
KBx (BEE) =HIE% [ KBk (BAF) % JAL JAL | KIXHND |HNDKUH| 22,700 70% __ F:22,000 H:23,900
FEES JAL JAL | KUHHND | HNDKIX | 23,500 69%  F:23,400, £:30,500, £:24,900, H:24,600
KB (FFH =85 [ KB (B % JAL JAL [ ITMHND [HNDOBO| 28,000 63%  F:25,800, K:28,300, £:31,000, £:25,400, H:26,300
HILF JAL JAL_|OBOHND| HNDITM | 25,500 66% A £:25,300, £:31,300, H:26.400
KR (BS#E) =I5 | AR (BAFE) % JAL JAL _| KIXHND [HNDOBO| 23,800 68% H: . 7K:23,900, £:29,100, £:23,700. H:25,600
HILF JAL JAL _|OBOHND| HNDKIX | 24,000 68% : . £:30,100, £:25,300, H:26,600
KRBR (53 =B8R | KR (B FH % JAL JAL [ ITMHND |HNDHKD| 23,500 65% 3,700, H:24,300
BEER JAL JAL _|HKDHND | HNDITM | 27.100 59% | J:26.300, A H:26.900, %:29,600, £:24,000
KB (BHEE) =ERfE | KRR (RAFE) % JAL JAL [ KIXHND |HNDHKD| 22,300 66%  £:26,500 1,200, H:23,600
BEESE JAL JAL__| HKDHND [ HNDKIX | 25,200 62% :24,400, %:28,400, £:24,000, H:27,100
KR (FFH) ==iR | KB (#F}) 5| JAL JAL | ITMHND | HNDMSJ 24,700 61%  £:25000 2,400, H:22,10
R JAL JAL | MSJHND [ HNDITM | 21,800 66%  7K:23,200, A:23,800, £:25400. £:23,200, H:21,200
KB (BA7E) = =iR | KB (B9FE) 5|3 JAL JAL | KIXHND | HNDMSJ 20,300 68%  £:23,100, £:21,500, H:21,40
REE JAL JAL__| MSJHND [ HNDKIX | 20,400 68% 9,900, 7K :22,400. £:24,200. H:21,400
RIR (D) =18 [ KBR () % JAL JAL [ ITMIZO | IZOOKI 16,600 57%  JKAK:16.100
[E0ES JAL JAL [ OKIZO | 1IZOITM 17,000 56%  +:17,900, H:17,500
KR (75 =58 F & | KB (5 % JAL JAL [ ITMKOJ | KOJTNE | 24,300 50%  %:25,200, £:24,600. H:23400
JAL JAL__| TNEKOJ [ KOJITM | 26,200 46% % H:28,500. £:26,600
AR (B =8 JAL _[JTA/RAC| ITMOKA [OKAMMY| 25,700 60%  %:27,300, 1:27.800. H:25,000
JTA/RAC| _JAL _|MMYOKA[ OKAITM | 25,000 61%
KR (Bf) ==& JTA__|JTA/RAC| KIXOKA [OKAMMY| 31,400 51% _ 7:31,300, £:30,700. £:32,000. H:30,400
JTA/RAC| JTA _|MMYOKA[ OKAKIX | 31,400 51% £:30,500, H:31,001
RIR () =518 JAL _|JTA/RAG] ITMOKA | OKAISG 26.200 63% 8,300, H:25,80
JTA/RAC| _JAL | ISGOKA | OKAITM | 25,300 64% A z 1:24.600. H:25.900
Kk (B8) =H1E E JTA__|JTA/RAC| KIXOKA | OKAISG | 32,000 55% A H:31,400, £:32,600
8 |48 (FBF) [JTA/RAC| _JTA | ISGOKA | OKAKIX | 31,800 55% A >+ H:31,500
2EHE (PH) =25 [ HE (P8 R ARG TR | JAL JAL _|NGOSPK|SPKMMB| 28,300 61% % . £:29.000, H:25.700
A% [ AURGHTR) | JAL JAL | MMBSPK[SPKNGO| 22,500 69% A . 7k:22,600, K:22,900. %:31,100, £:23,100. H:24,200
BAEE () =2 |2&E (P F P (BBFH) | JTA [JTA/RAC|NGOOKA|OKAMMY| 31,500 55% B ,700, £:31,600, £:31,800
E&% | P (FE)[JTA/RAC[  JTA |MMYOKA|OKANGO| 31,800 54%  F:32,000, A:31,700. H:32,200
ZEE(hE) =Fh1E|2EE (P E P (FBFH) | JTA [JTA/RAC|NGOOKA| OKAISG 32,100 58%  H:32,200, £:32,400, H:32,300
RiER #8 (B:) [JTA/RAC| JTA [ ISGOKA [OKANGO[ 32,100 58%
FLOR GRFRE) = /MR [ #LIR G Fa%) % R CRHE) | JAL JAL [ SPKHND |HNDKMQ| 23,400 66%  H:23,900, A:23,700. % H:27.800, 1:23,800
AR F TR =ARaE[fLIR TR |55 CRE) [ JAL JAL | SPKHND [HNDSHM| 29,700 61% | #:32,800, +:30,700, H:29.10
=R CRE) [ JAL JAL _[SHMHND| HNDSPK [ 28,600 63%  7%:29.300, £:32,800. £:29,200. H:30.200
ALIR (BT F %) =R [fLIR T &) 5| CRHE)|  JAL JAL [ SPKHND | HNDOKJ| 27,700 65%  F:28,300, £:32,800 5,600, H:31,000
[E0T} (FE) | JAL JAL _| OKJHND | HNDSPK | 26,200 67% _ A:27,000, £:32,800, +:30,400, H:26,500
LIREF TR = LB [LRFHTE % CRHE) | JAL JAL [ SPKHND | HNDHIJ 28,100 65%  :28,300, £:33,600. H:30.80
LS CRE)| JAL JAL | HIJHND | HNDSPK| 26,700 66%  7K:27.500, £:33,600. 1:31.50
FUAR BT 8 = L85 [ ALAR (B F4) 5[ BUR CRIE) | JAL JAL | SPKHND [ HNDUBJ| 25,600 69%  £:33,800 5,100, H:32.10
=EZE (FE) | JAL JAL | UBJHND | HNDSPK | 27,000 68%  A:25.300 7700, %:35,200, £:31,800, H:26.200
REFTFR) =HEHLRF TR % CRED [ JAL JAL | SPKHND | HNDIZO | 30.200 61%  7:30,500
HE CRE)| JAL JAL [ IZOHND | HNDSPK| 30,100 61%  7%:30.900
IR TR =@ AR F TR R FZCAE) | JAL JAL | SPKHND | HNDTKS | 26,800 65%  H:26, 7,100, %:32,700, £:24,400. B:30,300
BB CRE)| JAL JAL [ TKSHND | HNDSPK [ 26.400 66% H: . £:29,100. H:24.900
FLIR (BT Fa%) =42 [4LIR (3 %ﬁ)% R CRE) | JAL JAL | SPKHND | HNDTAK| 29,000 63% A:
BN (FE) | JAL JAL | TAKHND [ HNDSPK| 26,700 66% A: . £:32,600
ALIR (BT %) == &0 [4LIR (i T i) % ()| JAL JAL | SPKHND | HNDKCZ | 29,300 63% K-
=R CRE)|[  JAL JAL | KCZHND | HNDSPK | _ 27.800 65% AH: . £:33,000, H:28.400
FLIR (BT F A% =HALL [#L0R (i T2 % CRE)[ JAL JAL | SPKHND | HNDMYJ| 29,000 64% B: . 0:34,200
[NITE CRE)|[  JAL JAL _|MYJHND | HNDSPK | 29,600 63 A:27.900. A:30.400. £:36,700. £:34,200, H:29.300
AREFTH) =LAMN[ALR G TR %[HRCRE)| JAL JAL_| SPKHND [ HNDKKJ | 31,200 64% | 5:31,300, A:31,500, % H:35,200, £:28,700
EAMFE CRHE)| JAL JAL [ KKJHND | HNDSPK [ 27.800 68 F:27,700. 7:28,500, £:35,200, £:33,000. H:30.800
LIREFTFR) =X5 [fLRFH TR % CRE)[ JAL JAL [ SPKHND | HNDOIT 30,200 65%  §:31,500, 7k K:30,600, % H:35,200, 1:31,400
nE CRE)|[  JAL JAL _| OITHND | HNDSPK| 31,700 63%  A:30,000, 7K:32,700, X:32,400, £ +:35,200, H:32.200
LR TR =R 1R G Fa) %[ Rm (IE) [ JAL JAL [ SPKHND |HNDNGS[ 31,400 65%  :31,100, 7K:31,000, 4 £:36,600. 1:34,200, H:36,400
R CRE)|[  JAL JAL _|NGSHND | HNDSPK | 32,300 64% _ J:30.600, #:33,000, % B
LR FTTFR) =RBA[fLR TR % ()| JAL JAL | SPKHND [ HNDKMJ| 30,900 64% _ F5:31,700, 7K:31,300, 4
REAR S CRE)| JAL JAL _[KMJHND | HNDSPK | 31,500 64%  :30.200, &:31.900.
IR FTFR) =215 *Ltﬁ(%ﬁ—ﬁ)gl; R CRE) | JAL JAL [ SPKHND | HNDKMI 29,700 66%  H:30,500, 7K:29,300 1,900, H:35,700
B CRE)|[  JAL JAL _| KMIHND | HNDSPK | 30,700 65%  H:29,400, 7K:31,000, 6.700, H:30.200
ARFTR) -ERB[ARFTFR)%[HRCRE)| JAL JAL_| SPKHND [ HNDKOJ| 29,900 66%  F:31,100, /K:28,600, 3,000, H:37,500
BERB% CRHE)| JAL JAL _[KOJHND | HNDSPK [ 32.200 64%  F:30,600, 7K:31,500, & . H:32,90
IR R =04 (B8 | 1LIR (35 |3 CRE) | JAL JAL | SPKHND [HNDOKA| 32,400 65%  F:32,200. ] %::42,300, 1:36,300, H:35,000
RER(BFD [ JAL JAL | SPKITM [ ITMOKA [ 20.000 79% | #:25,800,
AHE(RE) | JAL JTA__| SPKNGO [NGOOKA| 32,600 65%  F:32,700, . H:34,600
] JAL JTA__| SPKFUK | FUKOKA| 38,600 60% _ A:37,600,
PR (BRER) E[EECHE) [ JAL JAL [ OKAHND | HNDSPK| 31,400 66%  5:31,200, | A . #:40,800, £:30,700, H:35,000
ABR(FFH | JAL JAL | OKAITM | ITMSPK 20,800 78%  %:25,900, . B:
ABR (BAFD) | JTA JAL | OKAKIX | KIXSPK | 33,200 64%  £:35,000, NI=E
|Z&HERE | JTA JAL _|OKANGO|NGOSPK| 30,000 68% _ A:30,200, A:29,800, £:32,700. H:30,600
HEl JTA JAL | OKAFUK | FUKSPK | 37,600 61%  JKA#:38,600. +:40,000. H:38,700
FLIR G FRR) =R1E [#LIR G TR % R CHE) | JAL JAL [ SPKHND | HNDISG 37.200 67%  £:39,300,
BER B JAL JAL | ISGHND [ HNDSPK| 36,700 68%  7:36,800. . H:40,200
|zaREE®| JTA JAL | ISGNGO |NGOSPK| 38,800 65%  J4:38.400, . H:42,200
ARFTR) =24 [HLRFTRE[AEEEMH [ JAL JTA _[SPKNGO [NGOMMY[ 41,000 62% _ H:40,600, £:45,800. . B:42,500




BR=%E5 JAL JAL | FUKHND |HNDMMB| 33,800 65% | /:32,600, 7A:33,900, £:40,500, +:33,600. H:35.800
JAL JAL _| FUKSPK [ SPKMMB| 29,700 67% _ H:30.200. 7K:30.700, A H:31,200, %:31,300, £:32.500
JAL JAL__|MMBHND[ HNDFUK| 32,600 66% | H:32,100, 7:33,000, £:40,500, +:33,200. H:34,700
JAL JAL _|MMBSPK| SPKFUK | 26,700 70% _ A:26,200. % 7,900, B:27.500
BR=1EI JAL JAL | FUKHND [ HNDAKJ| 33,600 64%  :34,400. 2,800, H:33,300
JAL JAL _| AKJHND [ HNDFUK | 28,800 69%  :37.400, . B:32.801
=R =8 JAL JAL | FUKHND [HNDKUH| 31,900 66%  £:36,900, 1:31,600. H:34.40
JAL JAL | KUHHND | HNDFUK | 30,800 67% _ A:30,700, A £:31,200, %:36,900, H:32,200
BE=%Fk JAL JAL | FUKHND [HNDOBO| 34,500 63% _ H:32,300, A:34,800, £:36,500, 1:32,600. H:36.100
JAL JAL _|OBOHND| HNDFUK| 30,900 67% _ A:31,300, £:36,500, £:31,600, H:34,200
AR JAL JAL | FUKHND | HNDHKD| 29,500 65% % H:34,100, 1:31,300
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FERS | JAL JAL | ITMASJ [ ASJKKX | 29,100 48%  H:30,000
ERBR ERE JAL JAL | KKXKOJ | KOJITM 26,800 57%  HIK7K:26,400, £:28.400. 1:25.900, B:27,600
FERS | JAL JAL | KKXASJ [ ASJITM | 29,100 48%
AR (P =B2B|AR(FM %] ERE JAL JAL [ ITMKOJ | KOJTKN| 28,000 58% B JK7:27,600, £:28,900, 1:30,400
(Rt FERE JAL JAL [ TKNKOJ | KOJITM 28,200 57% | H:29.400, /KK:27,800, %:31,300, £:27,300, H:29,000
BEAE [ JAL JAL [ TKNASJ | ASJITM 31,600 48% | 1:32,000
KR (1) = ok R 3| KRR (A 6| Fe! JAL JAL | ITMKOJ [KOJOKE| 28,900 58% A Kk H:28,500, %:29,800. £:29,300
HkRERSE | Rl JAL JAL | OKEKOJ | KOJITM [ 29.100 58%  J7K:28,700, £:32,600, 1:28,200. H:29.900
KR (D) =55 |RAR(EFH F|_E) JAL JAL [ ITMKOJ | KOJRNJ 29,400 59% B KA H:29,000, %:30,300, £:29,800
EEXE [ UAL JAL [ ITMASJ | ASURNJ [ 35.400 49%
e JAL JAL__| RNJKOJ [ KOJITM | 29,600 58% | H7KA:29,200, %:32,100, £:28,700. H:30,400
BE=8XXE ! JAL JAL | FUKKOJ [ KOJASJ | 19.300 62%  H:19,800. +:18,300. H:20.100
2 JAL JAL__| ASUKOJ[KOJFUK| 21,500 58% | 7k:22,000, £:23,300. £ H:20,500
BEE=ER5 BWEXE | JAL JAL [ FUKASJ | ASUKKX [ 22,500 56%
BEXE | JAL JAL | KKXASJ | ASJFUK | 22,500 56%
EE=1EZ8 ERE JAL JAL [ FUKKOJ | KOJTKN | 24,300 57%  1:24,900. H:23.700
BEXE | JAL JAL | FUKASJ [ ASJTKN| 25,000 55%
ERE JAL JAL | TKNKOJ | KOJFUK | 24,300 57% _ H:25,900, & H:23,300
BEXRS | JAL JAL | TKNASJ [ ASJFUK | 25,000 55%
HRCPR) =53 R | JAL RAC _|HNDOKA |OKAOGN|  27.000 69%  %:40,300
AiE JAL RAC__| HNDISG [ ISGOGN | 29,400 66%  + H:31,700
SMEFE [HEERH) | RAC JAL [OGNOKA|OKAHND| 27,000 69%  %:30,600
AiE RAC JAL | OGNISG [ ISGHND | 29,400 66%  + H:31,700
KR (75 =S IE | KB (1) 5[ i RE) [ JAL RAC | ITMOKA [OKAOGN|  39.400 50%
| | 5S#;ESE [+ME8H| RAC JAL _[OGNOKA| OKAITM 39,400 50%
AR (BEE) =5 3E | KB (BEE) S GRB) [ JTA RAC | KIXOKA [OKAOGN|  39.400 50%
AiE JTA RAC | KIXISG |ISGOGN | 39,400 46%
SMEFE [HEERH) | RAC JTA [OGNOKA| OKAKIX 39,400 50%  1:39,000
AiE RAC JTA__| OGNISG | ISGKIX 39,400 46% | 1:39,000
LEE (PR =5BE| 2R (P X PEEBR) | JTA RAC |NGOOKA[OKAOGN|  40.300 52% _ H 0:40,400, %:40,200
AiE JTA RAC | NGOISG [ ISGOGN | 38,200 52% | #:40,400, + H:39,000
SMEFE [HEERH) | RAC JTA [OGNOKA|OKANGO[  40.300 52% _ H 0:40,400, %:40,200
aiE RAC JTA__| OGNISG [ ISGNGO | 38,000 52% | #:40,200, + H:38,800
L =58E FELLFE [AEEERE) | JTA RAC | OKJOKA [OKAOGN|  28.400 64%  7%:32,300, £:32,800
RAC JTA__|OGNOKA[OKAOKJ| 28,300 64%  A:32,300, £:32,800, £:32,900, H:32,400
SHE JTA RAC | FUKOKA |[OKAOGN| 34,100 51% 1 H:34,200
RAC JTA__|OGNOKA[ OKAFUK| 34,100 51%  + H:34,200
= JTA/RAC| RAC | OKAISG | ISGOGN | 11,800 72%
RAC _|JTA/RAC| OGNISG | ISGOKA | 11,800 72%
HRCPE) =AKE & JAL _[JTA/RAC|HNDOKA|OKAUEO| 25,800 59% | H:25,500, JKA:25,900, :38,300, £:25,000, H:26.400
ssTaRac| JAL | UEOOKA|OKAHND| 25,800 59% | H:25,500, 7K:25,900, +:24,200, H:26,400
KR () =AKE JAL _[JTA/RAC| ITMOKA [ OKAUEO| 24,900 55%  A1:25,000, H:25.40
ssTaRac| JAL | UEOOKA| OKAITM | 24,900 55% . H:25,400
AR () =AKE JTA _[JTA/RAC[ KIXOKA | OKAUEO[ 29,400 47% . H:28,900
susTaRac| JTA | UEOOKA| OKAKIX | 29,400 47% H:28,900
AHE(PH) =AKE JTA__|JTA/RAC|NGOOKA| OKAUEO| 31,000 49% .100. H:31,40
susTaRac| JTA | UEOOKA|OKANGO| 31,000 49% 1100, H:31,40
wBE=AXKE JTA _[JTA/RAC| FUKOKA | OKAUEO[ 24,900 47% _ 7K:25,000, A 5,100, %:25,000, H:25,300
sustaRac| JTA | UEOOKA| OKAFUK| 24,900 47% _ 7K:25000, A £:25,100, £:25,000, H:25,300
B CHE) =Rk JAL JAL [ HNDITM | ITMOKI 20,800 62%  A:21,400, %
JAL JAL | HNDIZO | IZOOKI 20,800 59%  JK7:20,300, %: 100
JAL JAL _| OKITM | ITMHND | 20,600 63%  :22,500, 1
JAL JAL | OKIIZO [ IZOHND | 21,000 59% | #:27,400,
R (B =FR JAL JAL | OKAITM | ITMKIJ 19.700 75% :20,400, £:24,100, H:21,60
JAL JAL | KIJITM [ ITMOKA | 18,700 76%  JK7K:19,400, %:25,900, £:20,100. H:20,400
EE=HREFFTR) | BEE JAL JAL [ FUKHND | HNDSPK [ 33,700 61%  H:32.000. 7#:34,400. £:40,500, £:36,700, H:32,100
AR BT ) 5[ JAL JAL_| SPKHND [ HNDFUK| 31,700 63%  :32,400, £::39,000, £:34,700, H:38,700
BEH=%H5 FHER JAL JAL [ AOJSPK|SPKMMB| 19,400 63% B AH:19,900, £:21,900. £:20,300
ESTLE JAL JAL _[MMBSPK| SPKAOJ| 20,800 60% =+ H:20,300, K:21,200. £:23,000
BE=%H5 FLEH 5 JAL JAL [ AXTSPK | SPKMMB| 21,700 61%  %:23,000, £:21,200
ESES JAL JAL | MMBSPK| SPKAXT | 21,200 62% _JK:21,700, #:23,000, £:21,700. B:21,600




ZHE(FE) =F/E|[A5E (P8 % RECAA) | JAL JAL |NGOHND|HNDOBO| 23,900 66% . K:24,200. £:26,600, 1:23,800, H:24,600
HILFE CRE)|[  JAL JAL _|OBOHND|HNDNGO| 21,800 69% t:23,500, B:23.80!
2 E (FE) =) |25 E (h&h) %[ RR CHE) | JAL JAL _[NGOHND | HNDAKJ 23,000 68% :30,500, +:24,000. H:23.400
JEVIES (FE) | JAL JAL | AKJHND [HNDNGO[  19.300 73% 127,400, £:19.900, H:22.40|
B =5 SIE CHED|  JAL JAL | TAKHND [HNDMMB| 29,300 66% :28,100, :29,400, £:40,200. £:30,800, H:30,100
f (FE) | JAL JAL _|MMBHND| HNDTAK| 29,500 66% _ 7:29,000, £::38,700, +:27,300, H:30,700
EE=%#5 CRHE) | JAL JAL _| TKSHND [HNDMMB| 27500 68%  :26,500, &K H:27,600, %£:38,200, 1:27,000
(FE) | JAL JAL _|MMBHND| HNDTKS | 27.700 68%  7:27,200, £::38,200. +:25,500. H:26,300
Ko =2iih 5 CRHE) | JAL JAL [ OITHND [HNDMMB[ 23,400 75% 3 4,400
(FE) | JAL JAL _|MMBHND| HNDOIT [ 23.400 75% &+ H:24.400
R =203 5l CRHE) | JAL JAL [ NGSHND [HNDMMB[ 23,900 76% 3 5,000
(FE) | JAL JAL _|MMBHND|HNDNGS| 23900 76% % 5,000
EA=%iH5 CRHE) | JAL JAL _[KMJHND [HNDMMB[ 23,900 75% 3 5,000
(FE) | JAL JAL _|MMBHND| HNDKMJ| _ 23.900 5% & 5,000
B =255 CRHE) | JAL JAL | KMIHND [HNDMMB[ 23,900 75% 3 5,000
i (FE) | JAL JAL _|MMBHND| HNDKMI [ 23.900 5% & 5,000
ERB=%i5] ERE3 CRED[ JAL JAL | KOJHND [HNDMMB| 23,900 76% & 5,000
ERIES (FE) | JAL JAL _|MMBHND| HNDKOJ[ _ 23.900 76% @+ H:25.000
ARG TR —BEAR IR F TR %R CHE) | JAL JAL | SPKHND [ HNDASJ| 35800 64%  :38,200, %: . 5:36,800
BEABHE CRE) [ JAL JAL [ ASJHND | HNDSPK [ 35,000 64 5:36,600. 7 . £:33,800, H:37.900
EHR=BEAE |_#HR (EE)| JAL JAL [ AOJHND | HNDASJ| 34,100 64%  :37.000. . H:35,700
BEEABH CRHE)| JAL JAL [ ASJHND | HNDAOJ| 34,900 63%  H:36.500.
ME=FEXXE GES ()| JAL JAL | AXTHND | HNDASJ | 35,200 60%  AK:37.600. H:31.400
(3 P JAL JAL _| ASJHND | HNDAXT | 32,600 63%  A:34,200,
IMA=BEAS JAL JAL _|KMQHND| HNDASJ| 28,600 66%  7k:31,000,
JAL JAL | ASJHND [HNDKMQ[ 28,600 66%  3:30.200,
=g JAL JAL | TAKHND | HNDKUH| __ 27.400 68%  %:40,600, 1
JAL JAL | KUHHND | HNDTAK | 27.700 67% _ A:27.600 . H:28,200
EE =8I JAL JAL | TKSHND [HNDKUH| 25,600 70%  £:37,600, £:25,000, H:26.201
JAL JAL | KUHHND | HNDTKS | 25,900 69% : . £:37.800, £:25,100. H:23,800
Ao =8l JAL JAL | OITHND |HNDKUH| 22,400 76% 3 ,400
JAL JAL | KUHHND [ HNDOIT | 22,400 76% % 3,400
R =8I JAL JAL _[NGSHND | HNDKUH| 22,900 76% 3 3,900
JAL JAL | KUHHND [HNDNGS| 22,900 76% % 3,900
REA=HIE% JAL JAL _[KMJHND [ HNDKUH| 22,900 75% 3 3,900
JAL JAL | KUHHND [ HNDKMJ| 22,900 5% & 3,900
RS JAL JAL | KMIHND | HNDKUH| 22,900 75% 3 3,900
JAL JAL | KUHHND | HNDKMI [ 22,900 5% & 3,900
ERE=4 JAL JAL [ KOJHND | HNDKUH| 22,900 76% z £ H:23,900
JAL JAL | KUHHND [ HNDKOJ[ 22,900 76% % 3,900
BE=%IL JAL JAL | HIJHND [HNDOBO| 29,100 66% : K:29.400, £:34.700, +:27,900, H:28.800
JAL JAL _|OBOHND| HNDHIJ | 27,000 68% 234, t:27.100, B:27.30!
Bi="%I5 JAL JAL | TAKHND [HNDOBO| 29,300 65%  H:27.100, A:29,600, £:37,700, +:29,800. H:30.400
JAL JAL _|OBOHND| HNDTAK| _ 27.800 67% %37, t:27.300, B:30.201
BE=%IL JAL JAL | TKSHND [HNDOBO| 27,500 67% 125, K:27.800, £:37.400, +:26,000, B:27.900
JAL JAL _|OBOHND| HNDTKS | 26,000 69%  :37.400, £:25.500, H:25.80
RO =L JAL JAL | OITHND [HNDOBO| 22,000 76% & 3,000
JAL JAL _|OBOHND| HNDOIT [ 22,000 76% @+ H:23000
RBE="%I5 JAL JAL | NGSHND [HNDOBO| 22,500 76% & 3,500
JAL JAL _|OBOHND|HNDNGS| 22,500 76% % 3,500
BA=%IL JAL JAL | KMJHND [HNDOBO| 22,500 76% & 3,500
JAL JAL _|OBOHND|HNDKMJ[ 22,500 76% & 3,500
BB =55 JAL JAL | KMIHND [HNDOBO| 22,500 76% & 3,500
JAL JAL _|OBOHND| HNDKMI [ 22,500 76% % 3,500
ERG=%L JAL JAL | KOJHND [HNDOBO| 22,500 76% & 3,500
JAL JAL _|OBOHND| HNDKOJ[ 22,500 76% @+ H:23500
TEI=@ JAL JAL__| AKJHND [HNDTAK| 26,400 69%  #:39,100, +:25,000. H:29.90
JAL JAL _| TAKHND | HNDAKJ | 27.600 68%  7k:28,400. £:41,100. +:29.70
EE=m JAL JAL | HKDHND [ HNDTAK| 29,400 61%  7:28,600, ,200, 1:25,800. H:30,700
JAL JAL _| TAKHND | HNDHKD | 26.400 65%  :35.200, 100, F:28.40
EE=E5 JAL JAL_|HKDHND [ HNDTKS | 27,600 63%  F:26,800, 700, +:24,200, H:26,300
JAL JAL _| TKSHND [ HNDHKD | 25,100 67%  £:34,800, 1:24.600, H:25.90!
RR(CHA) =R’R JAL JAL _[HNDHKD | HKDOIR 22,100 61%  H:21,800 7,200, £:25,100, H:22,500
JAL JAL _| OIRHKD | HKDHND| 22,900 59%  [:22,100, £:24,300, £:22,400, B:25,100
PNAGIEL Y JAL JAL [ OIRHKD | HKDITM 22,100 66%  + H:23,400
R (B =8 [ JTA JAL | OKAFUK | FUKTKS 28,700 55%  3%:29,300, 1:28,800, H:29,100
JAL JTA | TKSFUK | FUKOKA| 28,700 55% | #:20,300, + H:28,800
BI=%8 JAL JAL | AKJHND [ HNDTKS | 23,800 72% 00, £:23,400, H:24.400
JAL JAL | TKSHND [ HNDAKJ| 26,600 69% /400, £::38,800. £:26,200. H:25,600
BII=X5 JAL JAL [ AKJHND | HNDOIT 21,400 77% :22,400
JAL JAL | OITHND [ HNDAKJ| 21,400 77% :22,400
AR (B3 =B8R JAL JAL _[OKDHKD| HKDOIR [ 17.600 53% H:14,600
JAL JAL | OIRHKD [HKDOKD| 17,600 53%  +£:17,100. H:14,600
ElERE JAL JAL _[KUHOKD | OKDHKD [ 20.200 54%
JAL JAL | HKDOKD [ OKDKUH| 20,200 54%
Hlpx= JAL JAL _[KUHOKD | OKDMSJ[ 24,200 52%  H:19.700, H:21.900
JAL JAL | MSJOKD [ OKDKUH| 22,800 55% |4 H:24,200, £:22,100
FI R =ERfE JAL JAL [ RISOKD | OKDHKD[ 22,900 51%  +:20,200
Fil = % JAL JAL | RISOKD | OKDKUH| 23,700 53% A
ERB=RJI JAL JAL | KOJHND [ HNDAKJ [ 21.900 7% 2
JAL JAL__| AKJHND [HNDKOJ| 21,900 I
Ri=Re)l JAL JAL | NGSHND | HNDAKJ| 21,900 FTRE
JAL JAL | AKJHND [HNDNGS| 21,900 I
REA=1e)Il JAL JAL | KMJHND [ HNDAKJ [ 21.900 7% 2
JAL JAL__| AKJHND [HNDKMJ| 21,900 I
=i =8Il JAL JAL [ KMIHND | HNDAKJ [ 21,900 7% ®
JAL JAL__| AKJHND [ HNDKMI| 21,900 I




RR(HA)=XE KR CRE) % JAL JAL | HNDKMJ | KMJAXJ 19,800 65%  H:20,000, A:20,500. £:21,900, £:20,700, H:21,000
KEH JAL JAL [ AXJKMJ | KMJHND [ 20,600 63%  7K:20,200, 7:19,400. £:21,80
RECHE) % JAL JAL | HNDFUK | FUKAXJ 25,100 60%  £:28,700, 1:25,300. H:26,00
RER JAL JAL _| AXJFUK | FUKHND | 27.800 55%  7:25,100, £:30,400, £:26,000. H:28,700
KRR () =XRE | X (B % JAL JAL [ ITMKMJ | KMJAXJ 16,300 59% :19,400
RER JAL JAL | AXJKMJ [ KMJITM [ 16.300 59%  %:19,700
KBR (1) % 7 JAL JAL [ ITMFUK | FUKAXJ 17,800 60 :23,800
x&= 1B JAL JAL | AXJFUK | FUKITM | 17.800 60% _ £:23,800. H:20,500
WREFFR) =KREHRFTH) %] 18R JAL JAL [ SPKFUK | FUKAXJ 30,900 61 :29,900, H:32,100
KEH &l JAL JAL [ AXJFUK | FUKSPK [ 29,900 63% /KR H:30,900. 1:32.200
BEAB=AKRE| BEEXBH JAL JAL | ASJTKN | TKNOKE [ 11,900 60%
JAL JAL | OKETKN | TKNASJ| 11,900 60%
BzE=1"E(BH JAL JAL | TKNOKE | OKEOKA| 15,600 58%
3 JAL JAL | OKAOKE [ OKETKN | 15,600 58%
RE(CHE) =BFB[RZ JAL JAL | HNDKOJ| KOJTNE [ 30.100 53% B+ H:29,200, &:28,100, £:28,900
5 JAL JAL | TNEKOJ [ KOJHND| 29,000 54% | A% H:31.600. £:30.500
RECHER) =BAB[RZCHE) %[ ! JAL JAL | HNDKOJ | KOJKUM| 29,700 54%  7:27.700, £:28,900
EBABS ! JAL JAL | KUMKOJ|KOJHND| 28,900 56% B % H:31.400. £:29.800
KR () =BAB|XR(FF) %[ ! JAL JAL [ ITMKOJ |KOJKUM][ 24,300 52% B IKAH:23,900. & £:25,200
BABS e ) JAL JAL _[KUMKOJ| KOJITM 26.200 48% A% H:28,500, £:26.600
BERE = (DR MR | EBEXE [ JAL JAL | OKAASJ| ASJKOJ| 28,100 51% | #:20,400, B:27,600
EE=EAB [HEES ! JAL JAL [ FUKKOJ |KOJKUM[ 18,700 53%
JAL JAL | KUMKOJ[ KOJFUK| 22,700 43%
BE=1EF5 JAL JAL | FUKKOJ [ KOJTNE [ 20.100 48% A+ H:19,700
JAL JAL__| TNEKOJ [ KOJFUK| 22,700 41%
LE=MeJI JAL JAL [ HIJHND | HNDAKJ [ 28,200 67%  H1:28,100, A:29,000. £:38,600, B:27,500
JAL JAL | AKJHND [ HNDHIJ | 25,600 70% _ #:36,000, +:24.600. H:27.00
=2k JAL JAL | MYJFUK [ FUKKMI [ 19.200 62%  H:18,700, £:20,600. £:20,500. H:19,500
JAL JAL | KMIFUK [ FUKMYJ| 17,700 65%  #:21,100, +:19.500. H:19.00
(BB =BEXS JAL _|JAL/RAC| ASJRNJ | RNJOKA | 16,000 62%
RR=&E ALIR(EX) [ JAL JAL | OIROKD | OKDHKD| 18,000 58% £ H:15,000
FLIR(EER) | JAL JAL _[HKDOKD | OKDOIR 18,000 58% 1 H:15,000
S5H=BEXE S8 (IRFR) [UAL/RAC| JAL | RNJOKA | OKAASJ | 22400 52%




RS 2022/9/1
P v ET0) FERH B 10/11-10/28| 578 =
PO B | B | I | A5 1 .
RRCHE)=2%4 [HECHA) F|H8 (R%)| JAL [JTA/RAC| HNDOKA | OKAMMY 6,600 63% |2 ,800, H:25,900
= [:%#8 (F%) [JTA/RAC|__JAL _|MMYOKA| OKAHND 6,600 63% |4 00
RRE(HE)=FHE |RRCRA) %448 JBHW | JAL [JTA/RAC| HNDOKA | OKAISG 7,200 65% 400, H:26,700
x JTA | HNDKIX | KIXISG | 38,000 57%
RIER JAL | ISGOKA | OKAHND 7,100 66%
KR () =% Al | KR () % JAI JAL | ITMHND |HNDMMB 6,100 67%
JA JAL | ITMSPK | SPKMMB 7,100 65% ,100
SRS JA JAL _[MMBHND| HNDITM 6,700 66% |4 ,900, H:26,900
JA JAL | MMBSPK| SPKITM 7,900 64% H:28,300
KB (BA#8) =23l | KR (B#E) S [ BR CRIE) [ JAL JAL | KIXHND |HNDMMB 2,400 71%
FTFR| JAL JAL | KIXSPK |SPKMMB 5,100 67%
ZimR% |RECHAB)| JAL JAL _|MMBHND]| HNDKIX 4,800 68%
FTFR| JAL JAL | MMBSPK| SPKKIX 1,900 71%
KB (5D =Rl | KBR (A #|RECHAE) | JAL JAL | ITMHND | HNDAKJ 7,100 65%
JEIIE (FE) | JAL JAL | AKJHND | HNDITM 400 69%
KPR (B8#8) =he Il | KRR (B87E) | R CHE)|  JAL JAL | KIXHND | HNDAKJ 700 70%
JEIIED (HE) | JAL JAL | AKJHND | HNDKI 600 70%
KB (57 =8IEg | KBk (A #|RECHAE) | JAL JAL | ITMHND | HNDKUH ,700 69%
$l3% 5 CRE)| JAL JAL | KUHHND | HNDI 100 67% . H:24,400
KR (BE78) =8IER | ABR (B87E) % | R CHE)|  JAL JAL | KIXHND | HNDKUH ,300 73% ,200, £:23,800, H:23,900
EEES CRE)| JAL JAL | KUHHND | HNDKL. ,200 69% ,900, H:24.600
KB (FFH) =#E [ KRR %[ FR(HEA) | JAL JAL | ITMHND |HNDOBO ,000 65% 800, /K A:27.900. £:27.000. T.25,400. H:26.300
HLE (FE) | JAL JAL _|OBOHND | HNDITM ,500 66% +:25300, £:27,000, B:26.400
KBx (B8TE) =#/5k | KMk (B8F8) 5| B (A | JAL JAL | KIXHND |HNDOBO ,200 70% A #£:23,800, +:23,700, H:25600
HILE (FE) | JAL JAL | OBOHND | HNDKIX 4,000 68% :23,700, %:26,100, :25,300, H:26.600
KB (7 =BfE | KBR (A #|RECHAB) | JAL JAL | ITMHND | HNDHKD 3,500 65% H:24,300, +:23,700
4 (HE) | JAL JAL | HKDHND | HNDITM 6,300 60% 6,100, £ H:26,900, £:24,000
Kk (BAFE) =ER8E R CHED | JAL JAL | KIXHND |HNDHKD| 22,300 66% ,100, .100, H:23,600
GHE) | JAL JAL | HKDHND | HNDKIX | 24,400 63% |2:25.200, £:24,000. H:27.100
AR (FH ==iR R CRIE) | JAL JAL | ITMHND |HNDMSJ| 24,700 61% |%:23,800, £:22,400, H:22,100
HE)| JAL JAL | MSJHND | HNDITM | 21,800 66% |7k:23,200, 7:23,800, £:25,800, £:23200. H:21,200
KR () ==iR R CRED | JAL JAL | KIXHND [HNDMSJ|  20.300 68% |% H:21.400, £:21,500
ZR% FE)|  JAL JAL | MSJHND | HNDKIX | 20.400 68% 119,900, Jk K £:22,400. £:24,100, H:21,400
KR () =fk | KRR S| HE JAL JAL | ITMIZO | 1ZOOKI 16,600 57% |JKA:16.100, £:16.300
[R% 5 z JAL JAL | OKIIZO | 1zOITM 17.000 56% |£:17.700, £:17,900, H:17.500
AR =BFB[AREDE| BERE JAL JAL | ITMKOJ | KOJTNE 24,300 50% |#£:25.200, £:24,600, H:23400
1 JAL JAL | TNEKOJ | KOJITM | 26,200 46% % H:28,500, +:26,600
AR (B =8% JAL _[JTA/RAC| ITMOKA [OKAMMY[ 25700 60% |#£:26.500. £:27.800, H:25.000
JTA/RAC|  JAL _|MMYOKA| OKAITM | 25,000 61%
KBz (B§FE) ==& JTA [JTA/RAC]| KIXOKA [OKAMMY[ 31,400 51% | H:31.300. £:30,800, +:32.000. H:30.500
JTA/RAC| JTA |MMYOKA| OKAKIX | 31,400 51% |#1:30.500, H:31,000
AR (#FH =F1E JAL _[JTA/RAC| ITMOKA | OKAISG 26.200 63% |£:27,000, £:28,300, H:25.800
JTA/RAC| JAL | ISGOKA | OKAITM | 25,400 64% [7kK:25.300, £ +:24,600, H:25.900
KR (%) =H1E JTA_|[JTA/RAC| KIXOKA | OKAISG | 32,000 55% :31,900, & H:31,400, £:32,600
JTA/RAC| JTA | ISGOKA | OKAKIX | 31,900 55% [/kA:31,800. £+ H:31,500
ZEE(PE) =% B JAL JAL | NGOSPK|SPKMMB| 27,100 62% |£:30,100, F:29,500. H:25.700
JAL JAL | MMBSPK| SPKNGO| 22,500 69% | A:22,900, %:24,800, +:23,100. H:24,700
EHCE R JTA [JTA/RAC|NGOOKA[OKAMMY[ 31,800 54% | A H:31.700. /KAK:31.500, £:32.200
JTA/RAC|  JTA |MMYOKA|OKANGO| 32,000 54% [7k:31.800. £:31,700, H:32.200
AHE (P =FR1E JTA _[JTA/RAC|NGOOKA| OKAISG 32,200 58% |7KA:32.100. £:32,400. £:32,800, H:32,300
JTA/RAC|  JTA | ISGOKA [OKANGO| 32,100 58%
LR (FF ) = /i JAL JAL | SPKHND [HNDKMQ| _ 23.400 66% | A:23.700. %:26,700, +:23.800. H:27.800
P JAL JAL__|KMQHND| HNDSPK| 25100 63% | H:23400, :25900, % +:27,800. H:24,900
RFTR) —mRAE R FTR R|[RR CHE) |  JAL JAL | SPKHND [HNDSHM| 29,700 61% |£::29.900, H:29,100
BfLEESE CRA)| JAL JAL [ SHMHND|HNDSPK| 28,600 63% | 7:29.300. 9,000, H:30,200
AL (FF %) =R #Lm}i(%ﬁﬁ)&e R CRIE) | JAL JAL | SPKHND | HNDOKJ| 27,700 65% | H:27.200. Jk: 0,200, 1:25,600. H:30,100
HE)| JAL JAL | OKJHND [ HNDSPK| 26,200 67% | A:27.000, & . 1:30.400. H:26.500
IR FFR) =L *Lm}i(%f%—ﬁ)% R CHE)|  JAL JAL | SPKHND | HNDHIJ 28,100 65% | H:27.800, %:30.900, H:30.700
L5 HE)| JAL JAL | HIJHND | HNDSPK| 26,700 66% | A:27.500, %:30,200. £:31,500
ARFFR) =LOFH AR FTR K[ R CHE) | JAL JAL | SPKHND [ HNDUBJ| 25,600 69% | A JK:25.200, £:27,100, £:25,100. H:29,000
ME=ESE CBE) | JAL JAL | UBJHND [ HNDSPK| 27,000 68% [ H:25.300, A:27,700, £:30.200. +:31,800, H:25.800
IR (FFR) =HE #Lm}i(%ﬁﬁ)&e R CRIE) | JAL JAL | SPKHND | HNDIZO 30.200 61% |7K:30,500. £+ H:31,500
GHE)| JAL JAL | 1IZOHND | HNDSPK| 30,100 61% |A:30.900, £+ H:31,500
HIRGFR) =S #Lm}i(%ﬁﬁ)&e R CRIE) | JAL JAL | SPKHND | HNDTKS |  26.800 65% | A:27,100, %:29,800, +:24,400, H:30,300
GHE)| JAL JAL | TKSHND | HNDSPK| 26,400 66% :24,800, :27,200, £ +:29.100. H:24,900
FIRGFR) =i *Lm}i(%ﬁﬁ)&% R CRIE) | JAL JAL | SPKHND | HNDTAK| 29,000 63% | H7k:28,600. £:32,200, +:27,700, H:33,500
BIAE CBE)|[  JAL JAL | TAKHND [ HNDSPK| 26,700 66% | 7:26.300, A: 0,700, +:32,600, H:26,800
IR (FFR) =B *Lm}i(%ﬁﬁ)&% CRA)| JAL JAL | SPKHND | HNDKCZ| 29,300 63% | K:29.600, £: 5,800, H:34,700
HE)|  JAL JAL | KCZHND | HNDSPK| 27,800 65% | /:26,800, A: >:30,500, F:33,000. H:28.400
FLIR G F %) =1l *Lm}i(%ﬁﬁ)&% R CRIE) | JAL JAL | SPKHND | HNDMYJ| 29,000 64% | A 7k:28.400 iz7 400, H:33,300
HE)| JAL JAL | MYJHND | HNDSPK| 29,600 63% | A:27.900, A: . £:34.200, H:29.300
ARFFR =LAN[ARFETR R HE)| JAL JAL | SPKHND | HNDKKJ | 31,200 64% | A:31.500, & . H:35,200
EZNES HE)| JAL JAL | KKJHND [ HNDSPK| 27,800 68% | A:27.700, A . £:33,000, H:30.800
IR G F%) =K2 [ALREF TR % CRA)| JAL JAL | SPKHND | HNDOIT 30,200 65% | §:28.800. Jk: . A:30.600. £:33,400, H:33.100
K5 CRE)| JAL JAL | OITHND | HNDSPK| 30,300 64% | H:29.000, JK: . AK:32,400, £:34,300,
IR G F i) =RIG LR F TR % CRA)| JAL JAL | SPKHND |HNDNGS| 31,800 64% | H:29.000. Jk: . A:31,600, %:33,000
oE GHE) | JAL JAL | NGSHND [ HNDSPK| 30,700 66% | H:29.700, JK: A:33,000, #:34,300,
FLIR G %) =REA AR TR % CRA)| JAL JAL | SPKHND | HNDKMJ|  31.400 64% | H:29.700. 7K:30.900, K:31.700, £:33.500.
REARSE CBE)| JAL JAL | KMJHND [ HNDSPK| 30,600 65% | /3:28,600. K:31,500. A:31,900, %:33,500. 1:35. B
ARG TR ==F [LREF TR %[ HRCHE)|  JAL JAL | SPKHND | HNDKMI 30.400 65% | A 7K:28.900. &:30,000, £:31,500, £:30,500, H:32.100
2GS CBE) | JAL JAL | KMIHND [ HNDSPK| 29,900 65% | /:28.200, 7K:30,600. AK:31,300, £:33,100, £
ARFFR) —ERB[ARFGTHR[HRCARA) | JAL JAL | SPKHND [ HNDKOJ| 30,100 66% | /930,600, 7K:28,600., A:30,900. %:32,600
ERBE CBE)|  JAL JAL | KOJHND [ HNDSPK| 30,800 65% | A:29.000, 7K:31,500, A:32,200, £:34,000, 1 B
LR B ) =0 B | ALIR (37 F2%) T[S CRIED | JAL JAL | SPKHND [HNDOKA| 32,400 65% | A:32,700, %:36,100, +:36,300, H:30,800
AR (FR| JAL JAL | SPKITM | ITMOKA | 20000 79% |+ H:21,300
BHE(PE)| JAL JTA | SPKNGO [NGOOKA[ 33,000 65% | 3:32,700, JKA:32,600, %:35,000. +:33,400, H:34,400
] JAL JTA | SPKFUK | FUKOKA | 38,600 60% |+:38,700, H:39,900
B (FRER) SR (PIE) | JAL JAL | OKAHND|HNDSPK|  31.400 66% | 7K:32.200. £:34,500, £:30,700, H:35,000
AR (| JAL JAL | OKAITM | ITMSPK | 20500 78% |+ H:21,400
RIR (A | JTA JAL | OKAKIX | KIXSPK | 32400 65% |2 1:34.400. H:30,000
BHE(PE)| JTA JAL | OKANGO|NGOSPK| 30,200 68% [7k:30.000, £:29,800. H:31.100
18 JTA JAL | OKAFUK [ FUKSPK 30.100 69% 7k A £:38.600, £:39.400, H:38.700




ARG =RE[HRETH X RRCHE)|  JAL JAL | SPKHND | HNDISG 37.200 67% |%:38,300. £:39,800, F:40.600
RIEH RECHE)|  JAL JAL | ISGHND | HNDSPK|  36.700 68% | A:36.800, %:38,200, 1:39.800. H:40.200
|z2EE ] JTA JAL | ISGNGO [ NGOSPK| 38,700 65% | A JK7:38,400, £:39,400, £:39,900, H:42,200
AR I TRR) =S h ARG TR K[AHE(F)|  JAL JTA [ SPKNGO [NGOMMY| 41,000 62% | B KA:40,700, £:42,100, 1:42,600, H:41,700
1R =% m Al EHEES R (BIE) | JAL JAL | FUKHND [HNDMMB| _ 32.400 66% | F:32.600, %:34.400, + H:33,600
LR BT JAL JAL | FUKSPK [SPKMMB| 22,700 74% | AAH:31,200, 7K:30,700, £:31,300, £:31,900
ZimB % |[RRCHE)| JAL JAL _[MMBHND| HNDFUK| 32100 67% | H7kA:31.900, £:35,700. £:32.400, H:34,100
FFR)|  JAL JAL | MMBSPK| SPKFUK | 26,700 70% |#£:27.600, £:27,900, H:27.500
1ERE =8l FE GRS CRE)| JAL JAL | FUKHND | HNDAKJ 33.400 64% [HJK:33,100, A:33,600, £:34,900, +:34,000, H:33,200
JENIE: CRA)| JAL JAL | AKJHND | HNDFUK | 28,600 70% | B 7kA:28.200, £:33,600. £:29.500. H:32,400
1B =4I F R (FE)|[ JAL JAL | FUKHND [ HNDKUH| 30000 68% | H:30,200. A:30,700, £:31,700, F:31,600, H:34,300
B JAL JAL | KUHHND [ HNDFUK| 30,500 67% | AJKA:30,300, £:34,000, £:31,200. H:31,600
BE =K JAL JAL | FUKHND |[HNDOBO| 32,300 65% [:31.800, 7k A:33,900, #:34,500, +:32,600, H:36,000
JAL JAL__|OBOHND| HNDFUK| 30,900 67% | AJKA:30,700, £:34,800, £:31,600, H:33,600
1BRE =FAE JAL JAL | FUKHND [HNDHKD| 29,300 65% | H:29.400. %:31,600, 1:31.300. H:34.000
D[ JAL JAL | FUKITM | ITMHKD | 26.900 64% | FKA:23400, & +:28,300, H:22,600
FED | JAL JAL | HKDHND [ HNDFUK| 31,700 62% | AJKA£:31500, £:32,300, H:33,500
D[ JAL JAL | HKDITM | ITMFUK | 26,700 64% | AJK:23.200. A:25,800., £:27,000. H:26,900
BE=F% FIE) | JAL JAL | FUKHND [HNDAOJ| 23,000 72% |%+ H:23.800
D[ JAL JAL | FUKITM | ITMAOJ | 24,100 67% | A A H:20.600. 7K:20,200, £:25.500
FE) | JAL JAL | AOJHND [ HNDFUK| 23,000 72% |£+ H:23.800
D[ JAL JAL | AOJITM | ITMFUK | 24,100 67% | F:20,600. 7K:20,200. A:22,800. £:25,700. H:24.700
FE) | JAL JAL | FUKHND [HNDMSJ| 21,000 74% &1 H:21.800
)| JAL JAL | MSJHND [ HNDFUK| 21,000 74% |+ H:21.800
)| JAL JAL | MSJITM | ITMFUK | 28700 61% | FIK:25200, A:27,800, 34,500, £:30,400, H:31,700
EE=HE FED | JAL JAL | FUKHND [ HNDAXT| 31,000 59% |£::31,300, £:24,300, H:30.400
RED | JAL JAL | AXTHND | HNDFUK| 29,900 60% | F7K:29,700, A:30,900. 34,700, +:26,800, H:26,000
D[ JAL JAL | AXTITM | ITMFUK | 23400 65% | AJK:21,100, A:22,500, £:25,500, H:23,600
&=L FED | JAL JAL | FUKHND [HNDGAJ|  23.800 64% | F:23900. £:25300. +:23500, H:27.200
| JAL JAL | FUKITM | ITMGAJ 27.100 59% | A7KA:23,600, £:31,000, H:24,400
FE) | JAL JAL | GAJHND [ HNDFUK| 24,000 63% | A:25,300, %:27,300, +:26,600, H:22,300
D[ JAL JAL | GAJITM | ITMFUK | 28500 57% | /:25.000, 7K:30,000. A% +:31,000, H:28,700
1BRE =/ R )| JAL JAL | FUKHND |HNDKMQ| 24400 66% | H:25.200, :27,200, 1:24.800. H:26.400
E )| JAL JAL _|KMQHND| HNDFUK| 27,200 62% | H:25,600
BE=2% )| JTA [JTA/RAC| FUKOKA |OKAMMY| 25,600 54% | A IKAKR£:25.800.
)[JTA/RAC] JTA |MMYOKA[| OKAFUK| 25500 54% | AJK:25.600, A&
BE=R1E )| JTA [JTA/RAC| FUKOKA | OKAISG | 26,200 58% | AI/KA%:26.300, + H:26.600
¥3)[JTA/RAC|  JTA | ISGOKA | OKAFUK| 26,100 58% | FJKA%:26,200, +:26,300. H:26.600
ZimA =15 JAL JAL _|MMBSPK| SPKHNA| 24,500 57% | B £+ H:25.100, K:24,000
JAL JAL | HNASPK | SPKMMB| 25,100 56% | A 7K:24,500
ZimA=l& JAL JAL _|MMBSPK| SPKSDJ 23,600 61% | HA:24.000, £ H:25.600
JAL JAL | SDJSPK [SPKMMB| 23,100 62% | F:23500. £:23,600. £:24,700. H:21,500
ZimA =R JAL JAL _|MMBSPK| SPKKIJ 24,900 60% | A:24.400, %:25,100, 1:25.300. H:25.700
JAL JAL | KIJSPK [SPKMMB| 25,700 59% | :25800, & H:26,200
iR = MR JAL JAL _|MMBHND|HNDKMQ| 23800 69% |£:24,300, £:24,500. H:25,300
JAL JAL _|KMQHND|[HNDMMB| 23900 69% |£:25.100, £:25,800. H:24,600
23 A = L JAL JAL _|MMBHND| HNDOKJ| 28,500 68% :28,600, %:29,100. +:26,300
JAL JAL | OKJHND [HNDMMB| 27,700 68% | /3:27.400, %:27,500, +:28,900. H:26,500
Zibhl=hE JAL JAL _|MMBHND| HNDHIJ 28,200 68% |£:29.100, £:26,700, H:27.800
JAL JAL | HIJHND [HNDMMB| 27,900 69% | H:27.800, £:29,100, +:28,900, H:27,500
JAL JAL | HIUSPK [SPKMMB| 25,200 69% | A H:27,500, £:28,300, F:28.200
Zimpl=HE JAL JAL__|MMBHND| HNDIZO | 30,600 65% |£:31,900, +:29,600. H:32,700
JAL JAL | 1IZOHND [HNDMMB| 29,700 66% |7k A:30,100. %:32,600, +:33,900. H:30,400
b A =l JAL JAL _|MMBHND|HNDMYJ|  29.800 67% |4 8,100, H:31,700
JAL JAL | MYJHND [HNDMMB| 27,600 69% |4 :29,700, H:28.400
TR =FhE JAL JAL _|MMBHND| HNDISG | 39,500 68% |4 1,500, H:42.700
JAL JAL | ISGHND [HNDMMB|  37.300 70% 4 9.200. H:40,800
TBIIT=/ES JAL JAL | AKJHND [HNDKMQ| 21,600 72% |£:23,300, £:22,800. H:24,500
P JAL JAL _|KMQHND| HNDAKJ| 23800 69% | A:24,300, %:25,000, +:26,200. H:24,400
BI=miaE ENES CRA)| JAL JAL | AKJHND |HNDSHM| 22,600 73% |£:23.200, £:22,800, H:26.700
LS HE)|  JAL JAL | SHMHND| HNDAKJ| 29,600 65% |£::30.800, £:30,000, H:30.400
FEJI=RW JEIE GHE) | JAL JAL | AKJHND [ HNDOKJ| 24,800 71% | /:24,900, %:26,800 4,600, H:27,300
[ CBE)|  JAL JAL | OKJHND [ HNDAKJ | 25,600 70% | A:26.100, %:26,800 8,700, H:26,000
BIN=HE JENIES CRA)| JAL JAL | AKJHND | HNDIZO 26.900 68% | H:27.200. 7,900, H:29,400
HE CBE) | JAL JAL | 1IZOHND | HNDAKJ| 30,000 64% |7K:30.400, 2,900, £:34,300, H:30,400
JEVITEENTT] ENIES CRA)| JAL JAL | AKJHND |HNDMYJ| 26,100 70% |£:28,900. . H:31.000
[NITE:S CBE)| JAL JAL | MYJHND [ HNDAKJ | 27.900 68% . £:30.100. H:28.,000
BII=RE FBJIF CBE) | JAL JAL | AKJHND | HNDISG | 37.300 69% H:39,200
AEX HE)| JAL JAL | ISGHND | HNDAKJ| 38,100 69% H:40,400
SR =/ Bl (FE)[ JAL JAL | KUHHND [HNDKMQ| 22,200 70% . H:22.800
IMAFE HE)|  JAL JAL _|KMQHND|HNDKUH| 21,500 71% 1:23.800. H:25,300
g =Ml ElES (FE)|[ JAL JAL | KUHHND [ HNDOKJ| 26,900 68% 6.300. H:26.000
[ CBE) | JAL JAL | OKJHND [ HNDKUH| 25,300 70% :24,800, £:26,900. H:26,300
SIR=LE8 ElES CRE)| JAL JAL | KUHHND | HNDHIJ 26.600 69% H:25.300
N HE)| JAL JAL | HIJHND |HNDKUH| 25500 70% . K:26.,200, %:26.400. £:26,900, H:27.100
g =HE FlEa (FE)|[ JAL JAL | KUHHND | HNDIZO 29,000 65% £:29.600
HE HE)| JAL JAL | 1IZOHND [ HNDKUH|  27.300 67% . A:28,400, £:29.900. £:31,900, H:29.200
gllEg=#l ElES (FE)|[ JAL JAL | KUHHND [ HNDMYJ| 28,200 68% 8,100, H:29.200
[NITE:S CBE) | JAL JAL | MYJHND [ HNDKUH| 25,200 71% £:26,100, £:27,700, H:29,100
gk =1 ElEES CRE)| JAL JAL | KUHHND | HNDISG 35,500 1% H:39.900
AEX HE)| JAL JAL | ISGHND |HNDKUH| 36,000 70% %:36,900, £:38,800. H:41,500
wR=/ BILFE CRA)| JAL JAL _|OBOHND|HNDKMQ| 23,000 69% . £:25,100, £:24,900, H:24,800
IMRFE CRA)| JAL JAL _|KMQHND|HNDOBO| 22,700 70% . 7k K:24,600, £:25.100. £:24,800. H:27.000
HR=FE BILFE CRA)| JAL JAL _|OBOHND|HNDOKJ| 27300 68% . #:28,200, H:28,000
[ CBE) | JAL JAL | OKJHND [HNDOBO| 26,400 69% . 7KK B:28,000. #:26.600. £:27.500
HE=HE HLE CBE)| JAL JAL _|OBOHND| HNDIZO | 29.400 65% |£::31,000, £:30,000, H:32,200
HER CRA)| JAL JAL | IZOHND [HNDOBO| 28,900 65% [H:28,700, 7k A:31,200, %:32,500, +:32.900, H:30,900
HIR=H % CBE) | JAL JAL _|OBOHND|HNDMYJ| 28,600 67% |£::30.300, £:28500, H:31.300
W% HE)| JAL JAL | MYJHND [HNDOBO| 26,800 69% | /:26,600, K A< +:28,700, H:30.800
HL=R1E L% CBE) | JAL JAL _|OBOHND| HNDISG | 38700 68% | /:38.400. £:40,800. + H:41.900
AEX HE)| JAL JAL | ISGHND [HNDOBO|  37.900 69% |7k A £:39.500, 1:40,200, H:43.200
AR =/MA EAESE CRA)| JAL JAL | HKDHND |HNDKMQ|  23.400 64% | #:23,300, £:23,600, H:25,300
INASE @) JAL JAL _|KMQHND[HNDHKD| 22,700 66% | £::24.400, £:23400, H:25,000




EAE=MRL EAER |RRCHE)| JAL JAL | HKDHND | HNDOKJ| 27,000 64%  |£:26,900, £:25.400, H:28.100
RS [RE(PH)| JAL JAL | OKJHND [HNDHKD| 25,800 66% | H:25.500, £:25,700, £:26.500, H:26,000
EWAE=IRE HAERE [® B[ JAL JAL | HKDHND | HNDHIJ 27.800 64% |%:28,100, +:25.200
LEE® [RR(EE)| JAL JAL | HIJHND [HNDHKD| 26,300 66% |£::27.700, £:26,500, H:26.800
EHAE=HE EWAER [RECHE)| JAL JAL | HKDHND | HNDIZO 27.300 63% | H:27.600. £:27,900, £:28,700, H:30,200
RERF] JAL JAL | HKDITM | ITMIZO 24,700 66% |2:24,900, H:25,200
HERX [ERE@H)| JAL JAL | IZOHND |HNDHKD|  27.800 63% |7k A:28.200. £:30,800. 1:31,500, H:29,200
RERF]  JAL JAL | IZOITM | ITMHKD | 24,900 65% |£:26,500, +:26,300. H:24,100
AR =HAL EWAER [RE(CHE)| JAL JAL _|HKDHND | HNDMYJ|  29.400 62% |£:30.200, £:27,200, H:31.700
RER(F]  JAL JAL | HKDITM | ITMMYJ | 24,500 64% |/kA:24,100, H:24,900
RCAE)| JAL JAL | MYJHND [HNDHKD| 25700 67% |£:27,000, £:27,300, H:28,800
D[ JAL JAL | MYJITM | ITMHKD | 24,500 64% |7KA:24,300, £:25,900, £:27,000, H:23,700
EAE=dL A FIE) | JAL JAL | HKDHND | HNDKKJ 28,600 66%
FE) | JAL JAL | KKJHND [HNDHKD| 27,900 67% |%t H:28,600
EWEE=X% RED | JAL JAL | HKDHND | HNDOIT | 21,900 73% |&+ H:22,500
D[ JAL JAL | HKDITM | ITMOIT 26,600 63% | AJKA:23,900, £:27,900, £:25,600, H:28,200
FE) | JAL JAL | OITHND [HNDHKD| 21,900 73% |&+ H:22,500
D[ JAL JAL | OITITM | ITMHKD | 25700 64% | AJKA:24,100, £:29,500, £:29,700, H:23,300
W =RE FE) | JAL JAL | HKDHND [HNDNGS| 22,400 74% £+ H:23,000
D[ JAL JAL | HKDITM | ITMNGS | 27.400 66% | /k7K:27,000, £:28,600, H:28,800
FE) | JAL JAL | NGSHND | HNDHKD| 22,400 74% |£+ H:23.000
D[ JAL JAL | NGSITM | ITMHKD | 27,600 65% |7k:27.200. % 1:29,000. H:26.800
EAE=FAX EWEER [EECEE)|] JAL JAL | HKDHND [ HNDKMJ|  22.400 73% £+ H:23,000
RERF]  JAL JAL | HKDITM | ITMKMJ | 26,100 66% 7K K:24,300, %:27,300. £:25,200, H:27,600
AR [ERCEE)| JAL JAL | KMJHND |HNDHKD| 22400 73% £+ H:23.000
RERF]  JAL JAL | KMJITM | ITMHKD | 26,700 65% 7K K:24,500, %:28,900. £:29,200, H:23,700
EHAE=E15 EEER [EECHE)|] JAL JAL _|HKDHND | HNDKMI | 22.400 73% £+ H:23,000
RERF]  JAL JAL | HKDITM | ITMKMI | 28,400 63% |£:30,300, H:28,800
=ER  [RECHEE)| JAL JAL | KMIHND |HNDHKD| 22400 73% |+ H:23.000
RERF]  JAL JAL | KMITM | ITMHKD | 28,000 64% |£::30,900, £:29400, H:27.200
HE=ERE EEER [EECHE)|] JAL JAL | HKDHND [ HNDKOJ|  22.400 74% £+ H:23,000
AR (| JAL JAL | HKDITM | ITMKOJ | 26,600 67% |%:28,500
BERER [RR(HHE)| JAL JAL | KOJHND |HNDHKD| 22400 74% £+ H:23.000
RER(F] JAL JAL | KOJITM [ ITMHKD | 26,100 68% |7KA:25,600. £:29,000. £:27,500. H:25300
EHAE=F1E EAESE RCPA)| JAL JAL | HKDHND | HNDISG 37,700 66% |£:38,300, £:40,600, H:41.000
AER HE)| JAL JAL | ISGHND |HNDHKD| 38,000 66% |£::38,800, £:38,600, H:41,200
BFHR=IML EHR CRE)| JAL JAL | AOJHND [HNDKMQ| 14800 77% £+ H:15500
INASE FE)| JAL JAL _|KMQHND|HNDAOJ| 15300 76% |&+ H:16,500
EH=mRAE EHR (FE)|[ JAL JAL | AOJHND [HNDSHM| 28,000 62% | A%:28,500, £:29,600
e RS HE)| JAL JAL | SHMHND | HNDAOJ| 29,000 60% | A:29.800, £ H:30,100
EHR=[WL EHR CRE)| JAL JAL [ AOJHND [HNDOKJ| 26,500 64% | H:26.600. 7k A:26,800, £:27.800, +:24,200, H:26.400
[EITES CRA)| JAL JAL | OKJHND | HNDAOJ| 26,100 65% |£:27.400, £:25,300, H:26.000
EHR=LE EHR CRE)| JAL JAL [ AOJHND | HNDHIJ 27,000 64% | F:26.600. 7:28,200, £:28,500, £:25.300
NS HE)|  JAL JAL | HIJHND [HNDAOJ| 26,100 65% | A:27.100, %:28,600, +:25,300, H:26,200
EHR=LOFH EHR (FE)|[ JAL JAL | AOJHND [HNDUBJ| 23,700 70% _[7KK+:24,000. £:25000, H:26.600
E3 B JAL JAL | UBJHND [ HNDAOJ| 24,900 69% |£:25,800, H:26,600
EAR=HE JAL JAL | AOJHND | HNDIZO 28,600 61% |7K:28,900. &:29,400, £ H:30,100, £:29,800
JAL JAL_| AOJITM | ITMIZO 22,100 68% |7k7K:21,700, £:23,700, H:23,000
JAL JAL | IZOHND [HNDAOJ| 30,000 59% |#+ H:30,100
JAL JAL | IZOITM | ITMAOJ | 22,100 68% [7k:21,700, £:23,700. H:22.600
ER=EE JAL JAL [ AOJHND|[HNDTKS|  20.300 72% % 1.300
JAL JAL | TKSHND [HNDAOJ| 20,300 72% |4 21,300
EH=mh EA%E  [EmE)| JAL JAL [ AOJHND [HNDTAK|  20.200 73% |4 0.500
2% [HRE(PA)| JAL JAL | TAKHND | HNDAOJ|  20.200 73% |4 :20,500
EHR=mH EHR B JAL JAL [ AOJHND[HNDKCZ|  20.300 73% _[£:21.300, F H:24.100
=A% |[RRCHE)| JAL JAL | KCZHND | HNDAOJ| 20300 73% |+ H:24.000
HEHR=H1 EHE [EEAE)] JAL JAL [ AOJHND [HNDMYJ| 20,000 74% £+ H:20,500
RERF]  JAL JAL | AOJITM [ ITTMMYJ | 21,900 67% |7k A:21.100, £:23,300, H:22.700
W% [RERCEE)| JAL JAL | MYJHND | HNDAOJ| 20,000 74% |1 H:20,500
)| JAL JAL | MYJITM [ ITMAOJ | 21,700 67% |7k:21,100, :21,500, £:23,100, £:22,800
BEHR=TAM )| JAL JAL | AOJHND [ HNDKKJ| 21,800 74% |4 :22,600
)| JAL JAL | KKJHND [HNDAOJ| 21,800 4% |4
EHR=Xn FIE) | JAL JAL [ AOJHND[ HNDOIT | 21.700 73% |4 22,
D[ JAL JAL | AOJITM | ITMOIT 24,000 65% :21,300, 7k K:20,900, £:26,700, +:23000, H:26,000
FED | JAL JAL | OITHND [HNDAOJ| 21,700 73% |+ H:22,500
D[ JAL JAL | OITITM | ITMAOJ | 23,000 67% | F7K:21,300, 7K:20,900, #:26,700, +:25,500, H:22,600
EHR=RB FIE) | JAL JAL [ AOJHND [HNDNGS|  23.200 73% £+ H:24.000
D[ JAL JAL | AOJITM | ITMNGS | 24,800 68% | /k7K:24,000, £:27,400, H:26,600
RED | JAL JAL | NGSHND [ HNDAOJ| 23200 73% |#+ H:24,000
D[ JAL JAL | NGSITM | ITMAOJ | 24,800 68% [7K:24,000, £:26,200
EHR=RAX FIE) | JAL JAL [ AOJHND [HNDKMJ|  21.800 74% £+ H:22.600
D[ JAL JAL | AOJITM | ITMKMJ | 24,800 67% :23,400., 7k A:23,300. %:28,200, +:25200, H:25,400
FED | JAL JAL | KMJHND [ HNDAOJ| 21,800 74% H:22,600
h] JAL JAL | KMJITM | ITMAOJ ,900 68% | A7:21,700, 7k:21,300, 26,100, £:25,000, H:22,200
EHR=E15 FIE) | JAL JAL | AOJHND | HNDKMI .800 74% |+ H:22,600
D JAL JAL | AOJITM | ITMKMI ,800 65% | /k7K:25,400, £:29,100, H:26.600
FIED | JAL JAL | KMIHND | HNDAOJ 1800 74% |#+ H:22,600
| JAL JAL [ KMIT ITMAOJ ,400 66% | £::28,100, H:26,600
EHR=ERS FE) | JAL JAL | AOJHND | HNDKOJ ,200 73% |#+ H:24,000
D JAL JAL [ AOJI ITMKOJ 4,000 69% | /k7K:23,600, £:27,300, H:24.400
)| JAL JAL | KOJHND | HNDAOJ 3,200 73% |#+ H:24,000
KR ()| JAL JAL | KOJITM | ITMAOJ | 23,300 70% _|7K:22,400. 7:22,800, £:26,200, H:23,800
EHR=RE EHE  |FRCHAE)| JAL JAL | AOJHND | HNDISG 37,500 66% |t H:39.400
] =R (CHE) | JAL JAL | ISGHND |HNDAOJ 7,500 66% | +:39,400, H:40,200
ZiR=/R )| JAL JAL | MSJHND [HNDKMQ ,800 77% :15,500
)| JAL JAL _|KMQHND | HNDMSJ ,300 76% :16,500
)| JAL JAL | MSJHND | HNDOKJ ,600 68% 00, A:24,100, %:27,000, £:23,800, H:22,800
)| JAL JAL | OKJHND | HNDMSJ ,200 68% H:23,800
ZRE |[EmCEE)| JAL JAL | MSJHND | HNDHIJ ,300 69% |/K7A:23,900. %:27,000, £:24,900, H:22 400
EE% [ERE)| JAL JAL | HIJHND | HNDMSJ 400 69% |#:26,000, 1 H:24,600




ZR=WAFH JAL JAL | MSJHND | HNDUBJ| 21,300 73% | B:20,800, kA +:23,300, %:24,200, H:23000
JAL JAL | UBJHND [ HNDMSJ| 23,700 70% |£:24,200, H:25,000
ZIR=HE JAL JAL | MSJHND | HNDIZO 25,700 64% | JkA:26,700, £:29,800, +:27,100. H:27,000
[RECHA)| JAL JAL | 1ZOHND [HNDMSJ| 25,600 64% | H:25.300. &:25,800, £+ H:26.700
RERF]  JAL JAL | IZOITM [ ITMMSJ | 26,700 62% |£::30,100, £:28900, H:27.400
RCAE)| JAL JAL | MSJHND [ HNDTKS| 19,300 73% |4 20,300
B)| JAL JAL | TKSHND [HNDMSJ| 19,300 73% |4 20,300
B JAL JAL | MSJHND [ HNDTAK| 19,200 ZTEE 9,500
B JAL JAL | TAKHND [HNDMSJ| 19,200 ZTERE 9,500
B JAL JAL | MSJHND [ HNDKCZ| 19,300 4% |4 00, + H:23,100
HE)| JAL JAL | KCZHND [HNDMSJ| 19,300 74% 4 :23,000
FE)| JAL JAL | MSJHND [ HNDMYJ| 19,000 75% |4 9,500
[E=E)| JAL JAL | MYJHND [HNDMSJ| 19,000 75% |4 119,500
RER(F]  JAL JAL | MYJITM [ ITTMMSJ | 26,300 61% |7K7A:26.100, £:30,300, £:29,600. H:27.000
ZiR=4thm FRECRE)|  JAL JAL | MSJHND | HNDKKJ 19,800 76% |4 0,600
EE JAL JAL | KKJHND [HNDMSJ| 19,800 76% |4 0,600
ZiR=X% = JAL JAL | MSJHND | HNDOIT 19.700 75% |4 :20,500
[E=E)| JAL JAL | OITHND [HNDMSJ| 19,700 75% |4 0,500
RERF]  JAL JAL | OITITM [ ITMMSJ | 27,500 61% 7K K:25,900, %:33,900. :32,300, H:26,600
=R (HE)| JAL JAL | MSJHND [HNDNGS| 21,200 75% |&+ H:22,000
=R (CHE)| JAL JAL | NGSHND [ HNDMSJ| 21,200 75% |&+ H:22,000
RER(F] JAL JAL | NGSITM | ITMMSJ | 26,600 66% |7KA:26.100, £:31,400, £:28,800. H:27,300
Rm(HE)| JAL JAL | MSJHND [ HNDKMJ| 19,800 76% | %+ H:20,600
HRECHE)| JAL JAL | KMJHND [HNDMSJ| 19,800 76% | %+ H:20,600
RERF]  JAL JAL | KMJITM [ ITTMMSJ | 28,700 62% |£:36,100, T:32.300. H:29.400
ZR=24 FRECRE| JAL JAL | MSJHND | HNDKMI 19,800 76% |+ H:22.600
RERF]  JAL JAL | MSJITM | ITMKMI | 29,800 61% |£::36.400, £:31,500, H:33,000
HRCHE)| JAL JAL | KMIHND [HNDMSJ| 19,800 76% |&+ H:22,600
RERF]  JAL JAL | KMITM [ ITMMSJ | 30,700 59% |#£::35300, £:32,900, H:31.400
HRCHE)| JAL JAL | MSJHND [ HNDKOJ| 21,200 75% |&+ H:22,000
RERF]  JAL JAL | MSJITM | ITMKOJ | 28,800 64% |7K7A:28,500. £:36,100, £:30,500. H:31,600
HRCHE)| JAL JAL | KOJHND [HNDMSJ| 21,200 75% |%+ H:22,000
RERF]  JAL JAL | KOJITM [ ITMMSJ | 26,300 67% |7KA:25,800. £:31,800, £:28,500, H:27.000
ZiR=RE RCAE)| JAL JAL | MSJHND | HNDISG | 35,100 68% :34,600, 7k A %:37,100. £:39,000, H:36,500
HE)| JAL JAL | ISGHND [HNDMSJ| 34,600 68% |£:37.100, & H:39,000
WE=/ML CBE)|  JAL JAL | AXTHND [HNDKMQ| 17,200 70% |%+ H:18.300
HE)| JAL JAL _|KMQHND|HNDAXT|  17.100 70% |+ H:17.500
ME=FLAE CRA)| JAL JAL | AXTHND |HNDSHM|  26.800 59% 24,500, H:23,700
HE)| JAL JAL | SHMHND | HNDAXT| 26,800 59% | +:23400
WA= GHE)| JAL JAL | AXTHND | HNDOKJ| 26,300 61% :26,400. %::26,800, +:19,400. H:20,400
HE)| JAL JAL | OKJHND [ HNDAXT | 23,800 65% | 7kA:24,200. £:25500. £:19,700. H:22.800
ME=LE CRA)| JAL JAL | AXTHND | HNDHIJ 27.800 59% | H:27,000, %:28,500, + H:20,500
GHE) | JAL JAL | HIJHND [HNDAXT| 23900 65% | 7KA:24,200. £:26,300. £:19,900. H:23000
RE=LAFH HE)| JAL JAL | AXTHND [ HNDUBJ| 24,000 67% |£:25300, £:18,900, H:20.600
JAL JAL | UBJHND [ HNDAXT | 24,200 67% |£:24,900, £:19,300, H:23.400
ME=HE JAL JAL | AXTHND | HNDIZO | 26,800 59% | +:22,700, H:24,600
JAL JAL | AXTITM | ITMIZO 22,600 65% |2
HER JAL JAL | IZOHND | HNDAXT|  26.800 59% |4
JAL JAL | IZOITM | ITMAXT | 21,400 67% |4
ME=S RES JAL JAL | AXTHND | HNDTKS| 20200 70% |3
B3 JAL JAL | TKSHND [ HNDAXT| 20,200 70% 4
ME=ER JAL JAL | AXTHND | HNDTAK|  20.200 70% |4
JAL JAL | TAKHND [ HNDAXT | 20,200 70% |4
ME=5 JAL JAL | AXTHND | HNDKCZ| 20,300 71% 4
JAL JAL | KCZHND | HNDAXT | 20,300 7% |4
WA= JAL JAL | AXTHND [ HNDMYJ| 20,400 1% |3 X
JAL JAL | AXTITM [ ITMMYJ | 21,200 66% |7kK:20.800, £:23,000, H:21.600
YIS JAL JAL | MYJHND [ HNDAXT | 20.400 71% |#+ H:20,900
JAL JAL | MYJITM | ITMAXT | 21,000 66% |7k A:20,800. %:22,800, £:22,100
#ME=JtAM PGS JAL JAL | AXTHND | HNDKKJ 29,400 61% |#£:31,000. £:23,100, H:26.400
EZRES JAL JAL | KKJHND [ HNDAXT| 26,600 65% :29.700. +:22.800, H:27.600
ME=X% ES JAL JAL | AXTHND | HNDOIT 29,600 60% :28.000, 7K :29,200, £:31.000. + H:24.200
JAL JAL | AXTITM | ITMOIT 23,300 64% | A JK7:20,600. £:26,400, £:22,300, H:24,900
A% JAL JAL | OITHND [ HNDAXT| 28,900 61% | H:27,900. 7k:29,900. £:29,000, +:23.400, H:27,000
JAL JAL | OITITM | ITMAXT | 24,200 62% | AJKA:21,800, £:27,800, £:24,800, H:25500
HE=RE PES JAL JAL | AXTHND [HNDNGS|  30.400 61% | H:27.600. 7K:29,200, K:29.300, %:30,900, 1:23,000. H:24.600
JAL JAL | AXTITM [ ITMNGS | 24,100 67% | 7kK:23,700, £:27,200, H:25,500
RIS JAL JAL | NGSHND | HNDAXT 9,600 62% | /9:27,900, 7KA:29,500. %:29,700. £:24,800, H:28,400
JAL JAL | NGST ITMAXT 1,300 71% 7 3,900
ME=REX PEES JAL JAL | AXTHND | HNDKMJ 0,000 0% 00, 7:30,800, %:31,700, + H:25.400
JAL JAL | AXTT ITMKMJ ,200 4% 427,200, 1:25500, H:24,300
REAS JAL JAL | KMJHND | HNDAXT 500 1% 8,700, 7:28,300, 1:24,500. H:26,600
JAL JAL [ KMJI ITMAXT ,600 66% >:28,600, F:25,500, H:25,100
HE=2 PEES JAL JAL | AXTHND | HNDKMI 100 s 128,400, %£:29,700, £ H:23,000
JAL JAL | AXTT ITMKMI ,600
5T JAL JAL | KMIHND | HNDAXT 800 100, £:23.400, H:27,000
JAL JAL | KMII ITMAXT 6,600 2 00, H:29,500
ME=ER PEES JAL JAL | AXTHND | HNDKOJ 9,700 75% &+ H:20,800
JAL JAL | AXTT ITMKOJ 4,700 67% :24,400, #:28,000
BERES JAL JAL | KOJHND | HNDAXT 9,700 75% &+ H:20,800
JAL JAL | KOJI ITMAXT 3,800 68% | £:27,300, H:28,400
ME=FR1E =ES JAL JAL | AXTHND | HNDISG 35,100 66% ,600, + H:34,600
RiE% JAL JAL | ISGHND [ HNDAXT| 35,100 66% :34,600
EE=RL EEF JAL JAL | HNAITM | ITMMYJ 0,500 53% :27,000, 7K A:26,600
ENITES JAL JAL YJITM | ITMHNA 7,400 57% 7,200, % H:30,500, £:28,500
EE=Xn AR JAL JAL | HNAITM | ITMOIT 2,200 2%
K55 JAL JAL ITIT MHNA 2,200 2%
EE=RIE 5 JAL JAL | HNAI MNGS 4,600 4%
=I5 5% JAL JAL GSITM | ITMHNA 4,600 4%
TEE=FEAX EX S JAL JAL | HNAI MKMJ ,400 4%
A== EES JAL JAL | HNAI ITMKMI ,400 4%
JAL JAL | HNAFUK | FUKKMI ,100 4% | B kA% +:33,400, B:31,200
EE=RR SR JAL JAL | HNAITM | ITMKOJ 4,600 55%




2NN Z RORE)|  JAL JAL | GAJHND |HNDKMQ| 16,800 65% [£:17.100, £:17,400, H:17.000
IMAFE B JAL JAL _|KMQHND|HNDGAJ| 17,200 64% |£:18,100, £:17,000, H:18,200
WLfs =ML 3 B JAL JAL | GAJHND [ HNDOKJ| 18,600 68% [£:19.200
BN B JAL JAL | OKJHND [HNDGAJ| 18,600 68% |&+ H:19.200
W =IE8 WIS % H)| JAL JAL | GAJHND | HNDHIJ 22,200 62% :21,400. & H:20,000
= B)| JAL JAL | HIJHND [HNDGAJ| 20,800 64% | £:21.400, £ H:20,000
I = ES] Iz B)| JAL JAL | GAJHND [ HNDUBJ| 18,400 71% |£H:18,800, £:18,700
WO FERFE B JAL JAL | UBJHND [HNDGAJ| 18,700 70% [#£:19.600, £:18,800. H:20.400
Wiz =HE s [REGEE)| JAL JAL | GAJHND | HNDIZO 22,100 61% H:22,400, £:22,500
RER(F]  JAL JAL | GAJITM | ITMIZO 25,900 59% | A% +:28400
HER [FRER(PHA)| JAL JAL | IZOHND |HNDGAJ| 22,100 61%
Wi =18 Wi g [RE(PE)| JAL JAL | GAJHND | HNDTKS 19,000 67% |£:20,600. £ H:18,000
JAL JAL | TKSHND [HNDGAJ| 19,600 66% |+:19,000, H:19,100
Wi =" JAL JAL | GAJHND [ HNDTAK| 19,600 66%
JAL JAL | TAKHND [ HNDGAJ| 20,900 63% |£ H:21,600, £:21,200
g =#2 1L JAL JAL | GAJHND [HNDMYJ| 20,900 65% X £:21,000
D[ JAL JAL | GAJITM [ ITMMYJ | 24,900 59% [7KK:24.500, £:26,800, H:25.300
FE) | JAL JAL | MYJHND [HNDGAJ| 19,800 67% |2 1:20.400. H:22,000
D[ JAL JAL | MYJITM [ ITMGAJ | 24,700 59% K:24,500. £:26,800, £:25,800, H:25,500
W =K% FE)|[  JAL JAL [ GAJHND | HNDOIT 24,000 63% :21,600, 7K:23,200, 7:23.600, £:22,800, £ H:23.200
D[ JAL JAL | GAJITM | ITMOIT 27,000 57% | AJK7:24,300, £:30,100, £:26,000, H:28,600
FED | JAL JAL | OITHND [HNDGAJ| 24,000 63% | /:23.200, K A:23,600, :22,800
| JAL JAL | OITITM | ITMGAJ 27.500 56% | H7KA:25.100, £+ H:30.100
iy = R FIED | JAL JAL | GAJHND [HNDNGS| 24,800 64% | H:22,000. kK B:23,600. £:22,400, £:22,800
D[ JAL JAL | GAJITM [ ITMNGS | 27,800 61% |7K:27.400, :31,700, £ +:32,700. H:29,200
FED | JAL JAL | NGSHND | HNDGAJ| 24,800 64% [7K:23,300, :24,300, &
D[ JAL JAL | NGSITM | ITMGAJ | 27,800 61% :27.400, £ H:32,300, £:30,600
Wiz =ReX W [RE(GEE)| JAL JAL | GAJHND | HNDKMJ| 24400 63% :22,800. 7K:24,000, K:25,200, £:23,600, + H:24,000
ABR(RFH | JAL JAL | GAJITM | ITMKMJ 28,500 58% | H7K:25.500. £:30,300, £ +:31,000, H:28.000
AR [ERCEE)| JAL JAL _|KMJHND | HNDGAJ| 24800 62% | H:22.400. 7K:24,400, K+t H:23,600, £:23,200
ABR(RFD | JAL JAL | KMJITM | ITMGAJ 26.900 61% | H7KA:25500, £+ H:31.000
Wi == s [REGEE)| JAL JAL | GAJHND | HNDKMI 23,500 64% | H:22,000, 7k A:22,800, £+ H:22.400
ABR(FD | JAL JAL | GAJITM | ITMKMI 29,900 56% | A£1:31,000
=ER  [RECHAE)| JAL JAL | KMIHND |HNDGAJ|  23.800 64% | H:21,600, 7K:22,300, A:22,700, £:22,400
AR (FF| JAL JAL | KMITM [ ITMGAJ | 29,900 56% |%+ H:31,000
W =ERE W% [ERCHE)| JAL JAL | GAJHND [ HNDKOJ| 24,200 65% | H:23.800, KA $:22,100, £:24.400, H:24.000
ABR(FD | JAL JAL | GAJITM | ITMKOJ 28,600 61% |/KA£1:32.700
BERER [RR(HHE)| JAL JAL | KOJHND |HNDGAJ| 24,900 64% [H:23600, 7k:24,400, A H:23,100, £:24,800, F:24,000
RER(F]  JAL JAL | KOJITM [ ITMGAJ | 27,100 63% :32,700, £:31,900
Wi =F1E W% [RECRE| JAL JAL | GAJHND | HNDISG | 32,500 65% 4,400
REX |[RRCHEE)| JAL JAL | ISGHND [HNDGAJ| 32500 65% 4,400
le=HE | JAL JAL | SDJITM | ITMIZO 26.800 57% | H7K:26.400. H:26,000
D[ JAL JAL | IZOITM | ITMSDJ | 26,800 57%
& =H1l | JAL JAL | SDJITM | ITMMYJ 22,400 62% [7KA:22,000, %:24,800, H:22.800
D[ JAL JAL | MYJITM | ITMSDJ | 21,600 63% | k7K:21,400, £:23,400, F:22,700
i&E=xX% | JAL JAL | SDJITM | ITMOIT 24,500 60% | B 7kA:22.600, £:28,700. £:25,000, H:26,100
D[ JAL JAL | OITITM | ITMSDJ | 23,900 61% | AJKA:21,500, £:27,000, £:25.400, H:22,300
W& =RE | JAL JAL | SDJITM | ITMNGS 26.500 62% | A:26.100, £:28,900, 1:26.900. H:26.700
D[ JAL JAL | NGSITM | ITMSDJ | 25800 63% |7k7K:25,300, £:27,800, H:26,200
e =H.x | JAL JAL | SDJITM | ITMKMJ 26,000 61% | H7kA:23.000, £:28,100. £:26,300, H:25,500
D[ JAL JAL | KMJITM | ITMSDJ | 24,400 64% | A KK H:24,000, £:29,200, £:25500
e == | JAL JAL | SDJITM | ITMKMI 27.400 59% |£:31.200
D[ JAL JAL | KMITM | ITMSDJ | 28,300 58% |£:30.100, H:28,700
WeE=ERSE D] JAL JAL | SDJITM | ITMKOJ 25,900 64% | HKAH:25500, £:28,900, 1:26.700
| JAL JAL | KOJITM | ITMSDJ 27,000 62% [7KK:26.600, %:31,200, H:28.200
FR=HE | JAL JAL | KWITM | ITMIZO 24,300 59% |7K:22,900, :24,200, H:24,100
D[ JAL JAL | 1IZOITM | ITMKIJ 24,100 59% | A% H:24.300, JKA:22,900
FiB=tl | JAL JAL | KIJITM | ITMMYJ 20,300 64% [7K:19.000. 7:19,400, £:20,900. H:20.700
D[ JAL JAL | MYJITM | ITMKIJ 21,700 62% |7K7A:19,800. £:21,800, £:22,800, H:20,200
FR=Kn | JAL JAL | KIJITM | ITMOIT 22,400 62% | H:20,700. 7K:19,100, A:19,900, %:24.700, + H:24,000
D[ JAL JAL | OITITM | ITMKIJ 23,700 60% | /:21.300, JKA:19,600, :25400, £:23,300, H:20,600
FR=RIE D] JAL JAL | KIUITM [ ITMNGS | 22,000 67% | 7KAK:21,000, %:24,100, B:22,600
D[ JAL JAL | NGSITM | ITMKIJ 23,000 66% | H:23,600, JKA:20,900, & H:24,500
D[ JAL JAL | KIITM [ ITMKMJ | 24,100 63% [H:21.100, 7K:19,500, K:20,300, +:25,300, H:23.400
D[ JAL JAL | KMJITM | ITMKIJ 24,100 63% |7KA:22,400, £:27,600, £:25,500. H:22,600
D[ JAL JAL | KIITM | ITMKMI 24,500 62% _[7kK:24,000, £:27,200, H:25.100
D[ JAL JAL | KMITM | ITMKIJ 26,100 60% K:24,400, £:26,800, H:27,000
2 D[ JAL JAL | KIJITM | ITMKOJ | 24,000 65% H:23,600. 7K:22,000, 722,800, £:24.900. £:25.300
D[ JAL JAL | KOJITM | ITMKIJ 22,700 67% | :23,300, JKA:21,100, £:24,900. H:25,900
INA=FL ® JAL JAL _|KMQHND|HNDOKJ| 21,700 66% | /3:21,800, %:22,900, +:19,000, H:21,000
* JAL JAL | OKJHND [HNDKMQ| 20,900 67% |£:22,000, £:20,300, H:19,000
IMA=TRE ® JAL JAL__|KMQHND| HNDHIJ | 22,500 65% : . :22,600 3,600, £:19,200, H:22,300
E JAL JAL | HIJHND [HNDKMQ| 21,500 67% 9,200
MA=ILAFE £ P JAL JAL _|KMQHND|HNDUBJ| 18,100 74% 0,800
WO FERFE HE)| JAL JAL | UBJHND [HNDKMQ| 18,100 74% 9,600
MA=HE NEASE CRA)| JAL JAL _|KMQHND| HNDIZO 23,800 62% :
HER CBE)|[ JAL JAL | 1IZOHND [HNDKMQ| 23,700 62% . £:24,700, H:24.300
IA=TER INEASE CRE)| JAL JAL _[KMQHND|[HNDTKS|  20.300 68% . £:17,900. H:18.400
EmEE CBE)|  JAL JAL | TKSHND [HNDKMQ| 20,700 67% . H:18,300
INA=TEH IR FE CRA)| JAL JAL _|KMQHND|HNDTAK| 23,000 64% +£:19.800,
BIFE CBE) | JAL JAL | TAKHND [HNDKMQ| 20,900 67% 2,500,
INA=TEH IMAFE HE)| JAL JAL _|KMQHND|HNDKCZ|  20.400 69% . £:20,000
BAE CBE)| JAL JAL | KCZHND [HNDKMQ| 22,100 66% . H:20,900
INA=HAL INEASE CRA)| JAL JAL _|KMQHND|HNDMYJ| 21500 68% 1,900, H:23,900
[NITE:S HE)| JAL JAL | MYJHND [HNDKMQ| 22,000 67% H:22,300
M=JE A INEASE CRA)| JAL JAL _|KMQHND| HNDKKJ 24,800 66% :22,100, H:26,600
B[R0 HE)| JAL JAL | KKJHND [HNDKMQ| 22,500 69% £:22,900, H:23.800
IMR=K5 ANEASE CRA)| JAL JAL _|KMQHND| HNDOIT 24,200 66% . 7k K:24,600. £:26,100, 1:23,200, H:24,800
Ro5E CBE) | JAL JAL | OITHND [HNDKMQ| 24,600 65% | 9:22,200, JK:24,200, A:23,800, %:25,100. +:23,200. H:24,000
A= RIG N CRA)| JAL JAL _|KMQHND|HNDNGS|  25.800 66% | H:23,000. 7K:25,000, AK:25,600, £:25,000, + H:24,800
[ CRE)|[ JAL JAL | NGSHND [HNDKMQ| 24,200 68% |7K:22,700, :23,700, £:25.700, £ H:24,600




INA=FER JAL JAL _|KMQHND| HNDKMJ| 24,200 67% | 8:22.200. 7K:23,400, K:24,600, £:25,100, 1:24,000, H:25.200
JAL JAL | KMJHND [HNDKMQ| 25,000 65% | /:23,000, JKA:24,300. :25900, +:24,000, H:24,800
IMA=EE JAL JAL _|KMQHND| HNDKMI | 22,900 68% | :21,800, JK:22,100, A:22,200, %:22,300. +:22,700. H:23900
JAL JAL | KMIHND [HNDKMQ| 23300 68% | 9:22,200, JK:21,800, A:22,100, %:22,700. +:23,000, H:23,200
IMA=ERE JAL JAL _[KMQHND|[HNDKOJ| 17500 77% £+ H:19.700
JAL JAL | KOJHND [HNDKMQ| 18,500 75% |%+ H:20,500
IMA=EH JTA _|JTA/RAC|KMQOKA|OKAMMY| 28,100 61% | A% +:33400
FRH) [JTA/RAC] JTA |MMYOKA[OKAKMQ| 28,600 60% [ A H:28.900. £:33.900, £ +:34.200
INA=F1E FE) [ JAL JAL _|KMQHND| HNDISG | 31,900 68% |+ H:33,600
P#E (BT | JTA |[JTA/RAC|KMQOKA| OKAISG | 29,000 63% | A% +:34,300, H:29,100
EES JAL JAL | ISGHND [HNDKMQ| 31,500 69% |+ H:33,600
K JTA/RAC| JTA | ISGOKA |OKAKMQ| 29,000 63% | K% +:33.900
=28 E JTA [JTA/RAC| OKJOKA [OKAMMY[ 27,700 57% | 7K:33.700. £ +:34,100
3 JTA/RAC| JTA |MMYOKA| OKAOKJ| 27,700 57% |+:34,100, H:33,700
Bl =F1E [h#8(3#) | JTA [JTA/RAC| OKJOKA| OKAISG | 28300 60% | A:34,300, £ £:34,700
548 (BB¥H) [JTA/RAC| JTA | ISGOKA | OKAOKJ| 28,200 60% 34,600, H:34,200
EH== 5 & JAL JAL | KCZFUK | FUKKMI 22,700 58% |£:23,700. H:24,800
R E JAL JAL | KMIFUK | FUKKCZ | 22,700 58% |#£::23700, £:24400, H:23.100
SR GIRER) =F T P (I R JAL JAL | OKAHND | HNDAOJ| 31,300 64% | K:32,700, %:33,500, H:34,500
JAL JAL | OKAITM | ITMAOJ | 21,200 76% |£:23,000, H:22,400
HHRE JAL JAL | AOJHND [HNDOKA| 30900 65% | A:32,000, % +:33,300, H:29.000
JAL JAL | AOJITM | ITMOKA | 20,400 77% |7K7K:20,300, £:22,100, F:20800
HHB () R JAL JAL | OKAHND|[HNDMSJ| 28,100 68% |£:30,900. £:30,600, H:32,100
RE |® JAL JAL | MSJHND [HNDOKA| 25,200 71% | H:23.300. /K K:25,800, £:30.600, 1:29.300, H:23.500
SRR (RER) =RE | (RB) E|(RE JAL JAL | OKAHND | HNDAXT 29,000 64% |7KAK:29.400. £:30,600, +:25.400, H:31,300
JAL JAL | OKAITM | ITMAXT | 22,400 73% |£:24,400, H:25300
HER JAL JAL | AXTHND [HNDOKA| 32,000 60% | A:32,400, %:34,300. +:28,400. H:25800
JAL JAL | AXTITM | ITMOKA | 21,600 74%  [£:23600
EIEEIES JAL JAL | OKAITM | ITMHNA | 35,300 59% | AJK+:29,000. H:38,200
JTA JAL | OKAFUK | FUKHNA| 38,400 57%
&R JAL JAL | HNAITM | ITMOKA | 31,700 63% | A7kA+:26,200
JAL JTA | HNAFUK | FUKOKA| 38,400 57%
SRR (GIRER) = LIRS | hHE (FRER) 5 JAL JAL | OKAHND|HNDGAJ| 26,000 63% |£:26.300. H:27,500
JAL JAL | OKAITM | ITMGAJ | 25,700 69% |£1:30,500, H:32.200
IZ3 JAL JAL | GAJHND [HNDOKA| 26,400 63% | A:26.800, % +:28,200, H:25.600
JAL JAL | GAJITM | ITMOKA | 24,900 70% | A%:29700. £:30,500
SRAE(GIRER) =1lE | e () R JTA JAL | OKAFUK | FUKSDJ 33,100 62% |#£:38,900. £:33,200, H:33.700
JAL JAL | OKAITM | ITMSDJ | 22,100 72%  [£:23600
[TEE3 JAL JTA | SDJFUK | FUKOKA| 34,000 61% |£:39.700, £:34,100, H:34.500
JAL JAL | SDJITM | ITMOKA | 21,600 73% [£::24,000
AR GIRER) =/ [IhE (FRER) ¢ JAL JAL | OKAHND |HNDKMQ|  27.100 65% |:28,000, +:25,200, H:27.500
IMAFE JAL JAL _|KMQHND|HNDOKA| 26,400 66% |£::27.700, £:27,500, H:24.800
SRAE (GIRER) == 40 PR (GRER) 5 JTA JAL | OKAFUK | FUKKGZ 26.400 58%
ISk JAL JTA | KCZFUK | FUKOKA|  26.400 58%
AR GIRER) =#AL [Sh#E (FRER) S JTA JAL | OKAFUK | FUKMYJ 24,600 59%
HALLISE JAL JTA | MYJFUK | FUKOKA| 24,600 59%
RRCHE) =BXAS| R CHE) JAL JAL | HNDKOJ| KOJASJ | 27.800 64% [ H:26.700. 7k:27,000. K:29.600. £ 1:30,200, H:30,000
JAL JAL | HNDITM | ITMASJ | 30,800 57% |+:31,700, H:30900
BERER JAL JAL | ASJKOJ [KOJHND| 30,000 61% | H:27.800. 7K:29,000. A:28.400. 32,200, 1:30.400
JAL JAL | ASJITM [ ITMHND | 32,600 55% |+:31,800, H:31,900
RR(PB) =ERB|RR(HB) % JAL JAL | HNDKOJ | KOJKKX 29,200 63% | H:27.600, A% H:31,300, 1:32.400
JAL JAL | HNDASJ | ASUKKX | 26,500 61% | A% +:28900, H:29,000
ERER JAL JAL | KKXKOJ [KOJHND|  30.700 61% | F:28,800. 7K:29,700, A:28,000, % H:31,600, 1:29,600
RR(CPB) =#2B|F/R(HB) % JAL JAL | HNDKOJ | KOJTKN 31,400 61% | F:30,600. 7k:30,200, A:32,800, %+ H:33.400
JAL JAL | HNDASJ | ASJTKN| 29,000 60% | A% +:31,400. H:30,600
BeBE JAL JAL | TKNKOJ [KOJHND | 32,800 60% | /:31,000, 7K:31,800. AX:30,700, £ £ H:33,200
WA CFE) =k B[ HE CRE) % JAL JAL | HNDKOJ| KOJOKE| 32,000 62% | /:32,500, 7K:31,100. A% H:33,200, £:34,300
hok RARSE JAL JAL | OKEKOJ |KOJHND| 33700 60% | H:31.900. 7K:32,700, K:31.600, £:34,300, + H:34.100
FR(PE) =5 RKR(RE) % JAL JAL | HNDKOJ | KOJRNJ 31,600 63% | H:30,000. A€ H:33.700. £:34.800
5% JAL JAL__| RNJKOJ [KOJHND | 33,100 62% | F:29.200, JKA:30,800, #:35,300, +:32,400, H:34,400
KR () =BEAS| XIR (FFD % JAL JAL | ITMKOJ [ KOJASJ| 24,000 61% | H:23900, kA:23,600, % H:25.300, +:24,800
TEXER JAL JAL | ASJKOJ | KOJITM 25,900 58% | 7KA:25,500, %:29,200, H:25,800
KR (R =ERB| KR (FFH % JAL JAL | ITMKOJ | KOJKKX 27,000 57% | B7KAH:26.600, £:27.900, £:27.400
JAL JAL | ITMASJ | ASUKKX | 29,100 48% | H:30,000
ERER JAL JAL | KKXKOJ | KOJITM 26.800 57% [7KA:26.400, %:28,800, H:27.600
JAL JAL | KKXASJ | ASJITM | 29,100 48%
KR (R = B2 B KR (FFH) F JAL JAL | ITMKOJ | KOJTKN 28,000 58% | A7KA:27,600, %:28,900, 1:28,800
EmLER JAL JAL | TKNKOJ [ KOJITM 28.200 57% [7KA:27.800, %:30,200, H:29.000
JAL JAL | TKNASJ | ASJITM | 31,600 48% | +:32,000
KR (75 =k B E8 | KIR (R FD % JAL JAL | ITMKOJ | KOJOKE| 28,900 58% | AJK7K H:28,500, £:29,800, £:29,300
Sk RARSE JAL JAL | OKEKOJ | KOJITM 29,100 58% |7K:28,700, %:31,500, H:29,900
KB (FFH =5 |AR(EH R JAL JAL | ITMKOJ [ KOJRNJ| 29,400 59% | HKAH:29.000, £:30,300, 1:29.800
JAL JAL | ITMASJ [ ASURNJ | 35400 49%
JAL JAL | RNJKOJ | KOJITM 29,600 58% [7KA:20.200, %:32,500, H:30.400
BE=EXXE JAL JAL | FUKKOJ | KOJASJ 19.300 62% | 1:18,300, H:21,000
JAL JAL | ASJKOJ | KOJFUK| 21,500 58% | A:21,100., :22,000, £:23,300, £:20,500, H:20.100
JAL JAL | FUKASJ | ASUKKX | 22500 56%
JAL JAL | KKXASJ | ASJFUK | 22500 56%
JAL JAL | FUKKOJ | KOJTKN| 24,300 57% |1+:23,300, H:23,700
JAL JAL | FUKASJ [ ASJTKN| 25,000 55%
JAL JAL | TKNKOJ | KOJFUK | 24,300 57% |+ H:23.300
JAL JAL | TKNASJ | ASJFUK | 25,000 55%
RRCRE) =5BE|FR CHB) 948 B#;m) | JAL RAC _|HNDOKA|OKAOGN|  27.300 68%
AiE JAL RAC | HNDISG [ ISGOGN | 29,400 66% |+ H:31,700
S5MEH BRI | RAC JAL | OGNOKA|OKAHND|  27.200 68%
AiE RAC JAL | OGNISG | ISGHND | 29,400 66% |+ H:31,700
KR () = S 3E | ABR (FF) 5948 (B) | JAL RAC | ITMOKA |OKAOGN|  39.400 50% |£1:39.000
S5;MEH [H#EGRE) [ RAC JAL _|OGNOKA| OKAITM 39.400 50% |£1:39.000




AR (BF8) = 5 3RE | KRR (B 5| 948 (B) | JTA RAC | KIXOKA | OKAOGN|  39.400 50% |£1:39.000
AiE JTA RAC | KIXISG | ISGOGN |  39.400 46% | % +:39,000
S5MEH [H#EGRE) | RAC JTA | OGNOKA| OKAKIX 39.400 50% |4 9,000
AiE RAC JTA | OGNISG | ISGKIX 39,400 46% |2 £:39.000
LZHE(PE) =5E | 2HR (P E PGB | JTA RAC _|NGOOKA|OKAOGN|  40.400 52% |7K:40.300. &:40,200
AiE JTA RAC | NGOISG [ ISGOGN | 38,100 52% KA %:37.500
S5MEH BRI | RAC JTA | OGNOKA|OKANGO|  40.400 52% |7K:40.300, 7:40.200
AiE RAC JTA | OGNISG [ ISGNGO | 37.900 52% | A/KA%:37,500, + H:38,100
il =53E G OB | JTA RAC | OKJOKA|OKAOGN|  28.400 64% | 7K:32,300, £ +:32,800
#B(BE) | RAC JTA_|OGNOKA[ OKAOKJ| 28,300 64% | A:32,300, :32,.800. +:32,900. H:32,400
B =5RE B | JTA RAC | FUKOKA [ OKAOGN| 34,100 51% |+ H:34.200
#BGB#) | RAC JTA_|OGNOKA| OKAFUK| 34,100 51% |+ H:34.200
() =51 A8 |JTA/RAC| RAC | OKAISG | ISGOGN| 11,800 72%
Al RAC__|JTA/RAC| OGNISG | ISGOKA | 11,800 72%
FRCRE) =AKE|HR CHE) %[44 GBF) | JAL |ITA/RAC|HNDOKA | OKAUEO| 25800 59% | AK#£:25900. £:25,000
Pt 8 (FRFR) [avtarac]  JAL  [UEOOKA[ OKAHND| 25,800 59% A 4,200,
KR () = A K8 | KR FFH) %[ 948 GBER) | JAL |JTA/RAC| ITMOKA | OKAUEO| 24,900 55% | At 4,000, B
KB 8 (BRFR) [avarac]  JAL [ UEOOKA[ OKAITM | 24,900 55% | A:25000, £:24,000, +:23400. H:25400
KB (A7) = A KB | KBk (A7) % | h#8 (RF)| JTA [JTA/RAC| KIXOKA | OKAUEO 29,400 47% | K:29,500, £:28,600, +:30,200, H:28,900
AKE P48 (BER) [savurarac]  JTA | UEOOKA | OKAKIX 29,400 47% | A:29,500, % 1:28,600. H:28,900
ZEE(PEH) =AKB[2EE (P8 E[ @ FMH) | JTA |JTA/RAC/NGOOKA| OKAUEO| 31,200 49% _|/kA:31.,000, £ +:31,300, H:31.400
A 3 outarac]  JTA | UEOOKA[OKANGO| 31,200 49% | /kAK:31.000, £ £:31,300, H:31,400
BE=AXE I JTA [JTA/RAC| FUKOKA [ OKAUEO| 24,900 47% _|7K:25,000, A£:25,100, £:25.200. H:25,400
AXkER [ GRE [suvarsc] JTA [UEOOKA| OKAFUK| 24900 47% _|7K:25,000, A %:25,100, £:25200, H:25.400
FR (HE) =Rk | 3R CRE) (KR (FEF|  JAL JAL | HNDITM | ITMOKI 20,800 62% | A:21,400, %:21,200, B:19,700
" JAL JAL | HNDIZO | 1IZOOKI 20,800 59% |7k7K:20,300, £:21,300, £:22,100
IRk [ RBRUE[ JAL JAL | OKITM [ ITMHND 20,600 63% |£:20,400, £:19,600, H:20.000
HE JAL JAL | OKIZO [ 1ZOHND | 21,000 59% |£ H:21,500, £:21,900
B (RE) = #GBER) F| AR (RFH | JAL JAL | OKAITM | ITMKIJ 21,300 73% :21,900., 7k A:19,700, £:22,000, H:22.800
3 JAL JAL | KIJITM | ITMOKA 19,500 75% | 7KK:19,000, %:20,500, H:20,100
1BRE =4LIR T F %) |__tBR % B JAL JAL | FUKHND [ HNDSPK| 33800 61% | F:32,100, :34,500, £:36,600, 1:36.700, H:30,900
AR FTR R R JAL JAL | SPKHND | HNDFUK| 31,700 63% | FJK:31,500, A:31,800, 36,300, £:34,700, H:38,100
EHR=%mAl EHRE L JAL JAL | AOJSPK[SPKMMB|  20.300 61% |7K:19,400, 7:19,900, £:21,400
ZimBI% |4 JAL JAL _|MMBSPK| SPKAOJ 21.200 59% |7K:20.800. £:23,000
ME=%iH5 PGS L JAL JAL | AXTSPK |SPKMMB| 21,700 61% |£:23.000
2 i Bl ¢ JAL JAL _|MMBSPK| SPKAXT 21,700 61% |7:21,200, %:23,000, H:22,100
ZEE(PE) =F/5 [ BE 2 (RE) % JAL JAL _[NGOHND[HNDOBO| _ 21.900 69% | H:21,700, kA% +:23,800, B:23,400
ELE —1' JAL JAL _|OBOHND|HNDNGO| 21,800 69% | & H:23,800
25 (&) =) || & EHE (h i) 5| R JAL JAL _[NGOHND| HNDAKJ 23,000 68% | A . £:25.200, B:23.400
BJIFE JAL JAL | AKJHND [HNDNGO| 19,300 73% |4 B
S]] A% JAL JAL | TAKHND [HNDMMB| 28,100 68% |4
2 i Bl 3¢ JAL JAL _|MMBHND| HNDTAK| 29,000 67% |2
EE=%mAl e JAL JAL | TKSHND [HNDMMB| _ 26.300 70% |4
i Bl ¢ JAL JAL _|MMBHND| HNDTKS| 27200 69% |4
Ry =%im5| ARH JAL JAL | OITHND |[HNDMMB|  23.400 75% |4
i Bl 3¢ JAL JAL _|MMBHND| HNDOIT 23.400 75% |4
R =%m5] RIG% JAL JAL [ NGSHND [HNDMMB| 23,900 76% |4
i B 3¢ JAL JAL _|MMBHND|HNDNGS| 23,900 76% |
REA=%imA REAR JAL JAL | KMJHND [HNDMMB| 23,900 75% |4
i Bl 3¢ JAL JAL _|MMBHND| HNDKMJ| 23,900 75% |4
B =% w5 e JAL JAL | KMIHND [HNDMMB| 23,900 75% |4
2 i B & JAL JAL _|MMBHND| HNDKMI 23900 75% |3
ERE=%i%5 ERER JAL JAL | KOJHND [HNDMMB| 23,900 76% |4
ZHAIF JAL JAL__|MMBHND| HNDKOJ| 23,900 76% |4 :25,000
ARFFR) =BERB[ LR FTR) R[50 JAL JAL | SPKHND [ HNDASJ| 35,800 64% | A:38.200, % +:38,400, H:36.800
BEXER JAL JAL | ASJHND [ HNDSPK| 37,000 62% | H:36.600. 7K:35,000, A:35800, £:37,800, +:33,800, H:37.900
ER=EXKE TR JAL JAL | AOJHND [ HNDASJ| 34,100 64% | A#£:37,000, +:37,300, B:35,700
BEXER JAL JAL | ASJHND [HNDAOJ| 36900 61% | H:36.500. 7k A& 1:34,900, £:35.800, H:37.400
HME=EXXE MEE JAL JAL | AXTHND [ HNDASJ| 35200 60% | A:37.600, £:38,100, £:32,200, H:31,400
EEPNCED JAL JAL | ASJHND [ HNDAXT| 34,600 60% | A H:34.200. 7k A:33,000, £:33,900, +:29.000
IMA=EEXE INEASE JAL JAL _|KMQHND| HNDASJ| 28,600 66% | A%:31,000, +:31,200, H:30.400
EEPNCE JAL JAL | ASJHND [HNDKMQ| 30,600 64% | H:30.200. 7k A %:28,600, +:28.800. H:30.400
B =EIE EHSE JAL JAL | TAKHND [ HNDKUH| 25700 70% | A:26.400, £:27,200, +:28,800, H:28,700
BIERSE JAL JAL | KUHHND [ HNDTAK| 27,400 68% | H:28,200, £:26,700
EE=2I% EmERE JAL JAL | TKSHND [HNDKUH| 23,900 72% | A:24,600., £:24,800, £:25,000. H:26,200
BIERSE JAL JAL | KUHHND [ HNDTKS| 25,600 70% |%:26,700, £:25 100, H:23.800
R =HIEk A% JAL JAL | OITHND [HNDKUH|  22.400 76% |3 :23.400
HIERSE JAL JAL | KUHHND | HNDOIT | 22,400 76% |4 3,400
RiE=4I% RIS JAL JAL [ NGSHND[HNDKUH| 22,900 76% |3 3,900
BIERSE JAL JAL | KUHHND [HNDNGS| 22,900 76% |4 3,900
REA=HI REASE JAL JAL | KMJHND [HNDKUH| 22,900 75% |4 23,900
BIERSE JAL JAL | KUHHND [ HNDKMJ| 22,900 75% |4 3,900
B =4I =I5 5 JAL JAL | KMIHND [HNDKUH| 22,900 75% |4 3,900
FlEES JAL JAL | KUHHND | HNDKMI | 22,900 75% |4 3,900
ERE=8I%K ERER JAL JAL | KOJHND [HNDKUH| 22,900 76% | 3,900
BIERSE JAL JAL | KUHHND [ HNDKOJ| 22,900 76% |4 3,900
LRB=%Ik NG JAL JAL | HIJHND [HNDOBO|  27.100 68% :26. A& £:29,000, £:27,900, H:28,800
=% JAL JAL _|OBOHND| HNDHIJ | 27,000 68% |£::28,200, £:27,100, H:27.300
BR=%k H JAL JAL | TAKHND [HNDOBO| _ 27.300 67% |8:27. 7K:29.200, £ +:29,800, H:30,400
% JAL JAL _|OBOHND|HNDTAK| 27,800 67% |£:29,000, £:27,300, H:30.200
BE=FK mER JAL JAL | TKSHND [HNDOBO| 25,500 70% : K %:27.400. £:26.000, H:27.900
HLE JAL JAL _|OBOHND|HNDTKS| 26,000 69% |4 +:25,500, H:25.800
=%k A% JAL JAL | OITHND [HNDOBO| 22,000 76% |3 :23.000
% JAL JAL _|OBOHND| HNDOIT | 22,000 76% |4 3,000
RIBE=%FK U5 3¢ JAL JAL [ NGSHND [HNDOBO| 22,500 76% |4 3.500
% JAL JAL _|OBOHND|HNDNGS| 225500 76% |4 23,500
BA=FK REASE JAL JAL | KMJHND [HNDOBO| 22,500 76% |4 3,500
RS JAL JAL _|OBOHND|HNDKMJ| 22500 76% |4 3,500
BB=FK =I5 JAL JAL | KMIHND [HNDOBO| 22,500 76% | 3,500
HIRSE JAL JAL _|OBOHND| HNDKMI | 22,500 76% |4 23,500
ERBE=W%Lk ERER JAL JAL | KOJHND [HNDOBO| 22,500 76% |4 3,500
HIRSE JAL JAL _|OBOHND|HNDKOJ| 225500 76% |4 3,500




TeI=&H JAL JAL | AKUHND | HNDTAK| 26,400 69% [#::28.800, £:25000, H:29.900
JAL JAL | TAKHND [ HNDAKJ | 27,600 68% |A:28,100, £:29,900, £
LT JAL JAL _|HKDHND [ HNDTAK| 28,600 62% |%:28.900, 1:25.800
JAL JAL | TAKHND [ HNDHKD | 26,400 65% |£:27,900, £:26,100,
HE=FE JAL JAL _|HKDHND [ HNDTKS|  26.800 64% |%£:27.400, 1:24,200, H
JAL JAL | TKSHND [ HNDHKD | 25,100 67% |2 H:25.900. £:24,600
FR(PE)=RR [RFCHAE) % JAL JAL | HNDHKD | HKDOIR 21,800 61% |A:22,100, %:23,000, £:25,100, H:22,500
RAR3E JAL JAL | OIRHKD [HKDHND| 22,100 61%
KB (F51) HRE JAL JAL | OIRHKD | HKDITM 22,100 66%
SRR (GIRER) =1EE [hHE(RER) 5 JTA JAL | OKAFUK | FUKTKS 28,700 55%
BEZE JAL JTA | TKSFUK | FUKOKA| 28700 55% |+ H:28,800
BI=%5 JEIE JAL JAL | AKJHND [ HNDTKS|  23.800 72%
BEZE JAL JAL | TKSHND | HNDAKJ| 26,600 69%
BIN=X5 JEVIE I E JAL JAL | AKJHND | HNDOIT 21,400 77%
A% |RRCHAE)| JAL JAL | OITHND | HNDAKJ 21,400 7%
HR(EH) =B8R [4LIR(EH) % E JAL JAL | OKDHKD | HKDOIR 17.600 53%
BR% | = JAL JAL | OIRHKD |HKDOKD|  17.600 53%
ElEEE Sz [ALR(EH)| JAL JAL | KUHOKD [ OKDHKD|  20.200 54%
g LIE (B | JAL JAL | HKDOKD | OKDKUH| 20,200 54%
BIEE==R JAL JAL | KUHOKD [ OKDMSJ| 24,200 52% | /:19,700, H:21,900
JAL JAL | MSJOKD [ OKDKUH| 22,800 55% |2 H:24,200, £:22,100
F R =BafE JAL JAL | RISOKD |OKDHKD| 22,900 51%
FR =8I JAL JAL | RISOKD | OKDKUH| 23700 53% |+ H:21.600
ERE=1JI JAL JAL | KOJHND [ HNDAKJ| 21,900 7% |4 2,900
JAL JAL | AKJHND [ HNDKOJ| 21,900 7% |4 2,900
EE=78JIl JAL JAL | NGSHND [ HNDAKJ| 21,900 7% |4 22,900
JAL JAL | AKJHND [HNDNGS| 21,900 7% |3 2,900
REA=1BJI JAL JAL | KMJHND [ HNDAKJ | 21,900 7% |3 2,900
JAL JAL | AKJHND [ HNDKMJ| 21,900 7% |3 22,900
EEEE JAL JAL | KMIHND [ HNDAKJ| 21,900 7% |3 2,900
JAL JAL | AKJHND | HNDKMI | 21,900 7% 2,900
R (PAE)=KE JAL JAL | HNDKMJ | KMJAXJ 20,000 64% :19,000. 7k:19,800, A+ H:20,500, %:19.800
JAL JAL | AXJKMJ [KMJHND | 21,000 62% | A+ H:19.000, 7K:20.200, A%:19.400
JAL JAL | HNDFUK | FUKAXJ | 25,100 60% | A JK7:24,200, £:26,400, £:25,300, H:25600
JAL JAL | AXJFUK | FUKHND | 27,600 56% | FJKA:27,300, £:29,300, £:26,000, H:28,600
KB (FFH =RE JAL JAL | ITMKMJ | KMJAXJ 17.700 55% | H /KA H:16.300, £:19.400
JAL JAL | AXJKMJ | KMJITM | 16,300 59% [£:19,700, £:17,700
JAL JAL | ITMFUK | FUKAXJ | 18,900 57% | AIKAH:17.800. £:20,200
JAL JAL | AXJFUK | FUKITM 19,700 55% | A 7KA:17.800, £:21,100, B:20,500
IR FFR) =KE JAL JAL | SPKFUK | FUKAXJ 30,900 61% | H:32.100
JAL JAL | AXJFUK | FUKSPK 22,400 72% | A7kA£ H0:30.900. £:31,600
BERE=TKRER JAL JAL | ASJTKN | TKNOKE 11.900 60%
JAL JAL | OKETKN | TKNASJ| 11,900 60%
B B=" G JAL JAL | TKNOKE | OKEOKA| 15,600 58%
3 JAL JAL | OKAOKE | OKETKN| 15,600 58%
RR(CPB) =88 JAL JAL | HNDKOJ | KOJTNE 30.100 53% | A+ H:29.200, :28,100, £:28,900
JAL JAL | TNEKOJ [KOJHND | 29,000 54% | A% H:31,600, £:30,500
RR(PB) =BAB|H=x(HA JAL JAL | HNDKOJ[KOJKUM| 29700 54% | A:27.700, %:28.900
| | EAB% | BR JAL JAL | KUMKOJ[KOJHND| 28,900 56% | A% H:31.400, 1:29.800
AR (R =BAB|XR(FEH) E| ER JAL JAL | ITMKOJ |KOJKUM| 24300 52% | B7KAH:23.900, £ +:25,200
| EABS | BER JAL JAL | KUMKOJ| KOJITM 26.200 48% | A% H:28,500, £:26,600
# JAL JAL | OKAASJ| ASJKOJ| 28,100 51% [£::29.400, H:27,200
JAL JAL | FUKKOJ [KOJKUM| 18,700 53%
JAL JAL | KUMKOJ| KOJFUK | 22,700 43%
BE=ETE JAL JAL | FUKKOJ | KOJTNE| 20,100 48% | A+ H:19.700
JAL JAL | TNEKOJ | KOJFUK | 22,700 41%
RE=RI JAL JAL | HIJHND | HNDAKJ 28,200 67% | H:28,100, :28,700, £:29.400, 1:29,300, H:27,500
JAL JAL | AKJHND | HNDHIJ | 25,600 70% |#:27.500, £:24,200, H:27.000
BIL=25 JAL JAL | MYJFUK | FUKKMI 19.200 62% | 1:20.500. H:19,500
JAL JAL | KMIFUK | FUKMYJ| 18,200 64% [7kK:17.700. £:19.200, £ H:19.500
| 5 JAL__|JAL/RAC| ASJRNJ | RNJOKA| 16,000 62%
[ALIE (3| JAL JAL | OIROKD [OKDHKD| 18,000 58% |+ H:15,000
[ALIE (K3 | JAL JAL _|HKDOKD | OKDOIR | 18,000 58% |+ H:15,000
[h#8 () [JAL/RAC] JAL | RNJOKA| OKAASJ| 22400 52%
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